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B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER 2023. 

First Semester 

Commerce with Computer Application 

ADVANCED ACCOUNTANCY — I 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you meant by going concern assumption? 

 {ÖÁÚ öuõhºa] P¸zx GßÖ GøuU SÔ¨¤kQÕºPÒ. 

2. Describe double entry system. 

 Cμmøh¨£vÄ •øÓø¯ ÂÁ›UPÄ®. 

3. Explain the term error of commission. 

 ö\´¤øÇPøÍ ÂÍUS[PÒ. 

4. What do you meant by compensating errors? 

 Dk ö\´¤øÇPøÍ GßÖ GøuU SÔ¨¤kQÕºPÒ? 

5. Describe the term book value. 

 Gmk ©v¨ø£ ÂÁ›UPÄ®. 

6. Write a note on unit of production method of depreciation. 

 ÷u´©õÚzvß EØ£zv •øÓ°ß A»S £ØÔ¯ SÔ¨ø£ 
GÊuÄ®. 
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7. What do you meant by dishonour of bill? 

 ©õØÖa^mk ©ÖUP¨£kzuÀ GßÖ GøuU SÔ¨¤kQÕºPÒ? 

8. Write a note on profit and loss account. 

 C»õ£ |mhU PnUS SÔzx J¸ SÔ¨ø£ GÊuÄ®. 

9. Why fire insurance is called the contract of indemnity? 

 w Põ¨¥mk Hß CÇ¨¥mk J¨£¢u® GßÖ 
AøÇUP¨£kQÓx? 

10. What is valued policy? 

 ©v¨¦ÒÍ öPõÒøP GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What do you meant by accounting principles? 
Describe various accounting principles. 

  PnUQ¯À ÷Põm£õkPÒ GßÖ GøuU 
SÔ¨¤kQÕºPÒ? £À÷ÁÖ PnUQ¯À ÷Põm£õkPÒ 
ÂÁ›UPÄ®. 

Or 

 (b) From the following information’s prepare trial 
balances as on 31st March 2021 

 Rs. 

Cost of goods sold 5,20,000 

Opening stock 50,000 

Closing stock 50,000 

Salary and wages 50,000 

Sales 8,00,000 

Printing 2,00,000 



F–0190 

  

  3

 Rs. 

Drawings 50,000 

Investment 4,30,000 

Creditors 1,00,000 

Capital 4,00,000 

  ¤ßÁ¸® uPÁÀPÎ¼¸¢x 31 ©õºa 2021 CÀ EÒÍ 
C¸¨£õ´Ä u¯õ›UPÄ® 

 ¹. 

ÂØP¨£mh ö£õ¸mPÎß Âø» 5,20,000 

öuõhUPa \μUQ¸¨¦ 50,000 

CÖv \μUQ¸¨¦ 50,000 

\®£Í® ©ØÖ® T¼ 50,000 

ÂØ£øÚ 8,00,000 

Aa]kuÀ 2,00,000 

Gk¨¦PÒ 50,000 

•u½kPÒ 4,30,000 

PhÜ¢÷uõº 1,00,000 

•uÀ 4,00,000 

12. (a) There was an error in the Trial Balance of Mr. Steel 
on 31st March, 2015, and the difference in Books 
was carried to a Suspense Account. On-going 
through the Books you find that : 

  (i) 5,400 received from Mr. A was posted to the 
debit of his account. 

  (ii) 1,000 being purchases return were posted to 
the debit of Purchases Account. 
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  (iii) Discount received 2,000 was posted to the 
debit of Discount Account. 

  (iv) 2,740 paid for Repairs to Motor Car was 
debited to Motor Car Account as 1,740. 

  (v) 4,000 paid to B was debited to A’s Account. 

   Give Journal Entries to rectify the above 
errors and ascertain the amount transferred to 
Suspense. Account on 31st March, 2015 by 
showing the Suspense Account, assuming that 
the Suspense Account is balanced after the 
above corrections. 

  ©õºa 31, 2015 AßÖ ªìhº ìj¼ß C¸¨£õ´ÂÀ 
¤øÇ HØ£mhx, ÷©¾® ¦zuP[PÎÀ EÒÍ 
Âzv¯õ\® AÚõ©zx PnUQØS ©õØÓ¨£mhx. 
¦zuP[PøÍ¨ £iUS®÷£õx, }[PÒ AøuU 
Põn»õ®: 

  (i) v¸. H Gß£Á›hª¸¢x ö£Ó¨£mh 5,400 
AÁμx PnUQß £ØÖUS AÝ¨£mhx 

  (ii) öPõÒ•uÀ PnUS £ØÖ 1,000 öPõÒ•uÀ 
v¸¨£® CkøP°h¨£mhx 

  (iii) ö£Ó¨£mh uÒÐ£i 2,000 uÒÐ£i PnUQß 
£ØÖ öÁÎ°h¨£mhx 

  (iv) ÷©õmhõº Põøμ £Êx£õº¨£uØPõP 
ö\¾zu¨£mh 2,740, ÷©õmhõº Põº PnUQÀ 
1,740 BP¨ £ØÖ øÁUP¨£mhx. 

  (v) B&US ö\¾zu¨£mh 4,000 A Cß PnUQÀ 
£ØÖ ö\´¯¨£mhx. 

   ÷©ØTÔ¯ ¤øÇPøÍa \›ö\´x, \ìö£ßì 
PnUøPU Põmi, 31 ©õºa, 2015 AßÖ 
AÚõ©zx PnUQØS ©õØÓ¨£mh öuõøPø¯ 
EÖvö\´¯ SÔ¨÷£k £vÄPøÍ ÁÇ[PÄ®.  

Or 
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 (b) Write a note on uses and benefits of suspense 
account. 

  AÚõ©zx PnUQß £¯ßPÒ ©ØÖ® |ßø©PÒ 
£ØÔ¯ SÔ¨ø£ GÊuÄ®. 

13. (a) Describe advantages of straight-line method of 
depreciation. 

  ÷u´©õÚzvß ÷|º÷Põmk •øÓ°ß |ßø©PøÍ 
Â›UPÄ®. 

Or 

 (b) Hafiz Ullah & Company purchased a factory 
machine of Rs.1,80,000 on January 1, 2012. The 
machine is expected to have a salvage value of  
Rs.20,000 at the end of its 4 year useful life. During 
the useful life, the machine is expected to be used 
for 1,60,000 hours. The machine was used as under : 

Years Hours used 
2012 40000 
2013 60000 
2014 35000 
2015 25000 

  Calculate depreciation under straight-line method 

  Hafiz Ullah & {ÖÁÚ® J¸ öuõÈØ\õø» 
C¯¢vμzøu ¹.1,80,000 öμõUPzxUS áÚÁ› 1, 
2012 AßÖ Áõ[P¨£mhx. C¢u C¯¢vμzvß Põ¨¦ 
©v¨¦ ¹.20,000 Auß 4 Á¸h £¯ÝÒÍ 
ÁõÌUøP°ß •iÂÀ. £¯ÝÒÍ ÁõÌUøP°À, 
C¯¢vμ® 1,60,000 ©o÷|μ® £¯ß£kzu¨£k® 
GßÖ Gvº£õºUP¨£kQÓx. C¯¢vμ® ¤ßÁ¸©õÖ 
£¯ß£kzu¨£mhx 
BskPÒ ©o÷|μ® £¯ß£kzu¨£mhx

2012 40000 
2013 60000 
2014 35000 
2015 25000 

  ÷|º÷Põmk •øÓ°ß RÌ ÷u´©õÚzøuU 
PnUQk[PÒ. 



F–0190 

  

  6

14. (a) From the following balances, prepare the final 
accounts of M/s Mangal & Sons for the year ended 
31st March 2018 

 Rs. 

Opening stock 12,500 

Bills receivables 2,000 

Sales 70,000 

Purchase 37,500 

Creditors 20,000 

Salaries 3,850 

Insurance 200 

Debtors 32,500 

Carriage 1,450 

Commission 750 

Interest 900 

Printing 250 

Bills payable 3,150 

Returns inward 1,300 

Returns outward 500 

Bank 5,250 

Rent and tax 1,300 

Furniture 1,000 

Capital 7,100 

Closing stock on 31.3.2018 15,000 
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  ¤ßÁ¸® {¾øÁPÎÀ C¸¢x, ©õºa 31, 2018 CÀ 
•iÁøh¢u BsiØPõÚ M/s ©[PÒ & \ßìêß 
CÖvU PnUSPøÍz u¯õ›UPÄ®. 

 ¹. 

öuõhUPa \μUQ¸¨¦ 12,500 

ö£ÖuØS›¯ ©õØÖa^mk 2,000 

ÂØ£øÚ 70,000 

öPõÒ•uÀ 37,500 

PhÜ¢÷uõº 20,000 

\®£Í® 3,850 

Põ¨¥k 200 

PhÚõÎPÒ 32,500 

T¼ 1,450 

PÈÄ 750 

Ámi 900 

Aa]kuÀ 250 

ö\¾zuØS›¯ ©õØÖa^mk 3,150 

EÒ÷|õUQ v¸®¦QÓx 1,300 

öÁÎ¨¦Ó©õPU v¸®¦QÓx 500 

Á[Q 5,250 

ÁõhøP ©ØÖ® Á› 1,300 

AøÓP»ß 1,000 

‰»uÚ® 7,100 

CÖv \μUQ¸¨¦ 31.3.2018 15,000 

Or 
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 (b) From the following particulars prepare balance 
sheet of Mr. Mohan as on 31st March 2021. 

 Rs. 
Capital 50,000 
Drawings 4,400 
Debtors 16,400 
Creditors 4,200 
Cash in hand 360 
Cash at bank 7,200 
Furniture 13,700 
Plant 10,000 
Net profit 11,660 
General reserve 11,000 
Closing stock 24,800 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 31 ©õºa 2021 CÀ v¸. 
÷©õPÛß C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ® 

 ¹. 

•uÀ 50,000 

Gk¨¦PÒ 4,400 

PhÚõÎPÒ 16,400 

PhÜ¢÷uõº 4,200 

øP öμõUP® 360 

Á[Q öμõUP® 7,200 

AøÓP»ß 13,700 

u»Áõh[PÒ 10,000 

{Pμ »õ£® 11,660 

ö£õx C¸¨¦ 11,000 

CÖv \μUQ¸¨¦ 24,800 
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15. (a) From the following information, ascertain the value 
of stock as on 31st March, 2021 : 

 Rs. 

Stock as on 01.04.2021 28,500 

Purchases 1,52,500 

Manufacturing expenses 30,000 

Selling expenses 12,100 

Administration expenses 6,000 

Financial expenses 4,300 

Sales 2,49,000 

  At the time of valuing stock as on 31st March 2021, 
a sum of 3500 was written off on a particular item, 
which was originally purchased for 10000 and was 
sold during the year for 9000. 

  On 15th December, 2021, a fire occurred in the 
premises of M/s. OM Exports. Most of the stocks 
were destroyed. Cost of stock salvaged being 
1,40,000. 

  ¤ßÁ¸® E¸ÁõUPzvÀ C¸¢x, 2021 B® Bsk 
©õºa 31 B® ÷uv°¾ÒÍ \μUQ¸¨¦ ©v¨ø£U 
PshÔ¯Ä® 

 ¹. 

\μUQ¸¨¦ 01.04.2021 28,500 

öPõÒ•uÀ 1,52,500 

EØ£zv ö\»ÄPÒ 30,000 

ÂØ£øÚ ö\»ÄPÒ 12,100 

{ºÁõPa ö\»ÄPÒ 6,000 

{va ö\»ÄPÒ 4,300 

ÂØ£øÚ 2,49,000 



F–0190 

  

  10

  31 ©õºa 2021 {»Áμ¨£i \μUQ¸¨¦ ©v¨¤k® 
÷|μzvÀ, J¸ SÔ¨¤mh ö£õ¸Îß «x 3500 öuõøP 
GÊu¨£mhx, Cx •u¼À 10000 US Áõ[P¨£mhx 
©ØÖ® BsiÀ 9000 US ÂØP¨£mhx. 

  i\®£º 15, 2021 AßÖ, M/s. OM HØÖ©v 
ÁÍõPzvÀ w Â£z HØ£mhx. ö£¸®£õ»õÚ £[SPÒ 
AÈUP¨£mhÚ. øP°¸¨¤ß Âø» 1,40,000 BS®. 

Or 

 (b) From the books of account, the following particulars 
were available : 

  Stock at the close of account on 31st March, 2021 
was valued at 9,40,000. 

  Purchases from 01-04-2021 to 15-12-2021 amounted 
to 13,20,000 and the sales during that period 
amounted to 20, 25,000. 

  On the basis of his accounts for the past three years, 
it appears that average gross profit ratio is 20% on 
sales. 

  Compute the amount of the claim, if the stock were 
insured for 4,00,000. 

  PnUS¨ ¦zuP[PÎ¼¸¢x, ¤ßÁ¸® ÂÁμ[PÒ 
QøhzuÚ: 

  ©õºa 31, 2021 AßÖ PnUS •iÁøh²® ÷£õx 
\μUQ¸¨¦ ©v¨¦ 9,40,000 BP C¸¢ux. 

  01.04.2021 •uÀ 15.21.2021 Áøμ°»õÚ 
öPõÒ•uÀPÒ ¹.13,20,000 BPÄ®, A¢uU 
Põ»PmhzvÀ ÂØ£øÚ 20,25,000 BPÄ® C¸¢ux. 

  Ph¢u ‰ßÖ Á¸h[PÍõP AÁμx PnUSPÎß 
Ai¨£øh°À, \μõ\› ö©õzu öuõøP GßÖ 
÷uõßÖQÓx »õ£ ÂQu® ÂØ£øÚ°À 20% BS®. 

  \μUQ¸¨¦ ¹.4,00,000 US Põ¨¥k 
ö\´¯¨£mi¸¢uõÀ, E›ø©÷Põμ¼ß AÍøÁU 
PnUQk[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Following information is given to you : 

 (a) A cheque for Rs.4,300 received from debtor was not 
recorded in the books and was misappropriated  
by C. 

 (b) Investments costing Rs.5,400 were sold by C at 
Rs.7,900 and the funds transferred to his personal 
account. This sale was omitted from the firm’s 
books. 

 (c) A creditor agreed to take over investments of the 
book value of Rs.5,400 at Rs.8,400. The rest of the 
creditors were paid off at a discount of 2%. 

 (d) The other assets realised as follows: 

  Building  105% of book value 

  Stock  Rs.78,000 

  Investments The rest of investments were 
sold at a profit of Rs.4,800 

  Debtors  The rest of the debtors were 
realised at a discount of 12%. 

 (e) The bills payable were settled at a discount of 
Rs.400. 

 (f) The expenses of dissolution amounted to Rs.4,900. 

 (g) It was found out that realisation from C’s private 
assets would only be Rs.4,000. 

  Prepare the necessary Ledger Accounts. 
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 ¤ßÁ¸® uPÁÀPÒ E[PÐUS ÁÇ[P¨£kQßÓÚ: 

 (A) PhÚõÎ°h® C¸¢x ö£Ó¨£mh ¹.4,300 UPõÚ 
Põ÷\õø» ¦zuP[PÎÀ £vÄ ö\´¯¨£hÂÀø» 
©ØÖ® C ¯õÀ uÁÓõP¨ £¯ß£kzu¨£mhx 

 (B) ¹.5,400 ©v¨¦ÒÍ •u½kPÒ C ¹.7,900 US 
ÂØP¨£mk, A¢u {v AÁμx uÛ¨£mh PnUQØS 
©õØÓ¨£mhx. {ÖÁÚzvß ¦zuP[PÎÀ C¸¢x C¢u 
ÂØ£øÚ uÂºUP¨£mhx 

 (C) ¹.5,400 ¦zuP ©v¨¦ÒÍ •u½kPøÍ ¹.8,400 US 
Áõ[P Phß ÁÇ[S£Áº J¨¦UöPõshõº. «u•ÒÍ 
PhÜ¢÷uõº 2% uÒÐ£i°À ö\¾zu¨£mhx. 

 (D) ¤Ó ö\õzxUPÒ ¤ßÁ¸©õÖ Enμ¨£mhÚ: 

  Pmhh®  ¦zuP ©v¨¤À 105% 

  \μUQ¸¨¦  ¹.78,000 

  •u½kPÒ  «u•ÒÍ •u½kPÒ ¹.4,800 
»õ£zvÀ ÂØP¨£mhÚ 

  PhÚõÎPÒ  «u•ÒÍ PhÚõÎPÒ 12% 
uÒÐ£i°À Enμ¨£mhÚº.  

 (E) ö\¾zu ÷Ási¯ ¤ÀPÒ ¹.400 uÒÐ£i°À 
ö\miÀ ö\´¯¨£mhÚ 

 (F) Pø»¨¦UPõÚ ö\»ÄPÒ ¹.4,900 

 (G) C Cß uÛ¨£mh ö\õzxPÎ¼¸¢x ö£ÖuÀ ¹.4,000 
©mk÷© GßÖ PshÔ¯¨£mhx. 

  ÷uøÁ¯õÚ ÷£÷μk PnUSPøÍ u¯õº ö\´¯Ä®. 

17. Pass journal entries to rectify the following errors 
detected during preparation of Trial Balance : 

 (a) Purchases book is undercast by 1,000. 

 (b) Wages paid for construction of office debited to 
wages account 20,000. 

 (c) A credit sale of goods 1,200 to Ramesh has been 
wrongly passed through the purchase book. 

 (d) Goods purchased for 5,000 were posted as 500 to the 
purchases account. 
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 (e) An amount of 2,000 due from Mahesh Chand, which 
had been written off as a bad debt in a previous 
year was unexpectedly recovered and has been 
posted to the personal account of Mahesh Chand. 

 (f) A credit purchase of 1,040 from Ramesh was passed 
in the books as 1,400. 

 (g) Goods (Cost 5,000; Sales Price 6,000) distributed as 
free samples among prospective customers was not 
recorded anywhere. 

 (h) Goods worth 1,500 returned by Green and Co. have 
not been recorded anywhere. 

 C¸¨£õ´Ä u¯õ›¨¤ß ÷£õx PshÔ¯¨£mh ¤ßÁ¸® 
¤øÇPøÍ \› ö\´¯ SÔ¨÷£k EÒÏkPøÍ AÝ¨£Ä® : 

 (A) öPõÒ•uÀ ¦zuP® 1,000 SøÓÁõP EÒÍx 

 (B) A¾Á»PU Pmk©õÚzvØPõP ÁÇ[P¨£k® Fv¯® 
20,000 Fv¯U PnUQÀ ö\¾zu¨£mhx 

 (C) μ÷©åûUS 1,200 ÁμÄ ÂØ£øÚ¯õÚx öPõÒ•uÀ 
¦zuPzvß ‰»® uÁÓõP AÝ¨£¨£mkÒÍx. 

 (D) 5,000 US Áõ[P¨£mh ö£õ¸mPÒ öPõÒ•uÀ 
PnUQÀ 500 GÚ CkøP°h¨£mhx 

 (E) ©÷Pè \¢vh® C¸¢x Áμ÷Ási¯ 2,000 
öuõøP¯õÚx, •¢øu¯ BsiÀ ÁõμõU PhÚõPU 
uÒÐ£i ö\´¯¨£mhx, Gvº£õμõuÂu©õP 
«mP¨£mk, ©÷Pè \¢vß uÛ¨£mh PnUQÀ 
÷£õh¨£mhx. 

 (F) μ÷©æhª¸¢x 1,040 Phß Áõ[Q¯x 1,400 BP 
¦zuP[PÎÀ AÝ¨£¨£mhx. 

 (G) Á¸[Põ» ÁõiUøP¯õÍºPÐUS C»Á\ ©õv›PÍõP 
Â{÷¯õQUP¨£k® ö£õ¸mPÒ (Âø» 5,000; 
ÂØ£øÚ Âø» 6,000) G[S® £vÄ 
ö\´¯¨£hÂÀø». 

 (H) QŸß Asm ÷Põ ‰»® v¸¨¤ AÝ¨£¨£mh 1,500 
©v¨¦ÒÍ ö£õ¸mPÒ G[S® £vÄ 
ö\´¯¨£hÂÀø». 
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18. On 1st April, 2015, a limited company purchased a 
Machine for 1,90,000 and spent 10,000 on its installation. 
At the date of purchase, it was estimated that the scrap 
value of the machine would be 50,000 at the end of sixth 
year. 

 Give Machine Account and Depreciation A/c in the books 
of the Company for 4 years after providing depreciation 
by Fixed Instalment Method. The books are closed on  
31st March every year. 

 H¨μÀ 1, 2015 AßÖ, J¸ Áøμ¯ÖUP¨£mh {ÖÁÚ® J¸ 
C¯¢vμzøu 1,90,000 US Áõ[Q¯x ©ØÖ® Auß 
{ÖÁ¾US 10,000 ö\»Âmhx. Áõ[Q¯ ÷uv°À, BÓõ® 
Bsiß CÖv°À C¯¢vμzvß CÖv ©v¨¦ 50,000 BP 
C¸US® GßÖ ©v¨¤h¨£mhx. 

 {ø»¯õÚ uÁøn •øÓ ‰»® ÷u´©õÚzøu ÁÇ[Q¯ 
¤ÓS 4 BskPÐUS {ÖÁÚzvß ¦zuP[PÎÀ C¯¢vμ 
PnUS ©ØÖ® ÷u´©õÚ® A/c öPõkUPÄ®. JÆöÁõ¸ 
©õu•® ©õºa 31 AßÖ ¦zuP[PÒ ‰h¨£k®. 

19. Write an essay on bill of exchange, accommodation and 
renewal of bills. 

 ©õØÓa^mk, u[Sªh® ©ØÖ®, ^mkPøÍ¨ ¦x¨¤zuÀ 
£ØÔ¯ Pmkøμø¯ GÊx[PÒ. 

20. Elaborate purpose of fire insurance and explain claim for 
loss of stock. 

 w Põ¨¥miß Â›ÁõÚ ÷|õUP® ©ØÖ® £[S CÇ¨¦UPõÚ 
÷Põ›UøPø¯ ÂÍUPÄ®. 

—————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Why is data abstraction used? 

 uμÄ _¸UP® Hß £¯ß£kzu¨£kQÓx? 

2. Define transaction management. 

 £›ÁºzuøÚ {ºÁõPzøu Áøμ¯ÖUPÄ®. 

3. What is logical database design? 

 u¸UP uμÄzuÍ ÁiÁø©¨¦ GßÓõÀ GßÚ? 

4. What are the types of relational algebra? 

 öuõhº¦øh¯ C¯ØPouzvß ÁøPPÒ ¯õøÁ? 

5. What are nested queries? 

 EÒÍø©UP¨£mh ÷PÒÂPÒ GßÓõÀ GßÚ? 

6. Define outer joins. 

 öÁÎ¨¦Ó Cøn¨¦PøÍ Áøμ¯ÖUPÄ®. 
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7. What is transaction state? 

 £›ÁºzuøÚ {ø» GßÓõÀ GßÚ? 

8. What do you mean by validation based protocols? 

 \›£õº¨¦ Ai¨£øh°»õÚ ö|Ô•øÓPÒ GßÓõÀ GßÚ? 

9. Write about the data on external storage. 

 öÁÎ¨¦Ó ÷\ª¨£PzvÀ EÒÍ uμøÁ¨ £ØÔ GÊx[PÒ. 

10. Define the term ISAM. 

 ISAM °ß C»UPn® GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) What is the difference between database system 
and file system? 

  uμÄzuÍ Aø©¨¦US® ÷Põ¨¦ •øÓø©US® GßÚ 
Âzv¯õ\®? 

Or 

 (b) What is database design and ER diagrams? 

  uμÄzuÍ ÁiÁø©¨¦ ©ØÓ® ER  Áøμ£h[PÒ 
GßÓõÀ GßÚ? 

12. (a) Explain about Database Integrity and Integrity 
Constraints (Keys). 

  uμÄzuÍ J¸ø©¨£õk ©ØÖ® J¸ø©¨£õk 
Pmk¨£õkPÒ (Âø\PÒ) £ØÔ ÂÍUPÄ®. 

Or 

 (b) Explain relational algebra. 

  öuõhº¦øh¯ C¯ØPouzøu ÂÍUPÄ®. 
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13. (a) Define basic SQL queries with their example. 

  Ai¨£øh SQL  ÂÚÁÀPøÍ AÁØÔß 
Euõμnzxhß Áøμ¯ÖUPÄ®. 

Or 

 (b) Discuss about triggers. 

  yskuÀPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

14. (a) Explain different forms of serializability. 

  Á›ø\¨£kzxu¼ß £À÷ÁÖ ÁiÁ[PøÍ ÂÍUSP. 

Or 

 (b) Write a short note on timestamp based protocols. 

  ÷|μ •zvøμ Ai¨£øh°»õÚ ö|Ô•øÓPÒ SÔzx 
J¸ ]Ö SÔ¨ø£ GÊxP. 

15.  (a) Discuss cluster indexes. 

  QÍìhº SÔ±kPøÍ¨ £ØÔ ÂÍUPÄ®. 

Or 

 (b) Explain about the tree structure. 

  Tree structure £ØÔ ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Illustrate the enhanced ER modeling in detail. 

 ÷©®£kzu¨£mh ER ©õv›°øÚ Â›ÁõP ÂÍUPÄ®. 

17. Explain the detailed about querying relational data. 

 öuõhº¦øh¯ uμøÁ ÂÚÄÁx £ØÔ Â›ÁõP ÂÍUPÄ®. 
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18. Discuss how schema refinement an improve schemas 
obtained through ER design. 

 ER  ÁiÁø©¨¤ß ‰»® ö£Ó¨£mh ìR©õøÁ 
÷©®£kzxÁx G¨£i ìR©õøÁ ÷©®£kzxÁx Gß£øu¨ 
£ØÔ ÂÁõvUPÄ®. 

19. Why is recovery needed? Discuss the recovery techniques. 

 «m¦ Hß ÷uøÁ¨£kQÓx? «m¦ ~m£[PøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

20. Discuss briefly about index data structure. 

 SÔ±mk uμÄ Pmhø©¨ø£¨ £ØÔ _¸UP©õP 
ÂÁõvUPÄ®. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a Payment? 

 £n® ö\¾zxuÀ GßÓõÀ GßÚ? 

2. What do you mean by subscriptions? 

 \¢uõUPÒ GßÓõÀ GßÚ? 

3. What is due date? 

 {¾øÁz ÷uv GßÚ? 

4. What is Red — ink interest? 

 ]Á¨¦ & ø© Ámi GßÓõÀ GßÚ? 

5. What is delcredere Commission? 

 ¤øn •øÓ uμS GßÓõÀ GßÚ? 

6. Give the meaning of Account sales. 

 PnUS ÂØ£øÚ°ß ö£õ¸øÍz u¸P. 
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7. Write a note On co — venture. 

 Tmk CønÂøÚ J¸ SÔ¨ø£ GÊuÄ®. 

8. Define Joint bank Account. 

 Tmk Á[QU PnUøP Áøμ¯ÖUPÄ®. 

9. Mention any two features of single entry system. 

 JØøÓ £vÄ •øÓ°ß H÷uÝ® Cμsk C¯À¦PøÍ 
SÔ¨¤hÄ®. 

10. What is conversion method? 

 ©õØÖ •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) From the following details ascertain the amount of 
subscriptions to be credited to income and 
expenditure account for the year 2015. 

  Subscription received in 2015 Rs. 48,000 which 
includes Rs. 4,000 for 2014 and Rs. 8,000 for 2016. 
Subscriptions due but not received at the end of the 
year 2015 were Rs. 20,000. Subscriptions received 
in 2014 in advance for 2015 were Rs. 12,000. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 2015 B® BsiØPõÚ 
Á¸©õÚ® ©ØÖ® ö\»ÄU PnUQÀ ÁμÄ øÁUP¨£h 
÷Ási¯ \¢uõUPÎß AÍøÁU PshÔ¯Ä®. 

  2015 CÀ ö£Ó¨£mh \¢uõ ¹. 48,000 CvÀ 2014 B®  
Bsk BsiØPõÚ ¹. 4,000 ©ØÖ® 2016 B® 
BskUPõÚ ¹. 8,000 BQ¯øÁ Ah[S®. 2015 B® 
Bsiß CÖv°À ö£Ó¨£hõu \¢uõUPÒ ¹. 20,000. 
BS® 2015 B®  BsiØPõÚ •ßTmi÷¯ 2014 CÀ 
ö£Ó¨£mh \¢uõUPÒ ¹. 12,000 BS®. 

Or 



F–0192 

  

  3

 (b) How do you in Corporate the following in the 
Tanjore turf club balance sheet for the year 
31.3.2010? Prepare balance sheet for the year 
ending 31.3.2010 with given the details. 

 Rs. 

Medal distribution fund 98,400

Interest on the fund investments 28,900

Medals distributed 28,700

Medal distribution fund investments 98,000

  31.3.2010 B® BsiØPõÚ ugø\ hºL¨ QÍ¨ 
C¸¨¦{ø»U SÔ¨¤À ¤ßÁ¸ÚÁØøÓ }[PÒ 
GÆÁõÖ Põº¨£÷μm ö\´QÕºPÒ? 

  RÌ öPõkUP¨£mh uPÁÀ Ai¨£øh°À 31.3.2010 
B® BsiØPõÚ C¸¨¦ {ø»USÔ¨ø£ u¯õº 
ö\´P. 

 ¹. 

£uUP Â{÷¯õP {v 98,400

{v •u½kPÒ «uõÚ Ámi 28,900

£uUP[PÒ Â{÷¯õQUP¨£mhÚ 28,700

£uUP Â{÷¯õP {v •u½kPÒ 98,000

12. (a) Daily Balance Method On 2-1-92 Gopal opened an 
account with Canara Bank depositing Rs. 5,000. His 
further deposits were: 20th January Rs. 2,500; 20th 
March Rs. 3.000; 20th  May Rs. 3,500; His 
withdrawals were: Rs. 6,000 on 20th February; Rs. 
5,000 on 20th April and Rs. 2,500 on 20th June. 
Prepare the account current to be rendered by the 
bank for the period 30th June 1992 charging interest 
at 5% pa. on customer’s debit balance and 2% pa. on 
customer’s credit balance. 
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  vÚ\› C¸¨¦ •øÓ 2-1-92 AßÖ ÷Põ£õÀ PÚμõ 
Á[Q°À ¹. 5,000. AÁμx ÷©¾® øÁ¨¦zöuõøP : 
20 áÚÁ› ¹. 2,500; ©õºa 20 ¹. 3.000; ÷©  
20 ¹. 3,500; AÁº Gkzu £n® ¹. 6,000 ¤¨μÁ› 20  
AßÖ ¹. 5,000 H¨μÀ 20 AßÖ áüß 20 AßÖ  
¹. 2,500 1992 B® Bsk áüß 30 B® ÷uv Áøμ 
5% Ãu® Ámi Á`¼¨£uØS Á[Q¯õÀ ÁÇ[P¨£k® 
PnUQß |h¨¦z vmhzøuz u¯õ›UPÄ®.  
ÁõiUøP¯õÍ›ß £ØÖ C¸¨¦ ©ØÖ® ÁμÄ C¸¨¦ 
2% pa. 

Or 

 (b) Kannan purchased goods from Raman the due dates 
for payment in cash being as follows.  

Date Amount Due date 
 Rs.  

March, 15 1,000 Due 18th April
April, 21 1,500 Due 24th May 
April, 27 500 Due 30th June
May, 15 600 Due 18th July 

  Raman agreed to draw a bill for the total amount 
due on the average due date. State the average due 
date on which Raman agrees to pay the entire 
amount. 

  Psnß μõ©Ûh® ö£õ¸mPøÍ Á[QÚõº, £n©õP 
ö\¾zxÁuØPõÚ {¾øÁz ÷uvPÒ ¤ßÁ¸©õÖ.  

÷uv öuõøP {¾øÁz ÷uv 

 ¹.  
©õºa, 15 1,000 H¨μÀ 18 B® ÷uv 
H¨μÀ, 21 1,500 ÷© 24 B® ÷uv 
H¨μÀ, 27 500 áüß 30 B® ÷uv 
÷©, 15 600 áüø» 18 B® ÷uv

  \μõ\› {¾øÁz ÷uv°À ö\¾zu ÷Ási¯ ö©õzuz 
öuõøPUPõÚ ¤À GkUP μõ©ß J¨¦UöPõshõº. 
μõ©ß ö©õzu öuõøP²® ö\¾zu J¨¦UöPõshuß 
÷£›À \μõ\› {¾øÁ ÷uvø¯ SÔ¨¤kP. 
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13. (a) Goods sent on consignment at cost Jain of Delhi 
consigned 300 tins of coconut oil to Narang of 
Chandigarh, invoiced at Rs 200 per tin. Jain paid 
Rs. 2,000 as carriage and other expenses. The 
consignor drew a bill of exchange for Rs. 16,000 
which were later discounted at Rs. 15,700. The 
consignee rendered account sales showing the 
following details: 

  280 tins sold at Rs. 250 per tin 

  20 tins sold at Rs. 260 per tin 

  Storage and selling expenses Rs. 5,000 

  Clearing and cartage Rs. 1,600 

  Commission at 6 % on sales 

  The consignee sent a sight draft for the balance. 
Show the entries and important ledger accounts in 
the books of consignor account. 

  öhÀ¼ø¯a ÷\º¢u öá°ß, \siPøμa ÷\º¢u 
|μ[QØS 300 ißPÒ ÷u´Põ´ Gsön´ Âø»US 
AÝ¨¤¯ ö£õ¸mPÒ, Âø»¨£mi¯À ¹. 200 J¸ 
ißÝUS. öá°ß ¹. 2,000 Ási ©ØÖ® Cuμ 
ö\»ÄPÒ. AÝ¨¤¯Áº ¹. 16,000 ¤ßÚº uÒÐ£i 
ö\´¯¨£mhx ¹. 15,700. \μUS ö£Ö£Áº ¤ßÁ¸® 
ÂÁμ[PøÍU Põmk® PnUS ÂØ£øÚø¯ 
ÁÇ[QÚõº: 

  280 ißPÒ ¹. 250 J¸ ißÝUS 

  20 ißPÒ ¹. 260 J¸ ißÝUS 

  ÷\ª¨¦ ©ØÖ® ÂØ£øÚ ö\»ÄPÒ ¹. 5,000 

  _zu® ©ØÖ® Ási ¹ . 1,600 

  ÂØ£øÚ°À 6 % Pªåß 

  C¸¨¦z öuõøPUPõÚ £õºøÁ ÁøμøÁ 
AÝ¨¤¯Áº. AÝ¨¦|º PnUS¨ ¦zuP[PÎÀ 
÷uøÁ¯õÚ SÔ¨÷£kPøÍ²® ©ØÖ® •UQ¯©õÚ 
÷£÷μkPøÍ²® u¯õ›UPÄ®. 

Or 
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 (b) Write short note on overriding commission. 

  AvP£i¯õÚ PÈÄ SÔzx ]Ö SÔ¨ø£ u¸P. 

14. (a) S and P entered into a joint venture and agreed to 
divide the profit as to S 60% and P40%. S and P 
contributed Rs. 1,80,000 and Rs. 1,20,000 
respectively for carrying on transactions relating to 
the venture. They opened a joint bank account with 
the above contributions. They purchased three old 
state buses for Rs. 2,40,000. S and P personally paid 
Rs. 45,000 and Rs. 30,000 respectively for repairs 
and renewals. They purchased a few tires and tubes 
costing Rs. 54,000. Two buses were sold for  
Rs. 2,70,000 and the third one was taken by Pat cost 
price. Pass necessary journal entries. 

  S ©ØÖ® P J¸ Tmk •¯Ø]°À ~øÇ¢x »õ£zøu S 
60% ©ØÖ® P 40% GÚ ¤›UP J¨¦UöPõshÚº. S 
©ØÖ® P ¹. 1,80,000 ©ØÖ® ¹. 1,20,000. xoPμ® 
öuõhº£õÚ £›ÁºzuøÚPøÍ ÷©ØöPõÒÁuØS 
•øÓ÷¯ AÁºPÒ ÷©ØPsh £[PÎ¨¦PÐhß Tmk 
Á[QU PnUøPz öuõh[QÚõºPÒ. AÁºPÒ ‰ßÖ 

•øÓ÷¯ £øÇ¯ Aμ_¨ ÷£¸¢xPøÍ ¹. 2,40,000. S 
©ØÖ® P uÛ¨£mh •øÓ°À ¹. 45,000 ©ØÖ®  

¹. 30,000 •øÓ÷¯ £Êx ©ØÖ® ¦x¨¤¨¦PÐUS 
ö\»ÁõQ¯x AÁºPÒ J¸ ]» h¯ºPÒ ©ØÖ® 

i³¨PøÍ ¹. 54,000 BS®. ÷©¾® Cμsk 

÷£¸¢xPÒ ¹. 2,70,000 ©ØÖ® ‰ßÓõÁx ÷£¸¢øu 

P Gkzux öPõshõº PnUS¨ ¦zuP[PÎÀ 
÷uøÁ¯õÚ SÔ¨÷£kPøÍ²® u¯õ›UPÄ®. 

Or 

 (b) What are the features of Joint venture? 

  Tmk CønÂøÚ A®\[PÒ GßÚ? 
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15.  (a) From the following details, find out the net credit 
sales for the year 

 Rs. 

Opening balance of sundry debtors ( Dr) 20,000

Cheque collection during the year 1,80,000

Cash collection during the year 25,000

B / R received during the year 5,000

Closing balance of sundry debtors ( Dr) 24,000

Bad debts written off 2,500

Discount allowed 1,000

Goods returned by customers 2,500

Cheque dishonored 500

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x BsiØPõÚ {Pμ Phß 
ÂØ£øÚø¯U PshÔ¯Ä®. 

 ¹. 

£À÷ÁÖ PhÚõÎPÎß öuõhUP C¸¨¦ (£ØÖ) 20,000
Á¸hzvÀ Põ÷\õø» ÷\P›zuÀ 1,80,000
Á¸hzvÀ £n ÷\P›¨¦ 25,000
Á¸hzvÀ ö£Ó¨£mh ¤À 5,000
£À÷ÁÖ PhÚõÎPÎß CÖv C¸¨¦ (£ØÖ) 24,000
ÁõμõU Phß uÒÐ£i 2,500
uÒÐ£i öPõkzux 1,000
ÁõiUøPÍõÍºPÎh® C¸¢x v¸®¤¯ ö£õ¸mPÒ 2,500
Põ÷\õø» ©v¨¤Ç¢ux 500

Or 

 (b) Distinction between single entry system and double 
entry system. 

  JßøÓ £vÄ •øÓUS® ©ØÖ® Cμmøh¨ £vÄ 
•øÓUS® EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between receipts and payments account and 
income and expenditure account. 

 ö£ÖuÀ ö\¾zxuÀ ©ØÖ® Á¸©õÚ ö\»Ä PnUSPøÍ 
EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 

17. Ramesh drew upon Vinod several bills of exchange due 
for payment on different dates as under:  

Date of the Bill Amount Tenure of the bill
 Rs.  

1-6-88 1,200 3 months 
10-6-88 1,600 2 months 
10-7-88 2,000 3 months 
27-7-88 1,500 3 months 
7-8-88 1,800 1 months 
15-8-88 2,400 2 months 

 Find out Average due date on which payment may be 
made in one single amount. 

 μ÷©è Â÷Úõzvh® öÁÆ÷ÁÖ ÷uvPÎÀ ö\¾zu 
÷Ási¯ £» £›©õØÓ ¤ÀPÒ  

©÷\õuõ ÷uv öuõøP ©÷\õuõÂß Põ»®

 ¹.  

1-6-88 1,200 3 ©õu[PÒ 

10-6-88 1,600 2 ©õu[PÒ 

10-7-88 2,000 3 ©õu[PÒ 

27-7-88 1,500 3 ©õu[PÒ 

7-8-88 1,800 1 ©õu[PÒ 

15-8-88 2,400 2 ©õu[PÒ 

 J÷μ öuõøP°À ö\¾zu¨£k® \μõ\› {¾øÁz ÷uvø¯U 
PshÔ¯Ä®. 
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18. Raghul sends goods on 1-1-99 to Patuadi on consignment 
basis to be sold at 10 % commission on sales. Patuadi 
accepted a bill of Rs. 1,00,000 drawn by Raghul for 4 
months on the same date. Raghul discounted the bill with 
his banker @ 15 % pa. on 4-2-99. Raghul incurred Rs. 
30,000 by way of freight and other expenses whereas 
expenses of Patuadi were Rs. 20,000 out of which 60 % 
were non - recurring. Patuadi sent the final balance of  
Rs. 2,85,000 to Raghul on 31-3-99 along with an account 
sale. The gross profit margin is 25 % and 10% of goods 
remained unsold with Patuadi. You are required to 
prepare the necessary ledger accounts in the books of 
both the parties. 

 μõSÀ 1-1-99 AßÖ £mkÁõiUP AÝ¨¥k •øÓ°À 10 % 
uμSQØS ÂØ£øÚ ö\´¯¨£kQÓx. £mkÁõi ¹. 1,00,000 
US GÊu¨£mh ©õØÖa^møh 4 ©õu Põ» AÁPõ\zvÀ 
HØÖUöPõÒQÓõº. μõSÀ Aøu uß Á[Q¯›h® 15 % pa. 
US 4-2-99. AßÖ Aøu Ámh® ö\´QÓõº. μõSÀ ö©õzu 
ö\»ÄPÎÀ ¹. 30,000 HØÖUT¼ ©ØÖ® Cuμ ö\»ÄPÐ® 
Ah[S®. A÷u÷£õÀ £mkÁõi ö\»ÄPÎÀ ¹. 20,000 
zvÀ 60 % ö\»ÄPÒ v¸®£ {PÇõuøÁ BS®, £mkÁõi 
CÖv¯õP ¹. 2,85,000 zøu μõS¾US 31-3-99 ÂØ£øP 
P/S Ehß AÝ¨¤øÁUQÓõº. ö©õzu C»õ£ ÂQu® 25 % 
©ØÖ® 10% \μUSPÒ ÂØ£øÚ ö\´¯£hÂÀø» 
÷uøÁ¯õÚ ÷£÷μkPøÍ C¸Á›ß PnUSPÎÀ u¯õº 
ö\´¯Ä®. 

19. Distinction between Joint venture and consignment. 

 AÝ¨¤kUS® ©ØÖ® CønÂøÚUP® EÒÍ 
÷ÁÖ£õmøh ÂÍUSP. 

20. The position of a businessman who keeps his books on 
Single entry was as under on 31.12.90 and 31.12.91. 

 1990 1991
 Rs. Rs. 

Cash in Hand 400 480
Cash at Bank 6,000 2,500
Stock 6,500 5,000
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 1990 1991
 Rs. Rs. 

Debtors 4,000 5,200
Furniture 300 350
Creditors 4,100 3,100

 He withdraws Rs. 7,500 from business on 2.1.91 out of 
which he spent Rs. 5,200 for purchase of a motor truck for 
the business. 

 Adjustments: 
 (a) Depreciation or closing balance of furniture and 

truck at 10% 
 (b) Write off Rs. 220 as bad debts 
 (c) 5 % Provision for bad and doubtful debts is needed. 
 Find out the profit or loss for the year. 

 31.12.90 ©ØÖ® 31.12.91 BQ¯ ÷uvPÎÀ J¸ ÁoP›ß 
JØøÓ £vÄ ¦zuP[PøÍ øÁzv¸US® {ø» EÒÍx. 

 1990 1991 

 ¹. ¹. 
øP°À öμõUP® 400 480
Á[Q°À £n® 6,000 2,500
\μUQ¸¨¦ 6,500 5,000
PhÚõÎPÒ 4,000 5,200
©μa\õ©õßPÒ 300 350
Phß öPõkzuÁºPÒ 4,100 3,100

 AÁº ¹. 7,500 2.1.91 AßÖ ÁoPzv¼¸¢x Gkzx 
ö\»Âmhõº. ÁoPzvØPõP ÷©õmhõº iμU Áõ[SÁuØS 
¹. 5,200. 

 \›PmhÀPÒ: 

 (A) ©μa\õ©õßPÒ ©ØÖ® iμUQß «uõÚ ÷u´©õÚ® 10% 

 (B) ¹. 220 ÁõμõU PhßPÒ 

 (C) ÷©õ\©õÚ ©ØÖ® \¢÷uPzvØS›¯ PhßPÐUS 5 % 
JxURk ÷uøÁ. 

 BskUPõÚ »õ£® AÀ»x |èhzøuU PshÔ¯Ä®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by the network? 

 ¤øn¯® GßÓõÀ GßÚ? 

2. Define WAN. 

 ÷Áß Gß£øu Áøμ¯ÖUP. 

3. Write any two functions of the Data link layer. 

 uμÄ Cøn¨¦ AkUSÂß H÷uÝ® Cμsk 
ö\¯À£õkPøÍ GÊxP. 

4. What is CSMA? 

 ] Gì G® H GßÓõÀ GßÚ? 

5. Write a short note on Packed Switching. 

 {μ¨£mh ©õÖuÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

6. What do you understand Network layer? 

 ¤øn¯ AkUS £ØÔ }Ãº AÔÁx ¯õx? 
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7. What is TCP/IP? 

 i]¤/I¤ GßÓõÀ GßÚ? 

8. Write a short note of Remote File Access. 

 öPõø» ÷Põ¨¦ HØ¦ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

9. What is meant by Network Security? 

 ¤øn¯ £õxPõ¨¦ Gß£uß ö£õ¸Ò TÖP. 

10. Give the meaning of Cryptography. 

 SÔ¯õUPÂ¯À Gß£uß ö£õ¸Ò u¸P. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Draw the Internet Architecture. 

   ¤øn¯ Pmhø©¨¤¯ø» Áøμ¯ÖUP. 

Or 

 (b) Explain the different categories of networks. 

   öÁÆ÷ÁÖ ÁøP¯õÚ ¤øn¯[PøÍ ÂÍUSP. 

12. (a) Distinguish between Error correction and Error 
detection. 

   ¤øÇ v¸zu® ©ØÖ® ¤øÇ PshÔu¾US® EÒÍ 
÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) Discuss the merits of the Multiple access protocol.  

   £À HØ¦ ö|Ô•øÓ°ß |ßø©PøÍ ÂÁõv. 
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13. (a) Discuss the various types of Switching techniques. 

   öÁÆ÷ÁÖ ÁøP¯õÚ ©õÖuÀ öuõÈÀ~m£[PøÍ 

£ØÔ ÂÁõv. 

Or 

 (b) Distinguish between virtual circuit and datagram 

subnet. 

   ö©´{Pº _ØÖ ©ØÖ® ÷hmhõQμõ® \¨ö|miØS 

Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

14. (a) Enumerate the working principles of the internet. 

   ¤øn¯ ö\¯À£õkPÎß öPõÒøPPøÍ ÂÁ›. 

Or 

 (b) Write a short note on: (i) DNS (ii) SNMP 

   ]ÖSÔ¨¦ ÁøμP (i) DNS (ii) SNMP 

15. (a) Discuss traditional cryptography. 

   £õμ®£Ô¯ SÔ¯õUPÂ¯À £ØÔ ÂÁõv 

Or 

 (b) Explain the importance of the encryption model. 

   ©øÓ SÔ±hõUPzvß |ßø©PÚÍ TÖ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the OSI Reference Model. 

 J Gì I °ß SÔ¨¦ ©õv›ø¯ ÂÍUSP. 
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17. Write a short note on:  

 (a)  ALOHA  

 (b)  CSMA  

 (c)  CSMA/CD 

 ]Ö SÔ¨¦ ÁøμP 

 (A)  ALOHA  

 (B)  CSMA  

 (C)  CSMA/CD  

18. Explain the routing algorithms. 

 ÁÈ¨£õøu ÁÈ•øÓPÒ £ØÔ GÊxP. 

19. Explain the various advantages of HTTP. 

 Ga.i.i.¤. Gß£uß |ßø©PÒ ÂÍUSP. 

20. Explain the feature of AES.  

 H.D.Gì Gß£uß C¯À¦PøÍ ÂÍUSP. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define gateway of Tally. 

 Tally °ß ~øÇÁõ°ø» Áøμ¯ÖUPÄ®. 

2. What is real account? 

 ö\õzx PnUS GßÓõÀ GßÚ? 

3. What is capital nature? 

 ‰»uÚ C¯À¦ GßÓõÀ GßÚ? 

4. What do you mean by payment voucher? 

 ö\¾zxuÀ \õßÓõÁn® GßÓõÀ GßÚ? 

5. Give the meaning of Voucher. 

 \õßÓõÁn® ö£õ¸øÍU TÖP. 

6. What is sales voucher? 

 ÂØ£øÚ \õßÓõÁn® GßÓõÀ GßÚ? 
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7. What is inventory report? 

 \μUS AÔUøP GßÓõÀ GßÚ? 

8. Define Suspense account. 

 AÚõ©zx PnUøP Áøμ¯ÖUPÄ®. 

9. Expand – HTML, FTP. 

 Â›ÁõUP® ö\´¯Ä® HTML, FTP. 

10. What is URL? 

 ²BºGÀ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the double entry system? 

   Cμmøh £vÄ •øÓø¯ ÂÍUSP. 

Or 

 (b) Describe the accounting features in Tally. 

   Tally CÀ EÒÍ PnUQ¯À A®\[PøÍ ÂÁ›UPÄ®. 

12. (a) Difference between FIFO and LIFO method. 

   FIFO ©ØÖ® LIFO •øÓUS Cøh÷¯ EÒÍ 

÷ÁÖ£õmøh ÂÍUSP. 

Or 

 (b) How to prepare Trading account in Tally?  

   Tally CÀ Â¯õ£õμ PnUøP GÆÁõÖ u¯õ›¨£x? 
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13. (a) Write short note on inventory allocations? 

   \μUS JxURkPÒ £ØÔ¯ ]Ö SÔ¨ø£ u¸P. 

Or 

 (b) How to create single stock group creation in Tally? 

   Tally CÀ JØøÓ \μUQ¸¨ø£ SÊ E¸ÁõUPzøu 
GÆÁõÖ E¸ÁõUSÁx? 

14. (a) Explain the receipts and payments voucher with 
examples. 

   Cμ^xPÒ ©ØÖ® £n® ö\¾zx® ÁÄa\øμ 
GkzxUPõmkPÐhß ÂÍUPÄ®. 

Or 

 (b) How to prepare multiple Accounting printing using 
in Tally? 

   Tally °À £ß©h[PõÚ PnUQ¯À Aa]hø» 
GÆÁõÖ u¯õ›¨£x ? 

15. (a) What are the types of security? 

   £õxPõ¨¦ ÁøPPÒ GßÚ? 

Or 

 (b) Write short note E-mail. 

   ªßÚg\¼À ]Ö SÔ¨ø£ GÊuÁõ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe various accounting vouchers in Tally. 

 £À÷ÁÖ PnUQ¯À \õßÓõÁn®/ÁμÄ SÔ¨¦ Tally °À 
ÂÁ›UPÄ®. 

17. How to prepare balance sheet in Tally? 

 Tally CÀ C¸¨¦{ø»U SÔ¨ø£ GÆÁõÖ u¯õ›¨£x? 
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18. Explain the various method of costing. 

 ö\»Ä ö\´²® £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

19. What are the types of printing configuration options 
using in Tally? 

Tally °À GßÚ ÁøP¯õÚ Aa]hø» EÒÍø©Ä GÆÁõÖ 
£¯ß£kzu¨£kQßÓÚ? 

20. Explain the ODBC.  

 ODBC I ÂÍUSP. 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER 2023. 

Third Semester 
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C PROGRAMMING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Keywords. 

 •UQ¯ ÁõºzøuPÒ Áøμ¯Ö 

2. What is initialization’? 

 xÁUP® GßÓõÀ GßÚ? 

3. What is meaning of ‘\n’ in C program. 

 ] {μ¼À EÒÍ ‘\n’ & Cß ö£õ¸Ò GßÚ? 

4. Write the syntax of for Loop Statement. 

 £õº¿¨¤ØPõÚ ¦÷μõQμõ® Pmhø©¨¦PøÍ GÊxP. 

5. What is Function in C Programming? 

 C ¦÷μõQμõªÀ  ö\¯À£õk GßÓõÀ GßÚ? 

6. What is use of Scanf() function? 

 ì÷PßG¨ & Cß ö\¯À£õmiß £¯ß GßÚ? 
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7. Difference between Array and Structure. 

 Á›ø\ ©ØÖ® Pmhø©¨¦US® Cøh÷¯ EÒÍ ÷ÁÖ£õk. 

8. How to declare Structure Variable? 

 Pmhø©¨¦ ©õÔPøÍ GÆÁõÖ AÔÂ¨£x? 

9. Define Type def. 

 øh¨öh¨ Áøμ¯Ö. 

10. What is External Variable? 

 öÁÎ¨¦Ó ©õÔ GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the basic Structure of C program. 

   ] {μ¼ß Ai¨£øh Aø©¨¤øÚ ÂÍUSP. 

Or 

 (b) Write a short note on header Files. 

   uø»¨¦ ÷Põ¨¦PÒ £ØÔ ]Ö SÔ¨¦ GÊuÄ®. 

12. (a) Explain if-else Statement with example. 

   If-else AÔUøP°øÚ GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) What is Loop? Explain while Loop in C.  

   ¿¨ GßÓõÀ GßÚ? ]&°À EÒÍ while ¿¨ £ØÔ 
ÂÍUSP. 
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13. (a) What is Array? How to declare an array differ from 

a declaring variable? 

   Á›ø\ GßÓõÀ GßÚ? Á›ø\ø¯ AÔÂ¨£øu, 

©õÔPÒ AÔÂ¨£xhß ÷ÁÖ£kzxP. 

Or 

 (b) Illustrate the different types of String Function. 

   £À÷ÁÖ ÁøP¯õÚ \μ® ö\¯À£õmiøÚ ÂÍUPÄ®. 

14. (a) Describe the concept of Pointers. 

   _miPÎß P¸zvøÚ ÂÁ›UPÄ®. 

Or 

 (b) Explain the concept of Structures by reference. 

   SÔ¨¦ ‰» Pmhø©¨¦ £ØÔ¯ P¸zvøÚ ÂÍUSP. 

15. (a) Explain the basic file operation in C. 

   ]&°À EÒÍ Ai¨£øh ÷Põ¨¦PÎß 

ö\¯À£õmiøÚ ÂÍUPÄ®. 

Or 

 (b) Write a short note on following with example. 

  (i) If def  (ii) Undef 

   ¤ßÁ¸ÁØÔøÚ £ØÔ GkzxUPõmkPÐhß ]Ö 

SÔ¨¦ u¸P 

   (i) If def  (ii) Undef 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the Basic Data Types in C. 

 ]&°À EÒÍ Ai¨£øh uμÄ ÁøPPøÍ ÂÍUPÄ®. 

17. Discuss about Decision Making Branching Statements in 
detail. 

•iöÁkUS® QøÍ AÔUøPPøÍ £ØÔ Â›ÁõP 
ÂÁõvUPÄ®. 

18. Differentiate Local and Global variable. 

 Em¦Ó ©ØÖ® öÁÎ¦Ó ©õÔPøÍ ÷ÁÖ£kzxP. 

19. To write a C program to display student Grade using 
Structure. 

©õnÁºPÎß ©v¨ö£s {ø»PÐUPõÚ ] {μø» 
Pmhø©¨¤øÚ £¯ß£kzv GÊuÄ®. 

20. Explain the various Modes that are used in File.  

 ÷Põm¦PÎÀ £¯ß£kzx® £À÷ÁÖ •øÓPøÍ ÂÍUPÄ®. 

 

 
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define “Secondary Data”. 

 Cμshõ® uμøÁ Áøμ¯ÖUP. 

2. What is meant by statistical enquiry? 

 ¦ÒÎ ÂÁμ Â\õμøn GßÓõÀ GßÚ? 

3. Define harmonic mean. 

 ^›ø\a \μõ\› GßÓõÀ GßÚ? 

4. Write short note on Standard Deviation. 

 uμÂ»UP® £ØÔ SÔ¨¦ ÁøμP. 

5. Write short notes on “Chain base index Number”. 

 Cøn¨¦ SÔ±mk Gs £ØÔ ]ÖSÔ¨¦ GÊxP. 
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6. Define “Range”. 

 “öuõø»öÁÀø»” Áøμ¯ÖUP. 

7. State the meaning of Index number. 

 SÔ±mk Gs Gß£uß ö£õ¸Ò SÔ¨¤kP. 

8. What do you understand about consumer index number? 

 ~Pº÷Áõº SÔ±mk GsPÒ £ØÔ }Âº AÔÁx ¯õx? 

9. Define Time series 

 ÷|μzöuõhøμ Áøμ¯ÖUP. 

10. What is probability? 

 {PÌuPÄ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) What do you mean by sampling? Describe briefly 
main types of sampling methods. 

  TöÓk¨¦ GßÓõÀ GßÚ? TöÓk¨¦ •øÓ°ß 
ÁøPPøÍ £ØÔ ÂÁ›. 

Or 

 (b) What are the characteristics of a good 
questionnaire? 

  J¸ |À» ÂøhzuõÒ ©øÓ°ß Sn[PÒ ¯õøÁ? 
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12. (a) Calculate mean for the following date: 

Value : 1 2 3 4 5 6 7 8 9 10

Frequency: 21 30 28 40 26 34 40 9 15 57

  ¤ßÁ¸® ÂÁμ[PÐUS Tmk \μõ\› ©v¨¤kP. 

©v¨¦ : 1 2 3 4 5 6 7 8 9 10

Aø»öÁs: 21 30 28 40 26 34 40 9 15 57

Or 

 (b) Explain the merits and demerits of quartile 
deviation. 

  PõÀ©õÚ Â»UPzvß |ßø© ©ØÖ® wø©PøÍ 
ÂÁ›. 

13. (a) Find the range and coefficient. 

Marks : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

No.of Students : 13 6 9 11 10 18 23 10 

  Ãa_ ©ØÖ® öPÊøÁU Psk¤iUPÄ®. 

©v¨ö£s : 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80

©õnÁº GsoUøP : 13 6 9 11 10 18 23 10 

Or 

 (b) What are the properties of coefficient of correlation? 

  uμÁ›ø\ Ehß öuõhº¦U öPÊÂß £s¦PÒ £ØÔ 
TÖP. 
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14. (a) Write down the uses of index umbers. 

  SÔ±mk GsPÎß £¯ßPøÍ GÊxP. 

Or 

 (b) Construct the cost of living index. 

Group  Food Rent  Clothing Fuel Misc

Index number 350 220 250 180 210 

Weight 50 10 12 15 5 

  ÁõÌUøP ö\»Ä SÔ±möhs PnUQkP. 

SÊ EnÄ ÁõhøP Eøh G›ö£õ¸Ò ©ØÓøÁ

SÔ±möhs 350 220 250 180 210 

©v¨¦ 50 10 12 15 5 

15.  (a) The probability that a card drawn from a pack of 52 
cards will be a diamond or a king is? 

  J¸ Amøh¨ ö£mi°À 52 PõºkPÎÀ C¸¢x J¸ 
Amøh øÁμ® AÀ»x μõáõ C¸US® Gß£uØPõÚ 
{PÌuPÄ? 

Or 

 (b) Draw a trend line by the method of semi-average for 
the data: 

Years : 2010 2011 2012 2013 2014 2015

Sales (000) : 60 75 81 110 106 120 

  ¤ßÁ¸® ÂÁμ[PÐUS £õv \μõ\› •øÓ¨£i 
÷£õUSU÷Põk ÁøμP. 

Bsk : 2010 2011 2012 2013 2014 2015

ÂØ£øÚ (000) : 60 75 81 110 106 120 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the various methods of collecting primary data. 

 •uÛø» ÂÁμ[PÒ öuõSUS® £À÷ÁÖ •øÓPøÍ 
ÂÁ›. 

17. From the following data calculate mean, median and 
mode. 

Marks : 10-20 20-30 30-40 40-50 50-60 60-70
No. of students : 10 12 18 12 14 4 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x \μõ\›, Cøh{ø» ©ØÖ® 
•Pk PnUQkP. 

©v¨ö£sPÒ : 10-20 20-30 30-40 40-50 50-60 60-70
©õnÁºPÎß GsoUøP : 10 12 18 12 14 4 

18. Compute Karl Pearson’s coefficient of correlation. 

X 70 50 90 100 115 120 150 155
Y 15 30 40 55 80 75 90 67 

 PõμÀ ¤¯º\Ûß JmkÓÄU öPÊøÁU PõsP. 

X 70 50 90 100 115 120 150 155
Y 15 30 40 55 80 75 90 67 

19. Fit a straight-line trend by the method of least square to 
the following data and calculate trend value. 

Year : 2003 2004 2005 2006 2007

Sales : 4 6 7 8 10 

 Estimate the sales for the year 2012. 

 ¤ßÁ¸® ÂÁμ[PÐUS «a]Ö ÁºUP® •øÓ¨£i 
÷£õUPÍøÁPøÍU PnUQkP. 

Bsk : 2003 2004 2005 2006 2007

ÂØ£øÚ : 4 6 7 8 10 

 2012&® BsiØPõÚ ÂØ£øÚ°øÚ Psk¤i. 
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20. (a) A bag contain 6 white and 4 red balls. Three balls 
are drawn at random what is the probability that 
two balls are red and the other one is white? 

  J¸ ø£°À 6 öÁÒøÍ ©ØÖ® 4 ]Á¨¦ £¢xPÒ 
EÒÍÚ. ‰ßÖ £¢xPÒ ^μØÓ {ø»°À 
GkUP¨£kQßÓÚ. Cμsk £¢øu ]Á¨¦ ©ØÖ® 
©ØöÓõßÖ öÁÒøÍ GßÓ {PÌuPÄ GßÚ? 

 (b) Two dice are rolled, find the probability that the 
sum is equal to 4? 

Cμsk øhì E¸mh¨£kQßÓÚ. öuõøP 4 \©©õP 
C¸US® {PÌuPÂøÚU Psk¤i.  

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is partnership? 

 Tmhõsø© GßÓõÀ GßÚ? 

2. What do you mean by profit and loss appropriation 
account? 

 C»õ£® ©ØÖ® |mh JxURmkU PnUS GßÓõÀ GßÚ? 

3. What is sacrificing ratio? 

 v¯õP ÂQu® GßÓõÀ GßÚ? 

4. Define Goodwill. 

 ÁoP |Øö£¯º Áøμ¯ÖUPÄ®. 

5. What is surrender value? 

 Âk©v¨¦ GßÓõÀ GßÚ? 

6. What is gaining ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 
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7. What do mean by dissolution of a firm? 

 J¸ {ÖÁÚ Pø»¨¦ GßÓõÀ GßÚ? 

8. States the modes of dissolution of a partnership firm. 

 J¸ Tmhõsø© {ÖÁÚzøu Pø»US® •øÓPøÍU 
TÖP. 

9. Give the meaning of piece meal distribution cash? 

 ]Ôx ]ÔuõP £Qº¢uÎUS® öμõUP® ö£õ¸øÍU TÖP. 

10. What do you mean by realization account? 

 wºÄ PnUS GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Distinction between Fixed capital and fluctuate 
capital. 

  {ø»¯õÚ ‰»uÚzvØS® ©õÖ£mh ‰»uÚzvØS® 
Cøh°»õÚ ÷ÁÖ£õmøh ÂÍUSP. 

Or 

 (b) X and Y are partners in a firm sharing profits and 
losses equally. On 1st January 1995, their capitals 
were Rs.20,000 and Rs.10,000 respectively. Interest 
on capital is to be allowed at 5% p.a. from profits 
prior to division there of. The net profit for the year 
ending 31st December 1995, before allowing interest 
capital amounted to Rs.9,500, on Give the Journal 
entries and Prepare Profit and Loss Appropriation 
account as on 31st December 1995, showing the 
division of profit between X and Y. 

  HUì ©ØÖ® J´ J¸ {ÖÁÚzvß TmhõÎPÒ 
C»õ£® ©ØÖ® |mh \©©õP £Qº¢x öPõÒQßÓÚº. 
áÚÁ› 1, 1995 AßÖ, AÁºPÎß ‰»uÚ® 
¹.20,000 ©ØÖ® ¹.10,000 BS®. ¤›¨£uØS 
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•¢øu¯ C»õ£zv¼¸¢x 5% ‰»uÚ Ámi 
AÝ©vUP¨£mhx. i\®£º 31, 1995 CÀ 
•iÁøh¢u BsiØPõÚ {Pμ C»õ£®, Ámi 
‰»uÚzøu AÝ©vUS® •ß ¹.9,500 BS®.  
31 i\®£º 1995 CÀ ÷uøÁ¯õÚ SÔ¨÷£k ©ØÖ® 
C»õ£® ©ØÖ® |mh JxURmkU PnUøPz 
u¯õ›UPÄ®. HUì ©ØÖ® J´US Cøh°À C»õ£¨ 
¤›øÁU PõmkP. 

12. (a) Naresh, Mani and Muthu are partners in a firm 
sharing profits and losses in the ratio of 2:2:1. On 
31st March 2019. Muthu retires from the firm. On 
the date of Muthu’s retirement, goodwill appeared 
in the books of the firm Rs.40,000. By assuming 
fluctuating capital method, pass the necessary 
journal entry if the partners decide to 

  (i) Write off the entire amount of existing 
goodwill 

  (ii) Write off half of the amount of existing 
goodwill. 

  |÷μè, ©o ©ØÖ® •zx BQ÷¯õº 2:2:1 GßÓ 
ÂQuzvÀ C»õ£ |èhzøu¨ £Qº¢x öPõÒÐ® 
{ÖÁÚzvÀ TmhõÎPÍõP EÒÍÚº. 31 ©õºa 2019 
AßÖ, •zx {ÖÁÚzvÀ C¸¢x K´Ä ö£ÖQÓõº. 
•zx K´Äö£Ö® |õÎÀ, ÁoP |Øö£¯º 
{ÖÁÚzvß ¦zuP[PÎÀ ¹£õ´.40,000 GßÖ 
C¸¢ux. ©õÖ£mh ‰»uÚ •øÓø¯ AÝ©õÛzx, 
£[SuõμºPÒ •iÄ ö\´uõÀ, TmhõÎPÒ •iÄ 
RÌPshÁõÖ C¸UøP°À ÷uøÁ¯õÚ 
SÔ¨¥mkPøÍ u¯õº ö\´P. 

  (i) uØ÷£õxÒÍ ÁoP |Øö£¯›ß •Êz 
öuõøPø¯²® GÊx[PÒ 

  (ii) uØ÷£õxÒÍ ÁoP |Øö£¯ºz öuõøP°À 
£õvø¯ GÊx[PÒ 

Or 
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 (b) Ananth and Suman are partners sharing profits and 
losses in the ratio of 3:2. They admit Saran for 1/5 
share, which he acquires entirely from Ananth. 
Find out the new profit sharing ratio and sacrificing 
ratio. 

  AÚ¢x® _©Ý® 3:2 GßÓ ÂQuzvÀ C»õ£ 
|èhzøu¨ £Qº¢x öPõÒÐ® TmhõÎPÒ \μs 1/5 
£[SUS J¨¦UöPõÒQÓõºPÒ, Aøu AÁº 
AÚ¢vhª¸¢x •Êø©¯õP Áõ[SQÓõº. ¦v¯ 
C»õ£¨ £QºÄ ÂQu® ©ØÖ® v¯õP ÂQuzøuU 
PshÔ¯Ä®. 

13. (a) Ramya, Sara and Thara are partners sharing 
profits and losses in the ratio of 5:3:2. On 1st April 
2018, Thara retires and on retirement, the following 
adjustments are agreed upon: 

  (i) Increase the value of premises by Rs.40,000.  

  (ii) Depreciate stock by Rs.3,000 and machinery 
by Rs.6,500. 

  (iii) Provide an outstanding liability of Rs.500 

    Pass journal entries and prepare revaluation 
account. 

  μ®¯õ, \õμõ ©ØÖ® uõμõ BQ÷¯õº 5:3:2 GßÓ 
ÂQuzvÀ C»õ£ |mh[PøÍ¨ £Qº¢x öPõÒÐ® 
TmhõÎPÒ H¨μÀ 1, 2018 AßÖ, uõμõ K´Ä 
ö£ÖQÓõº ©ØÖ® K´Ä ö£Ö® ÷£õx, ¤ßÁ¸® 
©õØÓ[PÐUS J¨¦U öPõÒÍ¨£mhx. 

  (i) ÁÍõPzvß ©v¨ø£ ¹.40,000 BP E¯ºzuÄ® 

  (ii) C¸¨¦ ©v¨ø£ ¹.3,000 BPÄ®, C¯¢vμ[PÒ 
¹.6,500 BPÄ® SøÓUPÄ®. 

  (iii) {¾øÁ°À EÒÍ ¹.500 ö£õÖ¨ø£ ÁÇ[PÄ® 

  ÷uøÁ¯õÚ SÔ¨÷£kPÒ ©ØÖ® ©Ö©v¨¥mk 
PnUøP u¯õº ö\´¯Ä®. 

Or 
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 (b) Rahul, Ravi and Rohit are partners sharing profits 
and losses in the ratio of 5:3:2. Rohit retires and the 
share is taken by Rahul and Ravi in the ratio of 3:2. 
Find out the new profit sharing ratio and gaining 
ratio. 

  μõSÀ, μÂ ©ØÖ® ÷μõîz BQ÷¯õº 5:3:2 GßÓ 
ÂQuzvÀ C»õ£ |èhzøu¨ £Qº¢x öPõÒÐ® 
TmhõÎPÒ. ÷μõîz K´Ä ö£ÖQÓõº, £[S 3:2 
GßÓ ÂQuzvÀ μõSÀ ©ØÖ® μÂ¯õÀ GkUP¨£mhx. 
¦v¯ C»õ£¨ £QºÄ ÂQu® ©ØÓ® Buõ¯ 
ÂQuzøuU PshÔ¯Ä®.   

14. (a) Distinction between revaluation Account and 
Realization Account. 

  ©Ö©v¨¥mk PnUS ©ØÖ® wºÄ PnUS Cøh÷¯ 
EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 

Or 

 (b) P Q and R share profits in proportion of 
4

1
4

1
2

1 nd, a on the date of dissolution their Balance 
Sheet was as follows: 

Liabilities Rs. Assets Rs. 

Creditors 14,000 Sundry Assets 40,000

P’s Capital 10,000  

Q’s Capital 10,000  

R’s Capital 6,000  

 40,000  40,000

  The assets realized Rs.35,500. Creditors were paid 
in full. Realization expenses amounted to Rs.1,500. 
Close the books of the firm. Prepare Realization A/c. 
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  Pø»UP¨£mh ÷uv°À 4
1

2
1 ,  ©ØÖ® 4

1  ÂQuzvÀ  

P,Q  ©ØÖ® R £[S C»õ£® AÁºPÎß C¸¨¦{ø» 
¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

Phß öPõkzuÁºPÒ 14,000 £À÷ÁÖ 
ö\õzxUPÒ 

40,000

P Cß •uÀ 10,000  

Q Cß •uÀ 10,000  

R Cß •uÀ 6,000  

 40,000  40,000

  ö\õzxUPÒ £n©õUP¨£mhx ¹.35,500. 
PhÚõÎPÐUS •Êø©¯õP £n® ÁÇ[P¨£mhx. 
wºÄ ö\»ÄPÒ ¹.1,500. {ÖÁÚzvß wºÄ PnUøP 
u¯õº ö\´¯Ä®. 

15.  (a) What are the accounting procedure under fixed 
capital method? 

  {ø»¯õÚ ‰»uÚ •øÓ°ß RÌ PnUQ¯À 
|øh•øÓPÒ GßÚ? 

Or 

 (b) Following is the Balance Sheet of M/s. A, B and C 
who share profits and losses in the ratio of 2: 2:1. 

Liabilities  Assets  

Sundry Creditors 15,000 Cash in hand 2,000

Capital:  Sundry Debtors 12,000

A 15,000 Stock 22,000

B 12,000 Furniture 10.000

C 4,000  

 46,000  46,000
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  The firm was dissolved and assets were realised 
gradually. Rs.10,000 were received once, Rs.15,000 
another time and Rs.9,000 finally. Show how each 
installment is to he paid. 

  A, B  ©ØÖ® C Cß C¸¨¦{ø»U SÔ¨¦ 
¤ßÁ¸©õÖ. 2:2:1  GßÓ ÂQuzvÀ C»õ£ 
|mh[PøÍ¨ £Qº¢x öPõÒQßÓÚ.  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

Phß 
öPõkzuÁºPÒ 

15,000 øP°À öμõUP® 2,000

•uÀ :  £À÷ÁÖ 
PhßPõμºPÒ 

12,000

A 15,000 £[S 22,000

B 12,000 ©μa\õ©õßPÒ 10,000

C 4,000  

 46,000  46,000

  {ÖÁÚ® Pø»UP¨£mhx ©ØÖ® ö\õzxUPÒ 
£i¨£i¯õP Enμ¨£mhÚ. ¹.10,000 J¸•øÓ 
ö£Ó¨£mhx. ©ØöÓõ¸ •øÓ ¹.15,000 ©ØÖ® 
CÖv¯õP ¹.9,000. JÆöÁõ¸ uÁøn²® GÆÁõÖ 
ö\¾zu¨£h ÷Ásk® Gß£øuU PõmkP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. What are the contents of a partnership deed? 

 Tmhõsø© £zvμzvß EÒÍhUP[PÒ GßÚ? 
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17. Vetri and Ranjit are partners, sharing profits in the ratio 
of 3:2. Their balance sheet as on 31st December 2017 is as 
under: 

Liabilities Rs. Assets Rs. 

Capital accounts :  Furniture 25,000

Vetri 30,000  

Ranjit 20,000  

Reserve fund 5,000 Stock 20,000

Sundry creditors 45,000 Debtors 10,000

  Cash in hand 35,000

  Profit and loss 
A/c (loss) 

10,000

 1,00,000  1,00,000

 On 1.1.2018, they admit Suriya into their firm as a 
partner on the following arrangements. 

 (i) Suriya brings Rs.10,000 as capital for 1/4 share of 
profit. 

 (ii) Stock to be depreciated by 10% 

 (iii) Debtors to be revalued at Rs.7,500. 

 (iv) Furniture to be revalued at Rs.40,000. 

 (v) There is an outstanding wages of Rs.4,500 not yet 
recorded. 

 Prepare revaluation account, partners’ capital account 
and the balance sheet of the firm after admission.  

 öÁØÔ ©ØÖ® μg]z TmhõÎPÒ, C»õ£zøu 3:2 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. 31 i\®£º 2017 CÀ 
EÒÍ AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ: 
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ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

‰»uÚ PnUSPÒ:  ©μa\õ©õßPÒ 25,000

öÁØÔ 30,000  

μg]z 20,000  

öÁØÔ 5,000 \μUQ¸¨¦ 20,000

μg]z 45,000 PhÚõÎPÒ 10,000

  øP°À öμõUP® 35,000

  C»õ£® ©ØÖ® 
|èh® PnUS 
(|èh®) 

10,000

 1,00,000  1,00,000

 1.1.2018 AßÖ, ¤ßÁ¸® HØ£õmiß ÷£›À `º¯õøÁ 
TmhõÎ¯õP u[PÒ {ÖÁÚzvÀ ÷\ºzxU öPõshÚº. 

 (i) C»õ£zvÀ 1/4 £[SUS `›¯õ 10,000 ‰»uÚ©õPU 
öPõsk Á¸QÓõº. 

 (ii) \μUQ¸¨¦ 10%  SøÓUP¨£k®. 

 (iii) PhÚõÎPÒ 7,500 BP ©Ö©v¨¥k ö\´¯¨£h 
÷Ásk®. 

 (iv) ©μa\õ©õßPÒ ¹.40,000US ©Ö©v¨¥k 
ö\´¯¨£k®. 

 (v) ¹.4,500 {¾øÁ°À EÒÍ Fv¯® CßÝ® £vÄ 
ö\´¯¨£hÂÀø».  

 ©Ö©v¨¥mkU PnUS, TmhõÍºPÎß ‰»uÚU PnUS 
©ØÖ® {ÖÁÚzvß C¸¨¦{ø» BQ¯ÁØøÓa 
÷\ºUøPUS¨ ¤ÓS u¯õº ö\´¯Ä®. 

18. Distinction between Sacrificing Ratio and Gaining Ratio. 

 v¯õP ÂQu® ©ØÖ® Buõ¯ ÂQu® Cøh÷¯ EÒÍ 
÷ÁÖ£õmøh ÂÍUSP. 
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19. Ram, Rahim and Suresh share profits in the ratio 3: 2: 1. 
On 31.12.94, their Balance Sheet was as follows: 

Liabilities Rs. Assets Rs. 

Creditors 12,000 Machinery 25,000

General Reserve 3,000 Stock 11,000

Capital:  Debtors 9,500

Ram 20,000 Goodwill 13,000

Suresh 10,000 Cash 1,500

Rahim 15,000  

 60,000  60,000

  On the above date, the firm was dissolved. The 
assets except cash realized Rs.60,000. The Creditors 
were settled at Rs.11,500. Dissolution expenses 
amounted to Rs.800. Give necessary ledger A/cs. 

  μõ®, μï® ©ØÖ® _÷μè BQ÷¯õº C»õ£zøu 3:2:1 
GßÓ ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. 31.12.94 
AßÖ, AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

Phß öPõkzuÁºPÒ 12,000 C¯¢vμ[PÒ 25,000
ö£õx C¸¨¦ 3,000 \μUQ¸¨¦ 11,000
‰»uÚ® :  PhÚõÎPÒ 9,500
μõ® 20,000 ÁoP |Øö£¯º 13,000
_÷μè 10,000 £n® 1,500
μï® 15,000  

 60,000  60,000
 ÷©ØPsh ÷uv°À, {ÖÁÚ® Pø»UP¨£mhx. öμõUP® 

uÂμ ö\õzxUPÒ 60,000 PhÚõÎPÒ 11,500 CÀ 
wºUP¨£mhÚº. Pø»¨¦ ö\»ÄPÒ ¹.800. ÷uøÁ¯õÚ 
÷£÷μmk PnUSPøÍ u¯õ›UPÄ®. 

20. What do you understand by piecemeal distribution? 
Explain its different methods. 

 ]Ôx ]ÔuõP £Qº¢uÎ¨¦ P/S £ØÔ }[PÒ GßÚ ¦›¢x 
öPõÒQÕºPÒ Auß öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

———————— 
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E-COMMERCE AND INTERNET 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is meant by E-Commerce? 

ªßÁºzuP® GßÓõÀ GßÚ? 

2. What is meant by ‘Business to Business’? 

ÁoPzv¼¸¢x ÁoP® GßÓõÀ GßÚ? 

3. Give the meaning of EPS. 

ªßÚg\À £n® ö\¾zx® •øÓ°ß ö£õ¸Ò u¸P. 

4. Given the meaning of digital tokens. 

iâmhÀ ÷hõUPß Gß£uß ö£õ¸Ò u¸P. 

5. What are the Digital documents? 

ªß©¯©õUP¨£mh BÁn[PÒ GßÓõÀ GßÚ? 

6. Expand SCM. 

Gì ] G® Gß£uß Â›ÁõUP® TÖP. 
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7. What is ISP? 

I Gì ¤ GßÓõÀ GßÚ? 

8. What is FTP? 

G¨ j ¤ GßÓõÀ GßÚ? 

9. What do you mean by E-Mail? 

ªßÚg\À Gß£uß ö£õ¸Ò TÖP. 

10. What do you understand by Search Engine? 

÷ukö£õÔ ‰»® GßÚ ¦›¢x öPõÒQßÓõ´? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the applications of E-Commerce? 

   ªß ÁoPzvß £¯ß£õkPøÍ ÂÁõv. 

Or 

 (b) Explain the components of I Way. 

   AvÁøμÄ uPÁÀ ÷\ª¨¦ •øÓPøÍ ÂÍUSP. 

12. (a) List down the benefits of hypertext publishing. 

   ªøP Cøn¨¦ öÁÎ±miß |ßø©PøÍ 
£mi¯¼kP. 

Or 

 (b) Discuss the risks in EPS.  

   ªßÚg\À £n® ö\¾zx®÷£õx HØ£k® 
B£zxPøÍ ÂÁõv. 
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13. (a) Distinguish between e-Commerce and WWW. 

   ªßÁºzuPzvØS® E»P AÍÄ Áø»PÐUS® EÒÍ 
÷ÁÖ£õkPøÍ TÖP. 

Or 

 (b) Write a short note on supply chain management? 

   Â{÷¯õP \[Q¼ ÷©»õsø© £ØÔ ]Ö SÔ¨¦ 
ÁøμP. 

14. (a) Explain the different ways of internet connections. 

   Cøn¯ Cøn¨¤ß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP. 

Or 

 (b) List out the advantages of Internet protocols. 

   Cøn¯ ö|Ô•øÓ°ß |ßø©PøÍ £mi¯¼kP. 

15. (a) Write short notes on ISP. 

   Cøn¯ Cøn¨¦ ÷\øÁ ÁÇ[S£Áº £ØÔ SÔ¨¦ 
ÁøμP. 

Or 

 (b) Discuss web page Protocols. 

   Cøn¯ £UP ö|Ô•øÓ £ØÔ ÂÁõv. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the evaluation of E-Commerce. 

ªßÚq ÁoPzvß £›nõ© ÁÍºa]ø¯ ÂÍUSP. 

17. Discuss the process of supply chain management. 

Â{÷¯õP \[Q¼ ÷©»õsø© ö\¯À•øÓ £ØÔ ÂÁõv. 
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18. Explain the EDI software implementation in different 
layers. 

C i I ö©ßö£õ¸Ò ö\¯À£kzxÁvß £À÷ÁÖ 
AkUSPøÍ ÂÍUSP. 

19. Discuss the various topologies of network. 

Áø»uÍzvß £À÷ÁÖ ÁiÁ[PøÍ £ØÔ ÂÁõv. 

20. Explain the different types of Web browsers.  

Cøn¯ E»õÂPÎß öÁÆ÷ÁÖ ÁøPPøÍ ÂÍUSP. 

 

 
———————— 
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C++ PROGRAMMING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. How do you define C++? 

 C++ I G¨£i Áøμ¯Ö¨£x? 

2. What is inline function? 

 Cßø»ß ö\¯À£õk GßÓõÀ GßÚ? 

3. What is an array?  

 Á›ø\ GßÓõÀ GßÚ? 

4. What is returning objects? 

 Returning objects GßÓõÀ GßÚ? 

5. What is destructor? 

 iìmμUhº GßÓõÀ GßÚ? 

6. Why do we need a copy constructor in C++? 

 C++ CÀ |PÀ PßìmμUhº Hß ÷uøÁ? 
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7. What is binary operator and its example? 

 ø£Ú› B£÷μmhº ©ØÖ® Auß Euõμn® GßÚ? 

8. What is virtual base class? 

 ö©´{Pº Ai¨£øh ÁS¨¦ GßÓõÀ GßÚ? 

9. How virtual function works in C++? 

 C++ CÀ ö©´{Pº ö\¯À£õk GÆÁõÖ ö\¯À£kQÓx? 

10. List down the stream classes with console operation. 

 Pß÷\õÀ ö\¯À£õmkhß ìmŸ® ÁS¨¦PøÍ 
£mi¯¼hÄ®. 

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain call by reference with example. 

   SÔ¨¦ ‰»® AøÇUS® •øÓø¯ Euõμnzxhß 
ÂÍUPÄ®. 

Or 

 (b) What are the benefits of OOPS in C++? 

   C++ CÀ OOPS Cß |ßø©PÒ GßÚ? 

12. (a) Write a short notes on attributes and method of 
class. 

   £s¦UTÖPÒ ©ØÖ® ÁS¨¤ß •øÓ £ØÔ¯ ]Ö 
SÔ¨¦PøÍ GÊx[PÒ. 

Or 

 (b) What is array of object and give an example?  

   ö£õ¸Îß Á›ø\ GßÓõÀ GßÚ? Euõμn® 
öPõk[PÒ. 
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13. (a) What is copy constructor with example? 

   Euõμnzxhß |PÀ Pmhø©¨£õÍº GßÓõÀ GßÚ? 

Or 

 (b) How many arguments a default constructor has? 

   C¯À¦{ø» Pmhø©¨£õÍ›h® GzuøÚ Áõu[PÒ 
EÒÍÚ? 

14. (a) Explain type conversion with example? 

   ÁøP ©õØÓzøu Euõμnzxhß ÂÍUSP. 

Or 

 (b) Explain String handling Functions. 

   String øP¯õÐuÀ ö\¯À£õkPøÍ ÂÍUS[PÒ. 

15. (a) Explain the concept of pointer to derived class? 

   ö£Ó¨£mh ÁS¨¤ØS pointer P¸zøu ÂÍUSP. 

Or 

 (b) Explain the types of stream classes are there in 
C++? 

   C++ CÀ EÒÍ ìmŸ® ÁS¨¦PÎß ÁøPPøÍ 
ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain structure of C++ program with example? 

 C++ {μ¼ß Pmhø©¨ø£ Euõμnzxhß ÂÍUSP. 

17. Explain about friend function and friend class with 
suitable example. 

Friend function ©ØÖ® friend class £ØÔ ö£õ¸zu©õÚ 
Euõμnzxhß ÂÍUPÄ®. 
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18. What is Constructor? Explain different types of 
constructors with examples. 

PßìmμUhº GßÓõÀ GßÚ? £À÷ÁÖ ÁøP¯õÚ 
Pmhø©¨£õÍºPøÍ GkzxUPõmkPÐhß ÂÍUPÄ®. 

19. Explain operator overloading with suitable example of 
Overloading for unary Operators. 

B£÷μmhºPÐUS KÁº÷»õi[Qß ö£õ¸zu©õÚ 
Euõμnzxhß B£÷μmhº KÁº÷»õi[øP ÂÍUPÄ®. 

20. What is Pointer? Discuss how pointers are used with 
arrays, structures and functions?  

Pointer GßÓõÀ GßÚ? Á›ø\PÒ, Pmhø©¨¦PÒ ©ØÖ® 
ö\¯À£õkPÐhß Pointers GÆÁõÖ 
£¯ß£kzu¨£kQßÓÚ Gß£øu¨ £ØÔ ÂÁõvUPÄ®. 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define contract Account. 

 J¨£¢uU PnUøP Áøμ¯ÖUPÄ®. 

2. What do you mean by work certified? 

 \õßÓÎUP¨£mh ÷Áø» Gß£uß Aºzu® GßÓõÀ GßÚ? 

3. What is royalty? 

 E›ø©z öuõøP GßÓõÀ GßÚ? 

4. Who is a lessor? 

 SzuøPUS Âk£Áº ¯õº? 

5. List out any two features of higher purchase system. 

 ÁõhøPU öPõÒ•uÀ Aø©¨¤ß H÷uÝ® Cμsk 
A®\[PøÍ £mi¯¼kP. 

6. What is down payment? 

 öuõhUPzvÀ ö\¾zx® öuõøP GßÓõÀ GßÚ? 
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7. Who is insolvent? 

 vÁõ»õÚÁº ¯õº? 

8. Who is unsecured creditors? 

 £õxPõ¨£ØÓ PhÜ¢÷uõº ¯õº? 

9. What is inter – departmental transfers? 

 xøÓPÐUQøh÷¯¯õÚ Ch©õØÓ[PÒ GßÓõÀ GßÚ? 

10. What is a goods in transit? 

 £¯n \μUS GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The following is the summary of transactions as on 

31-12-91, relating to a special contract completed 

during the year. 

Materials bought from the market  1,500

Materials issued from the stores 500

Wages 2,440

Direct expenses 294

Works on cost – 25% of direct wages  

Office on cost – 10% of prime cost  

Contract price – Rs. 6,000  

  You are required to prepare a contract a/c keeping 

in view that material returned amounted to Rs. 240. 
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   31-12-91 AßÖ |h¢u £›ÁºzuøÚPÎß _¸UP®, 
©ØÖ® A¢u BsiÀ •iUP¨£mh ]Ó¨¦ J¨£¢u® 
öuõhº£õÚx. 

\¢øu°À C¸¢x Áõ[P¨£k® ö£õ¸mPÒ  1,500

PøhPÎÀ C¸¢x ÁÇ[P¨£k® ö£õ¸mPÒ  500

T¼PÒ 2,440

÷|μi ö\»ÄPÒ 294

÷Áø»PÒ Âø»°À – ÷|μi Fv¯zvÀ 25%  

A¾Á»P ö\»ÂÀ – ¤μuõÚ ö\»ÂÀ 10%   

J¨£¢u Âø» – ¹. 6,000  

   ¹. 240 ©v¨¦ÒÍ ö£õ¸mPÒ v¸®£ AÎUP¨£mhx 
Gß£uß Ai¨£øh°À J¨£¢u P/S u¯õº ö\´P. 

Or 

 (b) How do you show ‘work-in-progress’ in contract 
account? 

   J¨£¢uU PnUQÀ |øhö£Ö® ÷Áø» Gß£øu 
GÆÁõÖ PõmkÁx? 

12. (a) Ravi took a colliery on lease. The dead rent was  
Rs. 750 a year, merging into a royalty of 35 paise 
per tonne of coal raised, with the right to recover 
short workings out of royalties of two subsequent 
years from the period in which the short workings 
arose. The outputs raised were: 

  Ist year – 1,000 tonnes, 

  IInd year – 1,500 tonnes, 

  IIIrd year – 2,500 tonnes, 

  IVth year – 1,500 tonnes 

  Vth year – 1,000 tonnes 

  Give necessary short workings ledger A/cs for each 
of the five years in the books of Ravi. 
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   μÂ J¸ öPõ½›ø¯ SzuøPUS Gkzuõß. J¸ 
Á¸hzvØS •h[Q¯ ÁõhøP ¹. 750 BP C¸¢ux. 
Cx J¸ hß {»UP›US 35 ø£\õ E›ø©z 
öuõøP²hß CønUP¨£mhx. SøÓ EØ£zv «m¦ 
÷uõßÔ¯ Põ»zv¼¸¢x Cμsk Akzukzu 
BskPÎÀ E›ø©zöuõøP°À C¢x SøÓ EØ£zv 
«möhkUS® E›ø©²hß E¯ºzu¨£mh EØ£zvPÒ 
R÷Ç öPõkUP¨£mkÒÍÚ. 

  Ist B® Bsk – 1,000 hßPÒ, 

  IInd B®Bsk – 1,500 hßPÒ, 

  IIIrd  B® Bsk – 2,500 hßPÒ, 

  IVth B® Bsk – 1,500 hßPÒ, 

   Vth 
Áx Bsk – 1,000 hßPÒ 

   μÂ°ß ¦zuP[PÎÀ JÆöÁõ¸ I¢x 
Á¸h[PÐUS® ÷uøÁ¯õÚ SøÓ EØ£zv «m¦ 
÷£÷μk PnUøP öPõkUPÄ®. 

Or 

 (b) Write short note on short workings suspense 
Account.  

   SøÓ EØ£zv «m¦ AÚõ©zxU PnUS £ØÔ ]Ö 
SÔ¨ø£ u¸P. 

13. (a) On 1st January, Ram purchased a machine on Hire 
purchase under a Hire Purchase Agreement which 
provided for an initial payment of Rs. 20,000 and 
the balance in 3 annual installments of Rs. 20,000 
each. The cash price of the machine is Rs. 60,000, 
Calculate the amount of Interest included in each 
installment. 

   áÚÁ› 1B® ÷uv, μõ® J¸ C¯¢vμzøu ÁõhøP 
Áõ[S® ÷£õx ÁõhøP öPõÒ•uÀ J¨£¢uzvß RÌ 
Áõ[QÚõº, Cx Bμ®£UPmh©õP ¹. 20,000 ©ØÖ® 
«vø¯ 3 Bsk uÁønPÎÀ ¹. u»õ ¹. 20,000. 
C¯¢vμzvß öμõUP Âø» ¹. 60,000 öPõkzx 
Áõ[QÚõº. JÆöÁõ¸ uÁøn°¾® 
÷\ºUP¨£mkÒÍ Ámiz öuõøPø¯U  PnUQkP. 

Or 



F–0200 

  

  5

 (b) Mr. A purchased a machine on hire purchase basis. 
The cash price of the machine was Rs. 18,000. As 
per the terms, the buyer had to pay Rs. 4,000 on 
signing the agreement and the balance in four 
installments of Rs. 4,000 each, payable at the end of 
each year. Calculate the interest chargeable at the 
end of each year. 

   v¸. G J¸ C¯¢vμzøu ÁõhøP öPõÒ•uÀ 
Ai¨£øh°À Áõ[QÚõº. C¯¢vμzvß öμõUP Âø» 
¹.18,000. Âv•øÓPÎß£i Áõ[S£Áº J¨£¢uzvÀ 
øPö¯õ¨£ªmhÄhß ¹. 4,000 ©ØÖ® «u•ÒÍ 
|õßS uÁønPÎÀ ¹. 4,000, JÆöÁõßÖ® 
JÆöÁõ¸ Bsk •iÂ¾® ö\¾zu¨£k®. 
JÆöÁõ¸ Bsk •iÂ¾® Á`¼UP¨£k® 
Ámiø¯U PnUQkP. 

14. (a) What is statement of affairs? How does it differ 
from balance sheet? 

   ÂÁPõμ AÔUøP GßÓõÀ GßÚ? C¸¨¦{ø»U 
SÔ¨¤¼¸¢x Cx GÆÁõÖ ÷ÁÖ£kQÓx? 

Or 

 (b) Find out preferential creditors according to 
Presidency Towns Insolvency Act from the following 
information of Mr. Reckless. Insolvency petition has 
been filed on Jan. 1, 1994. His creditors are as 
under: 

  (i)  Salary of 4 clerks of Rs. 400 per month each 
for the last two months 

  (ii)  Salary of another one clerk for the months of 
August and September 1993 @ Rs. 150 p.m. 

  (iii)  Wages of a labourer for 20 days of the month 
of Dec. 1993 Rs. 120. 

  (iv)  Salary of manager for the month of Dec. 1993 
Rs. 1,000. 
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  (v)  Rent payable to landlord for Nov. and Dec. 
1993 @ Rs. 400 p.m. 

  (vi)  House tax payable Rs. 500. 

  (vii)  Water and electricity dues Rs. 250. 

  (viii) Amount payable to a worker under workmen’s 
compensation Act Rs. 400. 

  (ix)  Interest payable on loan taken from I.O.B  
Rs. 1,000. 

  (x)  Due for Sales tax Rs. 2,500 and Income tax  
Rs. 3,800. 

  (xi)  Private Creditors Rs. 2,000 which includes  
Rs. 500 for rates of his house property. 

   v¸. öμUö»ì Gß£Á›ß ¤ßÁ¸® uPÁÀPÎÀ 
C¸¢x ¤μ]öhß] hÄßì ö|õi¨¦{ø» 
\mhzvß£i •ßÝ›ø© Phß ÁÇ[S|ºPøÍU 
PshÔ¯Ä®. áÚÁ› 1, 1994 AßÖ vÁõ»õ {ø» 
©Ý uõUPÀ ö\´¯¨£mhx. AÁμx PhÚõÎPÒ 
¤ßÁ¸©õÖ : 

  (i)  4 GÊzuºPÎß \®£Í® ©õu® ¹. 400 Ph¢u 
Cμsk ©õu[PÍõP JÆöÁõßÖ®. 

  (ii)  BPìm ©ØÖ® ö\¨h®£º 1993 ©õu[PÎÀ 
©ØöÓõ¸ GÊzu›ß \®£Í® ¹. 150 p.m. 

  (iii)  i\®£º 1993 ©õuzvß 20 |õmPÐUS J¸ 
öuõÈ»õÎ°ß Fv¯® ¹. 120. 

  (iv)  i\®£º 1993 ©õuzvØPõÚ ÷©»õÍ›ß \®£Í® 
¹. 1,000. 

  (v)  |Á®£º ©ØÖ® i\®£º 1993CÀ {» 
E›ø©¯õÍ¸US ö\¾zu ÷Ási¯ ÁõhøP  
¹. 400 p.m. 

  (vi)  ö\¾zu ÷Ási¯ Ãmk Á› ¹. 500. 

  (vii)  uspº ©ØÖ® ªß\õμ £õUQPÒ ¹. 250. 
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  (viii) öuõÈ»õÍº CÇ¨¥k \mhzvß RÌ J¸ 
öuõÈ»õÎUS ö\¾zu ÷Ási¯ öuõøP  
¹. 400. 

  (ix)  I.O.B C¼¸¢x GkUP¨£mh PhÝUS ö\¾zu 
÷Ási¯ Ámi ¹. 1,000. 

  (x)  ÂØ£øÚ Á› ö\¾zu ÷Ási¯ öuõøP ¹. 
2,500 ©ØÖ® Á¸©õÚ Á› ¹. 3,800. 

   (xi)  uÛ¯õº Phß ÁÇ[S£ÁºPÒ ¹.  2,000 CvÀ 
¹. 500. AÁμx Ãmka ö\õzvß Âø»US. 

15. (a) What are the departmental accounts? Explain their 
advantages. 

   xøÓ\õº PnUSPÒ GßÓõÀ GßÚ? AÁØÔß 
|ßø©PøÍ ÂÍUSP. 

Or 

 (b) The following information relates to Madurai 
branch Prepare Branch account for the year 1994. 

 Rs. Rs. 

Stock on 1.1.94 11,200

Branch debtors on 1.1.94 6,300

Goods sent to Branch 51,000

Cash sent to Branch for: 

Rent 1,500

Salaries 3,000 5,000

Petty Cash 500

Sales at branch: 

Cash 25,000

Credit 39,000 64,000

Cash received from Debtors  41,200

Stock on 31.12.94  13,600
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   ¤ßÁ¸® uPÁÀPÒ ©xøμ QøÍ öuõhº£õÚx. 
1994B® BsiØPõÚ QøÍU PnUøPz u¯õ›UPÄ®. 

 ¹. ¹. 

1.1.94 AßÖ \μUQ¸¨¦ 11,200

1.1.94 AßÖ QøÍ PhÚõÎPÒ 6,300

ö£õ¸mPÒ QøÍUS AÝ¨£mhx 51,000

QøÍUS £n® AÝ¨£¨£mhx 

ÁõhøP 1,500

\®£Í® 3,000 5,000

]À»øÓ öμõUP® 500

QøÍ°À ÂØ£øÚ : 

öμõUP® 25,000

Phß  39,000 64,000

PhÚõÎPÎhª¸¢x ö£Ó¨£mh £n® 41,200

31.12.94 AßÖ \μUQ¸¨¦  13,600

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following particulars relating to contract ‘A’ are 
obtained at the year end. Date of commencement April 1. 

Contract price 6,00,000

Materials delivered direct to site 1,20,000

Materials issued from store 40,000

Materials returned to store 4,000

Materials at site, on Dec. 31 22,000

Direct labour 1,40,000

Direct expenses 60,000

Architect’s fees 2,000
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Establishment charges 25,000

Plant installed at cost 80,000

Value of plant on Dec. 31 65,000

Accrued wages on Dec. 31 10,000

Accrued expenses on Dec. 31 6,000

Cost of contract not yet certified 23,000

Value of contract certified 4,20,000

Cash received from contractee 3,78,000

Materials transferred to contract ‘B’ 9,000

 J¨£¢u® ‘A’ öuõhº£õÚ ¤ßÁ¸® ÂÁμ[PÒ Bsk 
CÖv°À ö£Ó¨£kQßÓÚ. H¨μÀ 1 öuõh[S® ÷uv.  

J¨£¢u Âø» 6,00,000
uÍzvØS ÷|μi¯õP ÁÇ[P¨£k® ö£õ¸mPÒ 1,20,000
Pøh°À C¸¢x ÁÇ[P¨£k® ö£õ¸mPÒ 40,000
ö£õ¸mPÒ ÷\ª¨¤ØS v¸®¤¯x 4,000

uÍzvÀ EÒÍ ö£õ¸mPÒ, i\®£º 31 AßÖ 22,000

÷|μi EøÇ¨¦ 1,40,000
÷|μi ö\»ÄPÒ  60,000
PmihU Pø»b›ß Pmhn® 2,000
ìuõ£ÚU Pmhn[PÒ 25,000
ö\»ÂÀ Bø» {ÖÁ¨£mhx 80,000

i\®£º 31 AßÖ Bø»°ß ©v¨¦ 65,000

i\®£º 31À \®£Í E¯ºÄ 10,000

i\®£º 31 AßÖ vμmh¨£mh ö\»ÄPÒ 6,000

J¨£¢uzvß Âø» CßÝ® \õßÓÎUP¨£hÂÀø» 23,000
J¨£¢uzvß ©v¨¦ \õßÓÎUP¨£mhx 4,20,000
J¨£¢uuõμ›hª¸¢x £n® ö£Ó¨£mhx 3,78,000

ö£õ¸mPÒ J¨£¢u® ‘B’US ©õØÓ¨£mhx 9,000
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17. Ram Tiles Industries Ltd. obtained a lease of land from 
Landlord for the period of four year. From 1st January 
1987, paying a minimum rent of Rs. 8,000 per annum, 
merging into a Royalty of 50 paise per ton of clay raised. 
The lease contains a clause to the effect that if the 
minimum Rent paid in any year exceeds the Royalty for 
the year, the amount of excess can be recouped by the 
Lessee out of the Royalty payable in the following year 
only. Clay is raised as follows: 

 1987 – 2,000 tons 

 1988 – 10,000 tons 

 1989 – 20,000 tons 

 1990 – 32,000 tons 

 Give the journal entries necessary to record these 
transactions in the books of the lessee and also show the 
ledger account, including minimum rent account. 

μõ® øhÀì CshìmŸì ¼ªöhm, 1987 áÚÁ› 1 •uÀ 
|õßS BskPÐUS {» E›ø©¯õÍ›hª¸¢x 

SøÓ¢u£m\ ÁõhøP¯õP ¹. 8,000, ö\¾zv {»zøu 
SzuøPUS Gkzux. BskUS J¸ hß PÎ©sqUS  

50 ø£\õ E›ø©zöuõøP²hß CønUP¨£kQÓx. 
SzuøP°À G¢u Á¸hzv¾® ö\¾zu¨£k® SøÓ¢u£m\ 
ÁõhøP A¢u BsiØPõÚ E›ø©zöuõøP²hß Âh 
AvP©õP C¸¢uõÀ, Akzu BsiÀ ©mk÷© ö\¾zu 
÷Ási¯ E›ø©zöuõøP²hß C¸¢x TkuÀ öuõøPø¯ 
SzuøPuõμμõÀ v¸®£¨ ö£Ó •i²®. ¤ßÁ¸©õÖ : 

 1987 – 2,000 hßPÒ 

 1988 – 10,000 hßPÒ 

 1989 – 20,000 hßPÒ 

1990 – 32,000 hßPÒ 

C¢u £›ÁºzuøÚPøÍ SzuøPuõμ›ß ¦zuP[PÎÀ £vÄ 
ö\´¯ ÷uøÁ¯õÚ SÔ¨÷£kPøÍ²® SøÓ¢u£m\ ÁõhøP 
PnUS Em£h ÷£÷μkPøÍ²® PnUøP²® PõmhÄ®. 
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18. Distinguish between hire purchase system and 
instalment purchase system. 

ÁõhøP öPõÒ•uÀ •øÓ ©ØÖ® uÁøn •øÓ 
öPõÒ•uÀ •øÓ BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

19. Mr. X is insolvent. He supplies to you the following 
information as on 31.12.92. 

Cash in hand  1,000

Creditors for goods 5,25,000

Salary due to clerks 7,000

Taxes due to Government 21,000

Bank loan secured by lien on stock of the book value of 
Rs. 3,50,000 1,75,000

Furniture (Expected to realise Rs.  35,000) 70,000

Stock (Expected to realise 60%) 5,25,000

Book debts (good) 70,000

Book debts (doubtful, expected to realise 40%) 1,75,000

Bills receivable (Rs. 52,500 bad) 87,500

Bills discounted (Rs. 35,000 bad) 1,05,000

Loan from Mrs. ‘X’ 1,75,000

 Mr. ‘X’ started business six years ago with a capital of  
Z 4,37,500. He drew Rs. 87,500 each year for private 
purposes but did not maintain proper books of accounts. 
Mrs. ‘X’ gave up her jewellery valued at Rs. 70,000 to the 
receiver. Prepare the statement of affairs and Deficiency 
account. 

 v¸. ‘GUì’ vÁõ»õÚ AÁº 31.12.92 AßÖ ¤ßÁ¸® 
uPÁø» E[PÐUS ÁÇ[SQÓõº. 
øP°À öμõUP® 1,000

ö£õ¸mPÐUS PhÜ¢÷uõº 5,25,000

GÊzuºPÐUS ÁÇ[P ÷Ási¯ \®£Í® 7,000

Aμ_US Á›PÒ 21,000



F–0200 

  

  12

¦zuP ©v¨¦ ¹. 3,50,000 1,75,000

©μa\õ©õßPÒ (¹. 35,000 QøhUS® GÚ  

Gvº£õºUP¨£kQÓx) 70,000

\μUQ¸¨¦ (60% QøhUS® GÚ Gvº£õºUP¨£kQÓx) 5,25,000

¦zuPU PhßPÒ (|À»x) 70,000

¦zuPU PhßPÒ (\¢÷uP®, 40% QøhUS®  

GÚ Gvº£õºUP¨£kQÓx) 1,75,000

ö£ÓzuUP ¤ÀPÒ (¹. 52,500 ÷©õ\©õÚx) 87,500

PnUQh¨£mh ¤ÀPÒ (¹. 35,000 ÷©õ\©õÚx) 1,05,000

v¸©v, ‘GUì’Chª¸¢x Phß 1,75,000

 v¸©v, ‘GUì’ {ÖÁÚ® BÖ BskPÐUS •ß¦  
¹. 4,37,500. AÁº ¹. 87,500 uÛ¨£mh ÷|õUP[PÐUPõP 
JÆöÁõ¸ Bsk® \›¯õÚ PnUS ¦zuP[PøÍ 
£μõ©›UPÂÀø». v¸©v, ‘GUì’ uÚx ¹. 70,000. 
©v¨¦ÒÍ |øPPøÍ ÂmkUöPõkzuõº. ö£Ö£Á¸US 
ÂÁPõμ[PÒ ©ØÖ® SøÓ£õk PnUS AÔUøPø¯z 
u¯õ›UPÄ®. 

20. Distinction between Branch account and Departmental 
Accounts.  

 QøÍ PnUS ©ØÖ® xøÓ PnUSPÐUS Cøh÷¯ EÒÍ 
÷ÁÖ£õmøh ÂÍUSP.  

 

 

 
———————— 
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B.Com. (CA) DEGREE EXAMINATION,  
NOVEMBER 2023. 

Fourth Semester 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Calculate Simple interest on Rs. 9,000 at 5% per annum 
for 4 years. 

 A\À ¹. 9,000 «x 4 BskUS 5% ÃuzvÀ \õuõμn Ámi 
©v¨¤kP. 

2. If a person saves Rs. 300 p.a Compound interest for 10 
years. Find the amount he gets. 

 J¸ |£º ¹. 300 p.a Tmk Ámiø¯ 10 BskPÐUS 
÷\ªzuõÀ. AÁº ö£Ö® öuõøPø¯U PshÔ¯Ä®. 

3. What is Antilogarithms? 

 Gvº AkUS‰»® •μs©hUøP GßÓõÀ GßÚ? 

4. Find the value of log4 1025. 

 log4 1025 Cß ©v¨ø£U PshÔ¯Ä®. 

5. What is Null set? 

 £¯ÛÀ»õu Pn[PÒ GßÓõÀ GßÚ? 

Sub. Code 
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6. If A  = {1, 3,4, 5} and B = {1, 7,8, 10} Find A ∪ B and  
A ∩ B. 

 A  = {1, 3,4, 5} ©ØÖ® B = {1, 7,8, 10} GÛÀ A ∪ B ©ØÖ® 
A ∩ B IU PshÔ¯Ä®. 

7. Define probability. 

 {PÌuPøÁ Áøμ¯ÖUPÄ®. 

8. Give the meaning of Conditional Probability. 

 {£¢uøÚ {PÌuPÄ Gß£uß ö£õ¸øÍU TÓÄ®. 

9. Define Binominal theorem. 

 D¸Ö¨¦ ÷uõØÓzøu Áøμ¯ÖUPÄ®. 

10. Expand (a+ 2b)4. 

 Â›ÁõUP® ö\´P (a+ 2b)4: 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Find the compound interest for Rs. 7,500 for 3 ½ 
years at 5 ½ per annum. 

  BskUS 5 ½  Ãu® 3 ½ BskPÐUS ¹.7,500 
UPõÚ Tmk Ámiø¯U PshÔ¯Ä®. 

Or 

 (b) What should be the periodic payment of an annuity 
which is to accumulate to Rs. 2,000 in 10 payments 
if the interest is 5% Compounded annually? 

  Bsk÷uõÖ® Ámi 5% Tmh¨£mhõÀ, 10 
öPõk¨£ÚÄPÎÀ ¹. 2,000 Áøμ vμmh¨£k® 
BskPÎÀ ö\¾zxu¼ß Põ»•øÓ ö\¾zxuÀ 
GßÚÁõP C¸UP ÷Ásk®? 

12. (a) Explain what are the operations with logarithms. 

  ©hUøPPÐhß ö\¯À£õkPÒ GßÚ Gß£øu 
ÂÍUSP. 

Or 
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 (b) Prove that 

  
2
1

13log
11log

13log
11log

5

3

5

9 =÷ . 

  {¹¤zx PõsP. 

  
2
1

13log
11log

13log
11log

5

3

5

9 =÷  

13. (a) Using Venn Diagram verify  

  A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C). 

  A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C) öÁs 
Áøμ£hzøu¨ £¯ß£kzuÄ®. 

Or 

 (b) Explain what are the operations on Sets. 

  Pn[PÎÀ GßÚ ö\¯À£õkPÒ EÒÍÚ Gß£øu 
ÂÍUSP. 

14. (a) What is the probability of leap year selected random 
will contain 53 Sundays? 

  H÷uÝ® J¸ ½¨ Á¸hzøu ÷uº¢öukUQßÓ ÷£õx 
AÆÁ¸hzvÀ 53 bõ°ØÖUQÇø©PÒ C¸¨£uØPõÚ 
{PÌuPÂøÚU PõsP. 

Or 

 (b) Determine the binomial distribution for which the 
mean is 4 and variance 3. Also find P (X = 15). 

  \μõ\› 4 ©ØÖ® ©õÖ£õk 3 BQ¯ C¸ö\õØ £μÁø»z 
wº©õÛUPÄ®. ÷©¾® P (X = 15). IU PshÔ¯Ä®. 

15.  (a) Find the middle tem in the expansion ( )16
/4 xx − . 

  Â›ÁõUPzvÀ |kzuμ ©v¨¦ PõsP ( )16
/4 xx − . 

Or 

 (b) Find the term in the expansion of ( ) rxx 2/1+ . 

  Â›ÁõUPzvÀ ©v¨¦ PõsP ( ) rxx 2/1+ . 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Find the present value of Rs. 1,000 due in three years at 
6% compounded (a) quarterly (b) six monthly (c) yearly 
(d) When simple interest is considered. 

 ‰ßÖ BskPÎÀ {¾øÁ°À EÒÍ ¹. 1,000 Cß 
uØ÷£õøu¯ ©v¨ø£ 6% Tmk®÷£õx (A) Põ»õsk  
(B) Aøμ¯õsk (C) BskUS J¸ •øÓ (D) GÎ¯ 
Ámiø¯U PõsP. 

17. If log10 y = 6 log10x + 9 express y in term of x. 
 log10 y = 6 log10x + 9 öÁÎ¨£õk y GßÓõÀ x ß ©v¨ø£U 

PõsP. 

18. If X = {1, 2, 3, 4, 5, 6, 7, 8} is the universal set and  
A = {3, 4, 5}, B = {5, 7, 8}, C = {1, 2} are any sets Find  
(a) (A ∪ B)′, (b) (A ∩ C)′, (c) (B ∪ C)′.  

 X = {1, 2, 3, 4, 5, 6, 7, 8} Gß£x ö£õxÁõÚ Pn[PÒ 
©ØÖ® A = {3, 4, 5}, B = {5, 7, 8}, C = {1, 2} Gß£x 

H÷uÝ® Pn[PÒ, Psk¤i (A) (A ∪ B)′, (B) (A ∩ C)′,  
(C) (B ∪ C)′. 

19. Given below are the weekly wages (in Rs) of six workers 
in a factory. 62, 90, 78, 85, 79, 68 If two of these workers 
are selected at random to serve as representatives, what 
is the probability that at least one will get wages lower 
than the average? 
J¸ öuõÈØ\õø»°À BÖ öuõÈ»õÍºPÎß Áõμ Fv¯® 
(¹£õ°À) R÷Ç öPõkUP¨£mkÒÍx. 

 62, 90, 78, 85, 79, 68 C¢uz öuõÈ»õÍºPÎÀ C¸Áº 
¤μv{vPÍõP¨ £o¦›¯ uØö\¯»õPz 
÷uº¢öukUP¨£mhõÀ SøÓ¢u£m\® J¸Á¸US \μõ\›ø¯ 
ÂhU SøÓÁõÚ Fv¯® QøhUS® {PÌuPÄ GßÚ? 

20. Find the coefficient of 8x  in the expansion ( )102 /45 xx + . 

 Â›ÁõUPzvÀ 8x  Cß SnPzøuU PshÔ¯Ä® 

( )102 /45 xx + . 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define share. 
 £[øP Áøμ¯ÖUPÄ®. 

2. What do you mean by pro - rata allotment of shares? 
 £[SPÎß \õº¦ ÂQu JxURk GßÓõÀ GßÚ? 

3. What is meant by acquisition of business? 
 ÁoPzøu øP¯P¨£kzxuÀ GßÓõÀ GßÚ? 

4. What is time ratio? 
 ÷|μ ÂQu® GßÓõÀ GßÚ? 

5. What is meant by revenue from operations? 
 Á¸Áõ´ ö\¯À£õk GßÓõÀ GßÚ? 

6. What is balance sheet? 
 C¸¨¦{ø» SÔ¨¦ GßÓõÀ GßÚ? 

7. Define Amalgamation. 
 öuõÈÀ Cøn¨¦ Áøμ¯ÖUPÄ®. 
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8. What is purchase consideration? 
 öPõÒ•uÀ £›^»øÚ GßÓõÀ GßÚ? 

9. State the mode of winding up of company. 
 {ÖÁÚzøu ‰k® •øÓø¯U SÔ¨¤hÄ®. 

10. What is statement of affairs? 
 ÂÁμ AÔUøP GßÓõÀ GßÚ? 

 Part B (5 × 5 = 25) 
Answer all questions, choosing either (a) or (b). 

11. (a) Thai Ltd. issued 1,00,000 equity shares of Rs. 10 
each, payable Rs. 5 on application, Rs. 2 on 
allotment, Rs. 2 on first call and Rs. 1 on final call. 
All the shares are subscribed and amount was duly 
received. Pass journal entries. 

   uõ´ ¼ªöhm 1,00,000 •ßÝ›ø© £[SPøÍ u»õ 
¹. 10 ö\¾zv Âsn¨£zvÀ ¹.5 JxURmiÀ ¹.2 
•uÀ AøÇ¨¤À ¹.2 ©ØÖ® CÖv AøÇ¨¤ß ÷£õx 
¹.1 BQ¯ÁØøÓ öÁÎ°mhx. AøÚzx £[SPÐ® 
\¢uõ ö\¾zu¨£mhuõP SÔ¨÷£kPøÍ u¸P. 

Or 
 (b) Symcox Ltd., issued 75,000 equity shares of Rs. 10 

each and 5,000 Redeemable Preference Shares of 
Rs. 100 each all shares being fully called and paid 
up on 31-3-1992. Profit and Loss account showed 
undistributed profits of Rs. 3,00,000 and General 
Reserve stood at Rs. 2,50,000. On 1-4-1992, the 
directors decided to redeem the existing preference 
shares at Rs.105 utilizing as much profits as would 
be required for the purpose. You are required to 
pass journal entries in the books of the company. 

   ]®PõUì ¼ªöhm ¹.75,000 •ßÝ›ø© £[SPøÍ 
öÁÎ°mhx. u»õ 10 ©ØÖ® 5,000 
«möhkUPUTi¯ •ßÝ›ø©¨ £[SPÒ ¹. 100. 
31.3.1992. AøÚzx £[SPÐ® •Êø©¯õP 
AøÇUP¨£mk ö\¾zu¨£mhx. C»õ£® ©ØÖ® 
|èhU PnUS, ¤›zxUöPõkUP¨£hõu C»õ£® 
¹.3,00,000 ©ØÖ® ö£õx C¸¨¦ ¹.2,50,000. 
1.4.1992, C¯US|ºPÒ uØ÷£õxÒÍ •ßÝ›ø©¨ 
£[SPøÍ ¹.105 GÆÁÍÄ C»õ£® QøhUS÷©õ 
AÆÁÍÄ »õ£zøu¨ £¯ß£kzxQÓx. }[PÒ 
{ÖÁÚzvß ¦zuP[PÎÀ ÷uøÁ¯õÚ 
SÔ¨÷£kPøÍ u¸P. 
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12. (a) Give the entries to be passed by a company on 
purchase of running of a business. 

   J¸ ÁoPzøu Áõ[S®÷£õx J¸ {ÖÁÚ® ö\´¯ 
÷Ási¯ ÷uøÁ¯õÚ SÔ¨÷£kPøÍ u¸P. 

Or 

 (b) Raja Ltd., was incorporated on 1-7-94, which took 
over a running concern with effect from 1-1-94. The 
sales for the period upto 1-7-94 was Rs. 2,70,000 
and the sales form 1-7-94 to 31-12-94 amounted to 
Rs. 3,30,000.  

  The expenses debited to profit and loss account 
included : 

 Rs. 
(i)  Directors fees 15,000
 (ii)  Bad Debts 1,800
(iii)  Advertisement (Rs. 500 per month) 6,000
(iv)  Salaries and General Expenses 32,000
(v)  Preliminary expenses written off 3,000
The gross profit was (1.1.94 to 31.12.94) 2,40,000

Ascertain the profit prior to incorporation. 
   μõáõ ¼ªöhm, 1.7.94 AßÖ J¸[QønUP¨£mh 

£vÄØÓ J÷μ {ÖÁÚ©õP CønUP¨£mhx. Cx 
1.1.94 •uÀ GkzxU öPõshx. 1.7.94 Áøμ°»õÚ 
Põ»PmhzvÀ ÂØ£øÚ ¹.2,70,000 ©ØÖ® ÂØ£øÚ 
£iÁ® 1.7.94 •uÀ 31.12.94 Áøμ ¹.3,30,000.  

   C»õ£® ©ØÖ® CÇ¨¦U PnUQÀ £ØÖ øÁUP¨£k® 
ö\»ÄPÒ : 

 ¹. 

(i)  C¯US|ºPÎß Pmhn® 15,000

 (ii)  ÁõμõU PhßPÒ 1,800

(iii)  ÂÍ®£μ® (©õu® ¹. 500) 6,000

(iv)  \®£Í® ©ØÖ® ö£õxa ö\»ÄPÒ 32,000

(v)  Bμ®£ ö\»ÄPÒ uÒÐ£i 3,000

   ö©õzu C»õ£® (1.1.94 •uÀ 31.12.94 Áøμ) 
¹.2,40,000 Cøn¨£uØS •ß C»õ£zøuU 
PshÔ¯Ä®. 
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13. (a) Give the format of statement of profit and loss as 

per revised schedule VI. 

   v¸zu¨£mh AmhÁøn VI Cß £i C»õ£® ©ØÖ® 

|èh AÔUøP°ß ÁiÁzøu PshÔ¯Ä®. 

Or 

 (b) From the following balances, prepare the Balance 

Sheet of a Company in the prescribed format, 

Goodwill Rs. 1,50,000; Investments Rs. 2,00,000; 

Share capital Rs. 5,00,000; Reserves Rs. 1,10,000; 

Securities premium Rs. 15,000; Preliminary 

expenses Rs. 10,000; Profit and Loss A/c (Cr)  

Rs. 25,000: Debentures Rs. 2,50,000. Other fixed 

assets Rs. 4,70,000; Stock Rs. 80,000; Debtors  

Rs. 60,000; Bank balance Rs. 30,000; Unsecured  

loan Rs. 65, 000; Sundry creditors Rs. 35,000 

   ¤ßÁ¸® {¾øÁPÎÀ C¸¢x, £›¢xøμUP¨£mh 

ÁiÁzvÀ J¸ {ÖÁÚzvß C¸¨¦{ø»U SÔ¨ø£z 

u¯õ›UPÄ® ÁoP |Øö£¯º ¹.1,50,000; •u½kPÒ 

¹.2,00,000; £[S ‰»uÚ® ¹.5,00,000; øP°¸¨¦ 

¹.1,10,000; £zvμ[PÎß ¤Ÿª¯® ¹.15,000; Bμ®£ 

ö\»ÄPÒ ¹.10,000; C»õ£® ©ØÖ® CÇ¨¦ A/c (Cr) 

¹. 25,000; Phß £zvμ[PÒ ¹.2,50,000; ©ØÓ 

{ø»¯õÚ ö\õzxUPÒ ¹.4,70,000; £[S ¹.80,000; 

PhÚõÎPÒ ¹.60,000; Á[Q C¸¨¦ ¹.30,000; 

£õxPõ¨£ØÓ Phß ¹. 65,000; £À÷ÁÖ Phß 

ÁÇ[S£ÁºPÒ ¹. 35,000. 
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14. (a) Describe the methods of accounting for 
amalgamation. 

   Cøn¨¤ØPõÚ PnUQ¯À •øÓPøÍ ÂÁ›UPÄ®. 

Or 

 (b) X’ Co. Ltd. has the following shares as a part of its 
share capital 10,000 8 % preference shares of  
Rs. 100 each fully paid. 50,000 equity shares of  
Rs. 5 each fully paid 20,000 equity shares of Rs. 10 
each, Rs. 8 called up and paid up. The company has 
decided to alter the share capital as follows:  

  (i)  To sub - divide the preference shares into 
shares of Rs. 10 each.  

  (ii)  To consolidate the equity shares of Rs. 5 each 
into shares of Rs. 10 each. To convert the 
partly paid up equity shares into fully paid up 
shares of Rs. 8 each, with necessary legal 
sanctions. Journalize the alterations 

   GUì ‘÷Põ. ¼ªöhm Auß £[S ‰»uÚzvß J¸ 
£Sv¯õP ¤ßÁ¸® £[SPøÍU öPõskÒÍx 
10,000 8% •ßÝ›ø©¨ £[SPÒ JÆöÁõßÖ® ¹. 
100 •Êø©¯õP ö\¾zu¨£mhx. 50,000 
•ßÝ›ø©¨ £[SPÒ JÆöÁõßÖ® ¹. 5 
•Êø©¯õP ö\¾zu¨£mh 20,000 •ßÝ›ø©¨ 
£[SPÒ ¹. u»õ 10, ¹. 8 ÷£º AøÇzx £n® 
öPõkzuÚº. {ÖÁÚ® £[S ‰»uÚzøu ¤ßÁ¸©õÖ 
©õØÓ •iÄ ö\´xÒÍx : 

   (i) •ßÝ›ø©¨ £[SPøÍ ¹. 10 £[SPÍõP¨ 
¤›UP JÆöÁõßÖ®  

   (ii) •ßÝ›ø©¨ £[SPøÍ J¸[QønUP ¹. 5 
£[SPÍõP u»õ. JÆöÁõßÖ® ¹. 10 KμÍÄ 
ö\¾zu¨£mh •ßÝ›ø©¨ £[SPøÍ 
•Êø©¯õP ö\¾zv¯ £[SPÍõP ©õØÓ, u»õ 
¹. 8, ÷uøÁ¯õÚ ©õØÓ[PøÍ £vÄ ö\´¯Ä®. 
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15. (a) Explain Distinguish between statement of affairs 
and balance sheet. 

   ÂÁPõμ AÔUøPUS® C¸¨¦{ø» SÔ¨¦US® 
Cøh÷¯ EÒÍ ÷ÁÖ£õmøh ÂÍUPÄ®. 

Or 

 (b) From the following details ascertain unsecured 
creditors to be shown in statement of affairs : 

 Rs. 

Creditors for goods 80,000

Bills payable 8,000

Loan from Bank (unsecured) 20,000

Bank over draft 6,000

Loan on Security of Machinery 40,000

Estimated realizable value of Machinery 32,000

Contingent liabilities 31,000 (20% expected to 
rank)

 25,000 (10% expected to 
rank)

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x £õxPõ¨£ØÓ Phß 
ÁÇ[S|ºPÒ ÂÁPõμ[PÎß AÔUøP°À Põmh¨£h 
÷Ásk® Gß£øuU PshÔ¯Ä®. 

 ¹. 

ö£õ¸mPÐUS Phß öPõk¨£ÁºPÒ 80,000

ö\¾zu ÷Ási¯ ¤ÀPÒ 8,000

Á[Q°¼¸¢x Phß (£õxPõ¨£ØÓx) 20,000

Á[Q ªøP¨£ØÖ 6,000

C¯¢vμ £õxPõ¨¦ «uõÚ Phß 40,000

C¯¢vμ[PÎß «m¦ ©v¨¤h¨£mh ©v¨¦ 32,000

uØö\¯»õÚ ö£õÖ¨¦PÒ 31,000 (20% 
uμÁ›ø\¨£kzu¨£k® 

GÚ Gvº£õºUP¨£kQÓx)

 25,000 (10%
uμÁ›ø\¨£kzu¨£k® 

GÚ Gvº£õºUP¨£kQÓx)
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Shero Health Care Ltd. invited applications for 3,00,000 
equity shares of Rs. 10 each at a premium of Rs. 2 per 
share payable as follows : 

 Rs. 3 on application 

 Rs. 5 (including premium) on allotment 

 Rs. 4 on first and final call 

 There was over subscription and applications were 
received for 4,00,000 shares and the excess applications 
were rejected by the directors. All the money due were 
received. Pass the journal entries. 
ç÷μõ öíÀz ÷Pº ¼ªöhm, J¸ £[QØS ¹.2 
¤Ÿª¯zvÀ, RÌUPshÁõÖ ö\¾zu ÷Ási¯ 3,00,000 
DUÂmi £[SPÐUS u»õ ¹. 10 UPõÚ Âsn¨£[PøÍ 
AøÇzxÒÍx: 

Âsn¨£zvÀ ¹. 3 

JxURmiÀ ¹. 5 (¤Ÿª¯® Em£h). 

•uÀ ©ØÖ® CÖv AøÇ¨¤À ¹. 4 

\¢uõ AvP©õP C¸¢ux ©ØÖ® 4,00,000 £[SPÐUPõÚ 
Âsn¨£[PÒ ö£Ó¨£mhÚ ©ØÖ® AvP¨£i¯õÚ 
Âsn¨£[PÒ C¯US|ºPÍõÀ {μõP›UP¨£mhÚ. 
Áμ÷Ási¯ £n® AøÚzx® Qøhzux. }[PÒ 
{ÖÁÚzvß ¦zuP[PÎÀ ÷uøÁ¯õÚ SÔ¨÷£kPøÍ 
u¸P. 

17. Pankajam Mills Ltd., was incorporated on 31st July 1977 
to purchase the business of Hemalatha & Co., as on 1st 
April 1977. The books of accounts disclosed the following 
on 31st March 1978. 

 (a) Sales for the year Rs. 32,10,400 (1st April to  
31st July 77 Rs. 8,02,600 1st July 77 to 31st March  
1978 Rs. 24,07,800) 

 (b) Gross profit for the year Rs. 4,12,800; Managing 
Directors salary Rs. 12,000; Preliminary expenses 
written off Rs. 18,000. Company Secretary’s salary  
Rs. 58,000 
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(c) Bad debts written off Rs. 14,890 (prior to 31st July  
Rs. 4,020, after 31st July Rs.10,870) 

 (d) Depreciation on machinery Rs. 25,200; general 
expenses Rs. 51,000; Advertising Rs. 7,400; Interest 
on debentures Rs. 20,000. 

  You are required to prepare a statement 
apportioning properly the net profit of the company 
as between 

  (i) Profits available for distribution 

  (ii) Profits prior to incorporation. 

 £[Pá® ªÀì ¼ªöhm, 1977 B® Bsk H¨μÀ 1 B® 
÷uv¯ßÖ ÷í©»uõ ©ØÖ® ÷Põ.Âß ÁoPzøu 
Áõ[SÁuØPõP áüø» 31, 1977 CÀ CønUP¨£mhx. 
PnUS¨ ¦zuP[PÒ 31 ©õºa 1978 AßÖ 
¤ßÁ¸ÁÚÁØøÓ öÁÎ°mhÚ. 

 (A) BskUPõÚ ÂØ£øÚ ¹. 32,10,400 (H¨μÀ 1 •uÀ 

áüø» 31 ‘77 ¹.8,02,600; áüø» 1 ’77 •uÀ ©õºa 
31 1978 Áøμ ¹. 24,07,800) 

 (B) BskUPõÚ ö©õzu »õ£® ¹. 4,12,800; {ºÁõP 
C¯US|ºPÎß \®£Í® ¹. 12,000; Bμ®£ ö\»ÄPÒ 
uÒÐ£i ö\´¯¨£mh ¹. 18,000. {ÖÁÚ 
ö\¯»õÍ›ß \®£Í® ¹. 58,000.  

 (C) ÁõμõU PhßPÒ uÒÐ£i ¹. 14,890 (áüø» 31 US 
•ß ¹. 4,020, áüø» 31US¨ ¤ÓS ¹. 10,870) 

 (D) C¯¢vμ[PÒ «uõÚ ÷u´©õÚ® ¹. 25,200; ö£õx 
ö\»ÄPÒ ¹. 51,000; ÂÍ®£μ® ¹. 7,400; Phß 
£zvμ[PÒ «uõÚ Ámi ¹.20,000 

  Cøh°À {ÖÁÚzvß {Pμ »õ£zøu \›¯õP¨ ¤›zx 
J¸ AÔUøPø¯ }[PÒ u¯õ›UP ÷Ásk®. 

  (i) £Qº¢x AÎ¨£uØPõP QøhUS® C»õ£® 

  (ii) Cøn¨£uØS •¢øu¯ C»õ£® 
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18. The following Trial Balance of Nallis Ltd. as at 30th Dec. 
1998 is given to you : 

Debits Rs. Credits Rs. 

Stock (1.1.1998) 80,000 8,000 equity shares of Rs.100 
each, Rs. 75 paid 

6,00,000

Bank 17,600 6 % debentures 2,00,000

Patents 60,000 Sundry creditors 1,00,000

Calls-in- arrears 20,000 General reserve 80,000

Returns inwards 30,000 Sales 10,00,000

Purchases 7,72,000 Returns outward 20,000

Wages 1,08,000 P & L A/c (Cr) 12,000

Insurance prepaid 400   

Bills receivable 30,000   

Sundry debtors 80,000   

Discount on issue of 

debentures 

10,000   

Plant and Machinery 4,00,000   

Land and Buildings 3,00,000   

Insurance 4,000   

General expenses 40,000   

Establishment expenses 60,000   

 20,12,000  20,12,000

Additional information : 

 (a) The value of stock on 31st Dec. 1998 was Rs. 74,000 

 (b) Outstanding wages totaled Rs. 10,000 
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 (c) A provision 5 % is to be created on sundry debtors 
for doubtful debts. 

 (d) Depreciate patents @ 10 % and Plant and 
Machinery @ 7 % and on Land and Buildings @ 4 %. 

  You are required to prepare Statement of Profit and 
Loss for the year ended 31.12.1998 and Balance 
Sheet as on that date.  

 30 i\®£º 1998 Cß £i, |À¼ì ¼ªöhmiß ¤ßÁ¸® 
C¸¨¦ {ø» SÔ¨¦ öPõkUP¨£mkÒÍx. 

£ØÖPÒ ¹. ÁμÄPÒ ¹. 

\μUQ¸¨¦ (1.1.1998) 80,000 8,000 •ßÝ›ø©¨ 
£[SPÒ JÆöÁõßÖ® 
¹.100 ¹. 75 
ö\¾zu¨£mhx 

6,00,000

Á[Q 17,600 6 % Phß £zvμ[PÒ 2,00,000

Põ¨¦›ø©PÒ 60,000 £À÷ÁÖ Phß 
ÁÇ[S£ÁºPÒ 

1,00,000

AøÇ¨¦PÒ&{¾øÁz 
öuõøP 

20,000 ö£õx C¸¨¦ 80,000

ÂØ£øÚ v¸¨£® 30,000 ÂØ£øÚ 10,00,000

öPõÒ•uÀ 7,72,000 öPõÒ•uÀ v¸¨£® 20,000

T¼PÒ 1,08,000 C»õ£ |èh PnUS (ÁμÄ) 12,000

•ß Tmi ö\¾zv¯ 
Põ¨¥k 

400   

ö£ÓzuUP ¤ÀPÒ 30,000   

£À÷ÁÖ PhÚõÎPÒ 80,000   

Phß £zvμ[PÎß 
öÁÎ±miÀ uÒÐ£i 

10,000   

Bø» ©ØÖ® 
C¯¢vμ[PÒ 

4,00,000   

{»® ©ØÖ® Pmih[PÒ 3,00,000   

Põ¨¥k 4,000   

ö£õx ö\»ÄPÒ 40,000   

ìuõ£Ú ö\»ÄPÒ 60,000   

 20,12,000  20,12,000
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 TkuÀ uPÁÀ : 

 (A) 31 i\®£º 1998 AßÖ \μUQ¸¨¦ ©v¨¦ ¹. 74,000 

 (B) {¾øÁ°À EÒÍ Fv¯[PÒ ö©õzu® ¹. 10,000 

 (C) \¢÷uPzvØQh©õÚ PhßPÐUS 5% JxURk 
E¸ÁõUP¨£h ÷Ásk®. 

 (D) Põ¨¦›ø©PÒ @ 10% ©ØÖ® Bø» ©ØÖ® 
C¯¢vμ[PÒ @ 7% ©ØÖ® {»® ©ØÖ® Pmih[PÒ  
@ 4%. 

  31.12.1998 CÀ •iÁøh¢u BsiØPõÚ C»õ£® 
©ØÖ® |èh AÔUøP ©ØÖ® A¢u ÷uv°ß£i 
C¸¨¦{ø» AÔUøPø¯ u¯õ›UPÄ®. 

19. Distinction between internal reconstruction and External 
reconstruction. 

EÒ ¦Úμø©¨¦ ©ØÖ® öÁÎ¨¦Ó ©Ö^μø©¨¦ 
BQ¯ÁØÖUS Cøh÷¯¯õÚ ÷ÁÖ£õk u¸P. 

20. What are the various methods of winding up a company?  

 J¸ {ÖÁÚzøu ‰kÁuØPõÚ £À÷ÁÖ •øÓPÒ GßÚ? 

 

 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define (a) Direct taxes (b) Indirect taxes. 

 (A) ÷|μi Á›PÒ ©ØÖ® (B) ©øÓ•P Á›PøÍ 
Áøμ¯ÖUP. 

2. Write a short note on residential status. 

 Si°¸¨¦ {ø» SÔzx J¸ ]Ö SÔ¨ø£ Áøμ¯ÖUP. 

3. Define salaries under the income tax act. 

 Á¸©õÚ Á›a \mhzvß RÌ \®£Ízøu Áøμ¯ÖUP. 

4. Give the meaning of Gross Total Income. 

 ö©õzu Tmk Á¸©õÚ® Cuß ö£õ¸Ò u¸P. 

5. Write short note ‘Self Occupied Property’. 

 ]Ö SÔ¨ø£ GÊuÄ® ‘_¯ BUQμªUP¨£mh ö\õzx’. 

Sub. Code 
7BCC5C2 
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6. Define the clarity of the term ‘Business’. 

 ‘ÁoP®’ GßÓ ö\õÀ¼ß öuÎøÁ Áøμ¯ÖUP. 

7. What are the capital Assets? 

 ‰»uÚ ö\õzxUPÒ GßÚ? 

8. What is not included in the capital  assets? 

 ‰»uÚ ö\õzxUPÎÀ GßÚ ÷\ºUP¨£hÂÀø»? 

9. Define the term ‘Gross Total Income’. 

 ‘•Ê ö©õzu Á¸©õÚ®’ GßÓ ö\õÀø» Áøμ¯ÖUP. 

10. Write short note about ‘Section 80C’. 

 ‘¤›Ä 80C’ £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Gowtham a German is appointed as a scientist in 
India on 15.4.19 on March 31, 2020 he went to 
America on deputation and left his wife and 
children in India. He returned to India and joined 
his original job on 6th February 2023 determine his 
residential status in India for the AY: 2023-24. 

  öáº©õÛ¯μõÚ öPÍu® 15.4.19  AßÖ C¢v¯õÂÀ 
ÂgbõÛ¯õP {¯ªUP¨£mhõº. ©õºa 31, 2020 
AßÖ AÁº Aö©›UPõÄUS¨ ¤μ{v¯õPa ö\ßÖ 
uÚx ©øÚÂ ©ØÖ® SÇ¢øuPøÍ C¢v¯õÂÀ 
Âmka ö\ßÓõº. AÁº C¢v¯õÄUSz v¸®¤, 6 
¤¨μÁ› 2023 AßÖ uÚx A\À ÷Áø»°À 
÷\õº¢uõº. AY: 2023-24 &US C¢v¯õÂÀ AÁμx 
Si°¸¨¦ {ø»ø¯z wº©õÛUPÄ®. 

Or 
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 (b) Mr. James a foreign national came to India for the 
first on June 15, 2016 during the financial years 
2016-17, 2017-18, 2018-19, 2019-20, 2020-21 and 
2021-22 he stayed in India for 50 days, 183 days, 
115 days, 25 days, 190 days and 58 days 
respectively. Ascertain his residential status for the 
assessment year 2023-24.  

  áüß 15, 2016 AßÖ •uß •øÓ¯õP  
v¸. ÷á®ì GßÓ öÁÎ|õmhÁº C¢v¯õ Á¢uõº.  
2016-17, 2017-18, 2018-19, 2019-20, 2020-21 ©ØÖ® 
2021-22 BQ¯ {v¯õskPÎÀ AÁº u[Q°¸¢uõº. 
C¢v¯õÂÀ •øÓ÷¯ 50 |õmPÒ 183 |õmPÒ,  
115 |õmPÒ, 25 |õmPÒ, 190 |õmPÒ ©ØÖ® 58 
|õmPÒ. 2023-24 ©v¨¥mk BsiØPõÚ AÁμx 
Si°¸¨¦ {ø»ø¯U PshÔ¯Ä®. 

12. (a) Explain any ten items exempted from Income tax. 

  Á¸©õÚ Á›°¼¸¢x Â»US AÎUP¨£mkÒÍ 
£zx¨ ö£õ¸mPøÍ ÂÍUPÄ®. 

Or 

 (b) Explain the concept of income and give its feature. 

  Á¸©õÚ® £ØÔ¯ P¸zøu ÂÍUQ Auß A®\[PøÍ 
ÂÍUPÄ®. 

13. (a) Compute the annual Value from the particular 
given below: 

  Municipal Rental Value Rs. 84,000 

  Fair Rental Value Rs. 90,000 

  Standard Rent Rs. 87,000 

  Real Rent Rs 8,000 p.month 

  Unrealised Rent Rs. 4,000 

  Date of completion 31.7.2016 

  Date of letting the house 1.10.2016 
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  R÷Ç öPõkUP¨£mkÒÍ SÔ¨¤mhÁØÔ¼¸¢x 
Á¸hõ¢vμ ©v¨ø£U PnUQkP. 

  |Pμõm] ÁõhøP ©v¨¦ ¹. 84,000 

  {¯õ¯©õÚ ÁõhøP ©v¨¦ ¹. 90,000 

  {ø»¯õÚ ÁõhøP ¹. 87,000 

  Esø©¯õÚ ÁõhøP ©õu®  8,000 ¹£õ´ 

  Esø©¯ØÓ ÁõhøP ¹. 4,000 

  {øÓÄ |õÒ 31.7.2016 

  Ãmøh AÝ©vUS® ÷uv 1.10.2016 

Or 

 (b) Mr. Babu owns a house property which is let out for 
residence. He submits the following details to 
compute gross annual value of the property. 

  Municipal value Rs. 1,40,000 
  Fair rent Rs. 1,45,000 
  Standard rent under rent control Act 1,42,000 
  Annual rent if property is let out throughout the 

previous year Rs. 1,68,000 
  Unrealised rent Rs. 14,000 

  Loss due to vacancy Rs 7,000. 

  v¸. £õ¦ÂØS ö\õ¢u©õP J¸ Ãk EÒÍx, Ax 
Si°¸¨£õÍºPÐUS Âh¨£mhx. ö\õzvß ö©õzu 
Bsk ©v¨ø£U PnUQkÁuØS AÁº ¤ßÁ¸® 
ÂÁμ[PøÍa \©º¨¤UQÓõº.  

  |Pμõm] ©v¨¦ ¹. 1,40,000 

  {¯õ¯©õÚ ÁõhøP ¹. 1,45,000 

  ÁõhøPU Pmk¨£õmka \mhzvß RÌ {ø»¯õÚ 
ÁõhøP ¹. 1,42,000 

  •¢øu Bsk •ÊÁx® ö\õzøu ÂkÂzuõÀ 
Bsk ÁõhøP ¹. 1,68,000 

  Pmh¨£hõu ÁõhøP ¹. 14,000 

Põ¼°hzuuõÀ CÇ¨¦ ¹. 7,000. 
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14. (a) What are the deductions allowed for computing the 
capital gain? 

  ‰»uÚ Buõ¯zøuU PnUQkÁuØS 
AÝ©vUP¨£mh Â»USPÒ GßÚ? 

Or 

 (b) Explain long term and short term capital gain. How 
are they taxed? 

  }sh Põ» ©ØÖ® SÖQ¯ Põ» ‰»uÚ Buõ¯zøu 
ÂÍUS[PÒ. AÁºPÐUS G¨£i Á› 
ÂvUP¨£kQÓx? 

15.  (a) What are the losses which could be carried forward 
and set-off? 

  •ß÷ÚõUQ Gkzxa ö\À»UTi¯ CÇ¨¦PÒ GßÚ? 

Or 

 (b) Explain Intra-head and Inter —head set-off. 

  Cøh{ø»¯À»õ ©ØÖ® Cøh{ø» \›ö\´uø» 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16.  For the accounting year ended 31 March 2023  
Mr. Shashikant furnishes the following particulars of his 
income 

(a) Salary received in India Rs. 60,000 

(b) Profit from business in Germany but received in 
India Rs. 15,000 

(c) Income from house property in Pakistan deposited 
into a bank there Rs. 12,000 

(d) Profit from business established in Bangladesh but 
business is controlled from India Rs. 46,000 



F–0203 

  

  6

(e) Income accrued in India but received in Sweden  
Rs. 25,000 

(f) In this accounting year Mr. Shashikanth has 
brought into India foreign income of early year  
Rs. 42,700 

(g) Profit from the sale of plant at Mumbai  
(50% received in Bangkok) Rs. 1,60,000 

(h)  Interest on Japan development bonds (60% received 
in India) Rs. 1,00,000. 

Compute his total income if  

 (i) he is resident  

 (ii) he is not ordinarily resident or  

(iii) he is non-resident. 

 ©õºa 31, 2023 CÀ •iÁøh¢u PnUQ¯À BsiØS,  
v¸. \æPõ¢z uÚx Á¸©õÚzvß ¤ßÁ¸®  ÂÁμ[PøÍ 
AÎzxÒÍõº. 

(A) C¢v¯õÂÀ ö£ØÓ \®£Í® ¹. 60,000 

(B) öáº©Û°À ÁoPzvß »õ£® BÚõÀ C¢v¯õÂÀ 
¹. 15,000 ö£ØÓx. 

(C) £õQìuõÛÀ EÒÍ Ãmka ö\õzvß Á¸©õÚ® 
A[SÒÍ Á[Q°À ¹. 12,000 öh£õ]m 
ö\´¯¨£mkÒx. 

(D) £[PõÍ÷uæÀ {ÖÁ¨£mh ÁoPzvß »õ£® 
BÚõÀ ÁoP® C¢v¯õ ¹. 46,000 BÀ 
Pmk¨£kzu¨£kQÓx. 

(E) C¢v¯õÂÀ vμmh¨£mh Á¸©õÚ® BÚõÀ 
ìÃhÛÀ ¹. 25,000 ö£Ó¨£mhx. 
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(F) C¢u PnUQ¯À BsiÀ v¸. \æPõ¢z, Bμ®£ 
Bsk ¹. 42,700 öÁÎ|õmk Á¸©õÚzøu 
C¢v¯õÂØS öPõsk Á¢xÒÍõº. 

(G) •®ø£°À J¸ Bø» ÂØ£øÚ°ß »õ£®  
(50% £õ[PõUQÀ ö£Ó¨£mhx) ¹. 1,60,000 

(H) á¨£õß ÷©®£õmk¨ £zvμ[PÒ «uõÚ Ámi (60% 
C¢v¯õÂÀ ö£Ó¨£mhx) ¹. 1,00,000  

 (i) AÁº Á]¨£ÁμõP C¸¢uõÀ  

 (ii) AÁº \õuõμn©õP Á]¨£ÁμõP CÀø» AÀ»x  

 (iii) AÁº Si²›ø© CÀ»õuÁμõP C¸¢uõÀ AÁμx 
ö©õzu Á¸©õÚzøuU PnUQkP. 

17. X receives Salary of Rs. 9,000 p.m and D.A of Rs. 5,000 
p.m. His employer a private company, declares 50% of DA 
to enter into pay for services benefits. Compute the total 
taxable allowance considering the following information. 

 (a) Lunch allowance Rs. 100 p.m 

 (b) Family allowance Rs. 300 p.m 

 (c) Deputation allowance Rs. 40 p.m 

 (d) Medical allowance Rs. 500 p.m 

 (e) Allowance for entertainment Rs. 1000 p.m 

 (f) Wardenship allowance Rs. 600 p.m 

 (g) Non Practising allowance Rs. 880 p.m  

 (h) Additional D.A Rs. 1,500 pm 

 (i) City compensatory allowance Rs. 150 pm 
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 X ©õu® ¹. 9,000 \®£Í® ©ØÖ® ¹. 5,000 
APÂø»¨£iø¯¨ ö£ÖQÓõº. AÁ¸øh¯ •u»õÎ J¸ 
uÛ¯õº {ÖÁÚ®, ÷\øÁ¨ £»ßPÐUPõÚ Fv¯zvÀ 
÷\¸ÁuØS 50% APÂø»¨£iø¯ AÔÂUQÓõº. ¤ßÁ¸® 
uPÁø»U P¸zvÀ öPõsk ö©õzu Á› ÂvUPUTi¯ 
öPõk¨£ÚøÁU PnUQkP. 

 (A) ©v¯ EnÄ  öPõk¨£ÚÄ ©õu®. 100 ¹£õ´ 

 (B) Sk®£ EuÂz öuõøP ©õu®. 300 ¹£õ´ 

 (C) J¸ ©õuzvØS 40 ¹£õ´ ¤μv{vzxÁ öPõk¨£ÚÄ 

 (D) ©õuzvØS 500 ¹£õ´ ©¸zxÁ öPõk¨£ÚÄ 

 (E) ö£õÊx÷£õUQØPõÚ öPõk¨£ÚÄ ©õu® 1000 ¹£õ´ 

 (F) Áõºhßæ¨ öPõk¨£ÚÄ ©õu® ¹. 600 

 (G) ©õuzvØS ¹. 880 £°Ø] AÀ»õu öPõk¨£ÚÄ 

 (H) TkuÀ APÂø»¨£i ©õu® ¹. 1,500 

 (I) ©õuzvØS ¹. 150 |Pμ CÇ¨¥k öPõk¨£ÚÄ. 

18. X and Y formed a partnership firm during 2022-23. Soon 
after its formation, X brings the following assets as his 
capital contribution:  

 Gold Silver 

 (Rs.) (Rs.) 

FMV on the date of transfer 5,40,000 82,000

Amount recorded on books 6,00,000 80,000

Actual cost 30,000 12,000

Year of acquisition 2007-2008 2003-2004

CII for the year of acquisition 129 109

CII for the year 2022-23 331 331

 Rs. 6,50,000 have been credited in the capital account of 
X in the firm. Compute the taxable capital gain of X. if 
any. 
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 X ©ØÖ® Y 2022-23  CÀ J¸ Tmhõsø© {ÖÁÚzøu 
E¸ÁõUQ¯x. Auß E¸ÁõUPzvØS¨ ¤ÓS X ¤ßÁ¸® 
ö\õzxUPøÍ uÚx ‰»uÚ¨ £[PÎ¨£õPU öPõsk 
Á¸QÓõº: 

 u[P® öÁÒÎ 

 (¹.) (¹.) 

£›©õØÓ ÷uv°À GL¨G®Â 5,40,000 82,000

¦zuP[PÎÀ £vÄ ö\´¯¨£mh öuõøP 6,00,000 80,000

\›¯õÚ Âø» 30,000 12,000

øP¯P¨£kzu¨£mh Bsk 2007-2008 2003-2004

øP¯P¨£kzu¨£mh BsiØPõÚ ]II 129 109

2022-23 B® BsiØPõÚ ]II 331 331

 {ÖÁÚzvÀ X Cß ‰»uÚU PnUQÀ ¹. 6,50,000 ÁμÄ 
øÁUP¨£mkÒÍx. X Cß Á› ÂvUPUTi¯ ‰»uÚ 
Buõ¯® H÷uÝ® C¸¢uõÀ PnUQhÄ®. 

19. From the following, computing the taxable income under 
the head income from business, profit before adjusting 
the following items is Rs. 5,50,000. 

 (a) Admission expenses Rs. 10,000 

 (b) Trade expenses Rs. 5,000 

 (c) House hold expenses Rs. 3,000 

 (d) Discount allowed Rs. 4,000 

 (e) Income tax Rs. 400 

 (f) Provision for bad debts Rs. 2,000 

 (g) Bad debts Rs. 3,000 

 (h) Donation to P.M. National Relief Fund Rs. 4,000 

 (i) Legal fee Rs. 200. 
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 ¤ßÁ¸ÁÚÁØÔ¼¸¢x, J¸ ÁoPzvß uø» 
Á¸©õÚzvß RÌ Á› ÂvUPUTi¯ Á¸©õÚzøuU 
PnUQkÁx, ¤ßÁ¸® ö£õ¸mPøÍa \›ö\´ÁuØS •ß 
QøhUS® »õ£® ¹. 5,50,000 BS®. 

 (A) ÷\ºUøP ö\»ÄPÒ ¹. 10,000 

 (B) ÁºzuP ö\»ÄPÒ ¹. 5,000 

 (C) Ãmka ö\»ÄPÒ ¹. 3,000 

 (D) uÒÐ£i AÝ©vUP¨£mh ¹. 4,000 

 (E) Á¸©õÚ Á› ¹. 400 

 (F) ÁõμõU PhßPÐUPõÚ JxURk ¹. 2,000 

 (G) ÁõμõU PhßPÒ ¹. 3,000 

 (H) |ßöPõøh ¤.G®. ÷u]¯ {Áõμn {v ¹. 4,000 

 (I) \mhU Pmhn® ¹. 200. 

20. Write about the history of Indian Income tax. 

 C¢v¯ Á¸©õÚ Á›°ß Áμ»õÖ £ØÔ GÊxP. 

  
 

———————— 
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Commerce with Computer Application 

Elective — OPERATING SYSTEM 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Give any two names of the Operating System. 

 H÷uÝ® Cμsk C¯[S® •øÓ ö©ßö£õ¸ÒPøÍ 
GÊxP. 

2. What do you mean by batch processing? 

 öuõSv ö\¯»õUP® £ØÔ }Âº AÔÁÚ. 

3. What do you know about process management? 

 ö\¯À•øÓ ÷©»õsø© £ØÔ }Âº AÔ¢uøÁ? 

4. What is scheduling? 

 vmhªhÀ £ØÔ ÂÍUSP. 

5. Define Logical Memory. 

 u¸UP {øÚÁP® £ØÔ Áøμ¯ÖUP. 

6. Give any two importance of memory management. 

 H÷uÝ® Cμsk {øÚÁP ÷©»õsø© £ØÔ GÊxP. 
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7. What is file management? 

 ÷Põ¨¦ ÷©»õsø© £ØÔ Áøμ¯ÖUP. 

8. Write short notes of file operations. 

 ÷Põ¨¦ ö\¯À£õkPøÍ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

9. What do you understand about resource management? 

 ÁÍ ÷©»õsø© £ØÔ }Âº AÔ¢uøÁPøÍ ÂÁ›. 

10. Write a short note on viruses. 

 øÁμì £ØÔ ]Ö SÔ¨¦ ÁøμP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Discuss the multiprogramming. 

   £À {μ»õUP® £ØÔ ÂÁ›. 

Or 

 (b) Write a short notes on : 

  (i) Distributed System 

  (ii) Parallel System 

   ]Ö SÔ¨¦ ÁøμP : 

  (i) Â{÷¯õQUP¨£mh •øÓø© 

   (ii) Cøn Aø©¨¦ 

12. (a) Discuss the implementation of semaphores. 

   Semaphores – |øh•øÓ£kzxÁøu £ØÔ ÂÁ›. 

Or 

 (b) Describe inter-process communication.  

   Cøh ö\¯À•øÓ öuõhº¦ £ØÔ ÂÁ›. 
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13. (a) Distinguish between logical and physical memory. 
   u¸UP {øÚÁP® ©ØÖ® £¸{ø» {øÚÄzvÓß 

÷ÁÖ£õkPøÍ u¸P. 

Or 

 (b) Write a short note on swapping. 
   Ch©õØÖuÀ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

14. (a) Explain the various types of file storage methods. 
   öÁÆ÷ÁÖ ÁøP¯õÚ ø£À (÷Põ¨¦) ì÷hõ÷μä 

•øÓPøÍ ÂÍUSP. 

Or 

 (b) Explain directory operation. 
   øhμUi› ö\¯À£õkPÒ £ØÔ ÂÍUSP. 

15. (a) List the input and output hardware devices. 
   EÒÏk ©ØÖ® öÁÎ±k Áßö£õ¸ÒPøÍ 

£mi¯¼kP. 

Or 

 (b) Explain the demerits of the Virus. 
   øÁμì £ØÔ¯ wø©PøÍ ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elaborated on the various types of operating systems. 
 öÁÆ÷ÁÖ ÁøP¯õÚ C¯UP •øÓø©ø¯ ÂÍUSP. 

17. Explain about following scheduling algorithms : 
 (a) First comes first served 
 (b) Shortest job first 

 ¤ßÁ¸® scheduling algorithms £ØÔ ÂÍUSP. 
 (A) •u¼À Á¸Áõ¸US •uÀ ÷\øÁ 
 (B) ]Ô¯ ÷Áø» •u¼À 
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18. Explain the various function of memory management. 

 {øÚÄ ÷©»õsø©°ß öÁÆ÷ÁÖ ö\¯À£õkPøÍ 
ÂÍUSP. 

19. Explain the file access methods. 

 öÁÆ÷ÁÖ ÷Põ¨¦ AqPÀ •øÓPøÍ ÂÍUSP. 

20. Discuss the Mechanisms of protecting software. 

 ö©ßö£õ¸Ò £õxPõUS® ÁÈ•øÓPøÍ ÂÍUSP. 

———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Explain History of Web. 

 Cøn¯ Áμ»õØÖ ÂÍUPÄ®. 

2. What is hyper text? 

 «Eøμ GßÓõÀ GßÚ? 

3. Which is used to access web? 

 Cøn¯zøu AqP Gx £¯ß£kQÓx? 

4. What is Netscape navigator? 

 ö|mì÷P¨ ÷|Â÷Pmhº GßÓõÀ GßÚ? 

5. What are line services? 

 Á› ÷\øÁPÒ GßÓõÀ GßÚ? 

6. What is cyberspace? 

 ªßöÁÎ GßÓõÀ GßÚ? 

Sub. Code 
7BCCE1B 



F–0205 

  

  2

7. What kind of hardware do you need to run a web server? 

 Cøn¯ ÷\øÁ¯Pzøu C¯UP E[PÐUS GßÚ ÁøP¯õÚ 
Áßö£õ¸Ò ÷uøÁ? 

8. What is window and how its work? 

 \õÍμ® GßÓõÀ GßÚ, Ax GÆÁõÖ ö\¯À£kQÓx? 

9. Why HTML is used? 

 ªßÞÀ Hß £¯ß£kzu¨£kQÓx. 

10. What is list and its types? 

 £mi¯À ©ØÖ® Auß ÁøPPÒ GßÚ?  

 Part B (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Give a brief history of Internet. 

   Cøn¯zvß _¸UP©õÚ Áμ»õØøÓU öPõk[PÒ. 

Or 

 (b) What are the services available in Internet? 

   Cøn¯zvÀ QøhUS® ÷\øÁPÒ GßÚ? 

12. (a) What is SLIP protocol used for? 

   SLIP ö|Ô•øÓ GuØPõP¨ £¯ß£kzu¨£kQÓx? 

Or 

 (b) How to calculate bandwidth?  

   Aø»Á›ø\ø¯ GÆÁõÖ PnUQkÁx? 

13. (a) Discuss in detail about email inner workings. 

   ªßÚg\À EÒ ö\¯À£õkPøÍ Â›ÁõP 
ÂÁõvUPÄ®. 

Or 
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 (b) What are the other ways of accessing the Internet? 

   Cøn¯zøu AqSÁuØPõÚ ÷ÁÖ GßÚ ÁÈPÒ 
EÒÍÚ? 

14. (a) What do you mean by hardware requirements? 

   Áßö£õ¸Ò ÷uøÁPÒ GßÓõÀ GßÚ? 

Or 

 (b) What is the http command? 

   «²øμ £›©õØÓ ö|Ô•øÓ&ß PmhøÍ GßÓõÀ 
GßÚ? 

15. (a) What are the basic structural formatting in HTML? 

   ªßÞÀ CÀ EÒÍ Ai¨£øh Pmhø©¨¦ 
ÁiÁø©¨¦ GßÚ? 

Or 

 (b) How HTML is used in multimedia? 

   £À¿hPzvÀ ªßÞÀ GÆÁõÖ 
£¯ß£kzu¨£kQÓx?  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Give a brief detail about www. Write an emergence of 
web also. 

Cøn¯ Áø», øÁ¯P Â›Ä Áø» £ØÔ¯ _¸UP©õÚ 
ÂÁμ[PøÍz uμÄ®. Cøn¯zvß ÷uõØÓzøu²® 
GÊx[PÒ. 

17. Explain brief about bandwidth and explain its types. 

 Aø»Á›ø\ø¯¨ £ØÔ _¸UP©õP ÂÍUQ Auß ÁøPPøÍ 
ÂÍUPÄ®. 
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18. What do you mean by email? Explain its advantage and 
uses? 

ªßÚg\À GßÓõÀ GßÚ, Auß |ßø© ©ØÖ® £¯ßPøÍ 
ÂÍUS[PÒ? 

19. What do you meant by web server? Explain the step 
involved in the setting up of an web server. 

Cøn¯ ÷\øÁ¯P® GßÖ GøuU SÔ¨¤kQÕºPÒ, 
Cøn¯ ÷\øÁ¯Pzøu Aø©¨£vÀ EÒÍ £iø¯ 
ÂÍUS[PÒ. 

20. Give a brief about formatting paragraph and types of 
formatting paragraph. 

ÁiÁø©zuÀ £zv £ØÔ J¸ _¸UP® öPõk[PÒ, ©ØÖ® 
ÁiÁø©zuÀ ÁøPPøÍ ÂÍUPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is costing? 

 AhUPÂø» GßÓõÀ GßÚ? 

2. What do you mean by prime cost? 

 •ußø© ö\»Ä GßÓõÀ GßÚ? 

3. Give the meaning of EOQ. 

 C.J.Q² Cß ö£õ¸øÍz u¸P. 

4. What is scrap and spoilage? 

 ÷u´uÀ ©ØÖ® AÈuÀ GßÓõÀ GßÚ?  

5. Define Labour. 

 EøÇ¨ø£ Áøμ¯ÖUPÄ®. 

6. What is Rowan Plan? 

 ÷μõÁß vmh® GßÓõÀ GßÚ? 
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7. Define overtime.  

 ªøP ÷|μ® Áøμ¯ÖUPÄ®. 

8. Give the meaning of apportionment. 

 £[Rk Gß£uß ö£õ¸øÍU öPõkUPÄ®. 

9. What do you mean by job costing? 

 ÷Áø» ö\»Ä GßÓõÀ GßÚ? 

10. Give the meaning of abnormal gain. 

 A\õuõμn Buõ¯® GßÓ ö£õ¸øÍU öPõkUPÄ®. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) During the year 2018, X Ltd produced 50,000 units 
of a product. The following were the expenses 

 Rs.

Raw materials on 1.1.2020 5,000

Raw materials on 31.12.2020 12,000

Purchases 1,00,000

Direct wages 50,000

Direct expenses 10,000

Factory expenses 30,000

Office expenses 50,000

Selling expenses 25,000

  You are required to prepare a cost sheet showing 
cost per unit and total cost at each stage. 
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   2018 B® BsiÀ, GUì ¼ªöhm ö£õ¸Îß 50,000 
³ÛmkPøÍ EØ£zv ö\´ux. ¤ßÁ¸® ö\»ÄPÒ.  

 ¹. 

‰»¨ö£õ¸mPÎß \μUQ¸¨¦ 1.1.2020 5,000

‰»¨ö£õ¸mPÎß \μUQμ¨¦ 31.12.2020 12,000

öPõÒ•uÀ 1,00,000
÷|μi Fv¯® 50,000
÷|μi ö\»ÄPÒ 10,000
öuõÈØ\õø» ö\»ÄPÒ 30,000
A¾Á»P ö\»ÄPÒ 50,000
ÂØ£øÚ ö\»ÄPÒ 25,000

    JÆöÁõ¸ Pmhzv¾® J¸ A»QØPõÚ ö\»Ä ©ØÖ® 
ö©õzu ö\»øÁU Põmk® AhUP Âø» AÔUøP 
u¯õº ö\´P. 

Or 

 (b) What are the advantages of cost accounting? 
   ö\»Ä PnUQ¯¼ß |ßø©PÒ GßÚ? 

12. (a) Write short note on Perpetual inventory? 
   {μ¢uμ C¸¨¦ £ØÔ¯ ]Ö SÔ¨ø£ GÊuÄ®? 

Or 

 (b) From the following particulars prepare the stores 
ledger by adopting FIFO method 

March 2018  

1 Purchased 500 units @ Rs. 3. Per unit

2 Purchased 600 units @ Rs. 4. Per unit

7 Issued 400 units 

15 Issued 300 units 

17 Purchased 900 units @ Rs. 4. Per unit

21 Issued 300 units 
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   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x FIFO •øÓø¯¨ 
¤ß£ØÔ ì÷hõºì ö»máøμz u¯õ›UPÄ®  

©õºa 
2018 

 

1 500 ³ÛmkPÒ Áõ[Q¯x J¸ ³Ûmiß Âø» 

¹£õ´ – 3   

2 600 ³ÛmkPÒ Áõ[Q¯x J¸ ³Ûmiß Âø» 

¹£õ´ – 4 

7 400 ³ÛmkPÒ öPõkzux 

15 300 ³ÛmkPÒ öPõkzux 

17 900 ³ÛmkPÒ Áõ[Q¯x J¸ ³Ûmiß Âø» 

¹£õ´ – 4 

21 300 ³ÛmkPÒ öPõkzux 

13. (a) From the following data calculate the total wages of 
a worker under Halsey premium plan 

  Hourly Rate : Rs. 3 

  Standard time : 16 hours 

  Time taken : 12 hours 

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ öuõÈ»õÎ°ß 
ö©õzu Fv¯zøuU PnUQkP. 

   íÀ] ¤Ÿª¯® vmh® 

   ©o÷|μ ÂQu®  : 3 

   {ø»¯õÚ ÷|μ®  : 16 ©o ÷|μ® 

   GkUP¨£mh ÷|μ® : 12 ©o ÷|μ® 

Or 

 (b) What are the features of a good wage system? 

   |À» Fv¯ •øÓ°ß A®\[PÒ GßÓõÀ GßÚ? 
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14. (a) A factory has three production department A, B, 
and C and two Service departments X and Y. The 
overhead costs of the different department incurred 
during March 2017 are as follows. 

Departments Costs 
Rs. 

A 30,000
B 15,000
C 10,000
X 7,000 
Y 6,000 

  The costs of department X have to be charged in the 
ratio 2:2:1 and those of department Y equally to 
departments A, B, and C respectively. Find out 
overhead costs of each production department. 

   J¸ öuõÈØ\õø»°À ‰ßÖ EØ£zvz xøÓ H.¤, 
©ØÖ® ] ©ØÖ® Cμsk ÷\øÁz xøÓ GUì ©ØÖ® 
J´ BQ¯øÁ EÒÍÚ. ©õºa 2017 CÀ öÁÆ÷ÁÖ 
xøÓ°ß ÷©À{ø» ö\»ÄPÒ ¤ßÁ¸©õÖ. 

xøÓPÒ ö\»ÄPÒ ¹.

A 30,000 
B 15,000 
C 10,000 
X 7,000 
Y 6,000 

    xøÓ GUì Cß ö\»ÄPÒ •øÓ÷¯ 2:2:1 GßÓ 
ÂQuzv¾®, xøÓ J´ Cß ö\»ÄPÒ •øÓ÷¯ H.¤, 
©ØÖ® ] BQ¯ xøÓPÐUS ÂvUP¨£h ÷Ásk®. 
JÆöÁõ¸ EØ£zvz xøÓ°ß ÷©À{ø» 
ö\»ÄPøÍ²® PshÔ¯Ä®.   

Or 

 (b) Distinction between Works overhead, Selling and 
distribution overheads. 

   ÷Áø»PÒ ÷©Øö\»Ä AhUP® ©ØÖ® ÂØ£øÚ, 
Â{÷¯õP ÷©Øö\»ÄPÐUS Cøh÷¯ EÒÍ 
÷ÁÖ£õmøh ÂÍUSP. 
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15. (a) Difference between Job costing and Process Costing. 

   ÷Áø» ö\»Ä ©ØÖ® ö\¯À•øÓ ö\»Ä Cøh÷¯ 
EÒÍ ÷ÁÖ£õmøh ÂÍUSP. 

Or 

 (b) From the following information, prepare process 
cost accounts and normal loss, abnormal loss and 
abnormal gain accounts : 

Particulars Process X Process Y

 Rs. Rs. 

Materials 50,000 8,000

Labour 10,000 12,000

Overheads 7,000 8,600

Input (units) 20,000 17,500

Sale of waste per unit (Rs.) 1 2

Final output from process B (units) – 17,000

Normal loss 10% 5%

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x, ö\»Ä PnUSPÒ ©ØÖ® 
\õuõμn CÇ¨¦, A\õuõμn CÇ¨¦ ©ØÖ® A\õuõμn 
Buõ¯U PnUSPøÍz u¯õ›UPÄ®. 
ÂÁμ[PÒ ö\¯À•øÓ 

X 
ö\¯À•øÓ 

Y 

 ¹. ¹. 

ö£õ¸mPÒ 50,000 8,000
öuõÈ»õÍº 10,000 12,000
÷©À{ø»PÒ 7,000 8,600

EÒÏk (A»SPÒ) 20,000 17,500

J¸ ³ÛmkUS PÈÄ ÂØ£øÚ 
(¹.) 

1 2

ö\¯À•øÓ B (A»SPÒ) C¼¸¢x 
CÖv öÁÎ±k 

– 17,000

\õuõμn CÇ¨¦ 10% 5%
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following information prepare a cost sheet for 
the month of January. 

Particulars Rs.

Stock of raw materials on 1st Jan 2010 25,000

Stock of raw materials on 31st Dec 2010 26,200

Purchase of raw materials 21,900

Carriage on purchase 1,100

Sale of finished goods 72,300

Direct wages 17,200

Non productive wages 800

Direct expenses 1,200

Factory over head 8,300

Administrative overhead 3,200

Selling overhead  4,200

 ¤ßÁ¸® uPÁ¼¼¸¢x áÚÁ› ©õuzvØPõÚ ö\»Äz 
uõøÍz u¯õ›UPÄ®. 

ÂÁμ[PÒ ¹.

1 áÚÁ› 2010 AßÖ ‰»¨ö£õ¸mPÎß C¸¨¦ 25,000

31 i\®£º 2010 AßÖ ‰»¨ö£õ¸mPÎß C¸¨¦ 26,200
‰»¨ö£õ¸mPøÍ Áõ[SuÀ 21,900
Áõ[S® ÷£õx Ási 1,100
•iUP¨£mh ö£õ¸mPÎß ÂØ£øÚ 72,300
÷|μi Fv¯® 17,200
EØ£zv AÀ»õu Fv¯® 800
÷|μi ö\»ÄPÒ 1,200
öuõÈØ\õø» ÷©Øö\»Ä 8,300
{ºÁõP ÷©Øö\»Ä 3,200
ÂØ£øÚ ÷©Øö\»Ä 4,200
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17. Calculate Minimum stock level, Maximum stock level and 
Re-ordering level from the following details.  

Minimum consumption 300 units per day

Maximum consumption 150 units per day

Normal consumption 100 units per day

Re-order period 8 – 14 days 

Re-order quantity 1,800 units 

Normal Re-order period 10 days 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x SøÓ¢u£m\ \μUQ¸¨¦ {ø», 
AvP£m\ \μUQ¸¨¦ {ø» ©ØÖ® ©Ö Á›ø\¨£kzx® 
{ø» BQ¯ÁØøÓU PnUQkP. 

SøÓ¢u£m\ ~PºÄ 300 A»SPÒ, J¸ |õøÍUS 

AvP£m\ ~PºÄ 150 A»SPÒ, J¸ |õøÍUS

C¯À£õÚ ~PºÄ 100 A»SPÒ, J¸ |õøÍUS

©Ö Á›ø\¨£kzx® {ø» Põ»® 8 –14 |õmPÒ 

©Ö Á›ø\ AÍÄ 1,800 A»SPÒ 

C¯À£õÚ ©Ö Á›ø\ Põ»® 10 |õmPÒ 

18. Explain the methods of labour remunerations. 
 öuõÈ»õÍº £À÷ÁÖ Fv¯ •øÓPøÍ ÂÍUSP. 

19. Y Ltd. Has four departments A, B, C and D, A, B, and C 
are production department D is a Service Department. 
The actual costs for a period are as follows : 

 Rs. 

Rent 4,000

Repairs 2,400

Depreciation 1,350

Lighting 300

Insurance of stock 1,500

Supervision 4,500

Power 2,700
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 The following data are also available in respect of the 
four departments. 

 Dept A Dept B Dept C Dept D

Area (Sq.ft) 300 220 180 100 

No. of workers 36 24 18 12 

Value of plant (Rs.) 24,000 18,000 12,000 6,000 

Value of Stock (Rs.) 15,000 9,000 6,000 – 

 Apportion the costs to the various departments on the 
most equitable method. 

 J´ ¼ªöhm A, B, C ©ØÖ® D, A, B, ©ØÖ® C BQ¯ 
|õßS xøÓPøÍU öPõskÒÍx. D Gß£x J¸ ÷\øÁz 
xøÓ¯õS®. J¸ Põ»PmhzvØPõÚ Esø©¯õÚ ö\»ÄPÒ 
¤ßÁ¸©õÖ: 

 ¹. 

ÁõhøP 4,000
£Êx 2,400
÷u´©õÚ® 1,350
ÂÍUS 300
Põ¨¥k \μUQ¸¨¦ 1,500
÷©Ø£õºøÁ 4,500
\Uv 2,700

  |õßS xøÓPøÍ¨ ö£õÖzu©miÀ ¤ßÁ¸® uμÄPÐ® 
QøhUQßÓÚ. 

 xøÓ 
A 

xøÓ 
B 

xøÓ 
C 

xøÓ 
D 

£Sv (\xμ Ai) 300 220 180 100 

öuõÈ»õÍºPÎß 
GsoUøP 

36 24 18 12 

C¯¢vμzvß ©v¨¦ (¹.) 24,000 18,000 12,000 6,000 

\μUQ¸¨¦ ©v¨¦ (¹.) 15,000 9,000 6,000 – 

  ªPÄ® \©©õÚ •øÓ°À £À÷ÁÖ xøÓPÐUS 
ö\»ÄPøÍ £Qº¢uÎUPÄ®. 
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20. Calculate the cost of each process and total cost of 
production from the data given below 

 I II III 

 Rs. Rs. Rs.

Materials 2,250 750 300

Labour 1,200 3,000 900

Direct expenses 500 500 500

Works overhead 1,890 2,580 1875

 Other indirect expenses of Rs. 1,275 should be 
apportioned on the basis of wages. 

 R÷Ç öPõkUP¨£mkÒÍ uμÄPÎ¼¸¢x JÆöÁõ¸ 
ö\¯À•øÓ°ß Âø»ø¯²® ö©õzu EØ£zva 
ö\»øÁ²® PnUQkP. 

 I II III 

 ¹. ¹. ¹.

ö£õ¸mPÒ 2,250 750 300

öuõÈ»õÍº 1,200 3,000 900

÷|μi ö\»ÄPÒ 500 500 500

öuõÈØ\õø» ÷©Øö\»Ä 1,890 2,580 1875

 ©ØÓ ©øÓ•P ö\»ÄPÒ ¹. 1.275 T¼ Ai¨£øh°À 
¤›zx ÁÇ[P ÷Ásk®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Software. 

 ö©s ö£õ¸Ò Áøμ¯Ö. 

2. What is JDE? 

 ÷áiC GßÓõÀ GßÚ? 

3. What do you mean by Array? 

 Á›ø\ GßÓõÀ GßÚ? 

4. List out four Data Types in Java. 

 áõÁõÂÀ EÒÍ H÷uÝ® |õßS uμÄ ÁøPPøÍ 
£mi¯¼kP. 

5. Define Methods in Java. 

 áõÁõÂÀ •øÓ Gß£øu Áøμ¯ÖUP. 

6. What is Inheritance? 

 CßöP›hßì GßÓõÀ GßÚ? 
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7. Define the term “Exception”. 

 ÂvÂ»US GßÝ® Áõºzøuø¯ Áøμ¯Ö. 

8. List out possibilities of blocking thread. 

 vμmøh uk¨£uØPõÚ ÁÈ•øÓPøÍ £mi¯¼kP. 

9. What is Applet? 

 B¨ö»m GßÓõÀ GßÚ? 

10. Write the File extension for saving HTML file and give 
example. 

 HTML ÷Põ¨¦PøÍ ÷\ª¨£uØPõÚ ÷Põ¨¦ ÁøP°øÚ 
GÊxP. 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) Discuss about Hardware with example. 

  Áßö£õ¸Ò £ØÔ GkzxUPõmkPÐhß 
ÂÁõvUPÄ®. 

Or 

 (b) Write brief note on Web Browsers. 

  Áø» E»õÂPøÍ £ØÔ _¸UP©õÚ SÔ¨ø£ GÊxP. 

12. (a) Explain Two Dimensional Array with Example. 

  C¸£›©õn Á›ø\ £ØÔ GkzxUPõmkPÐhß 
ÂÍUSP. 

Or 

 (b) Write a Java program to check the give number is 
Odd or Even. 

  JØøÓ £øh AÀ»x Cμmøh £øh GsPøÍ 
Psk¤i¨£uØPõÚ {μø» áõÁõÂÀ GÊxP. 
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13. (a) Illustrate Nested Classes with example. 

  EÒÍø© ÁS¨¦PÒ £ØÔ GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Explain Method Overloading in Java. 

  áõÁõÂÀ KÁº ÷»õi[ •øÓ £ØÔ ÂÍUSP. 

14. (a) Write a brief note on following: 

  (i) Creating Package  

  (ii)  Naming Conventions 

  R÷Ç öPõkUP¨£mkÒÍÁØøÓ £ØÔ ]Ö SÔ¨¦ 
GÊxP. 

  (i) öuõS¨¦ E¸ÁõUSuÀ 

  (ii)  ö£¯›k® ©μ¦. 

Or 

 (b) Explain Concept of Run Time Errors. 

  C¯UP ÷|μ ¤øÇUPõÚ P¸zvøÚ ÂÍUSP. 

15.  (a) Briefly explain about Creating and Designing Web 
Pages. 

  Cøn¯ £UP[PøÍ E¸ÁõUSÁx ©ØÖ® 
ÁiÁø©¨¦ £ØÔ Â›ÁõP ÂÍUSP. 

Or 

 (b) Describe the concept of getting input from the users. 

  £¯ÚõÍºPÎhª¸¢x EÒÏk ö£ÖÁuØPõÚ 
P¸zvøÚ ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the concept of JDK. 

 ÷ái÷P & £ØÔ¯ P¸zvøÚ ÂÍUSP. 

17. Describe various types of Operators. 

 £À÷ÁÖ ÁøP¯õÚ B£÷μmhºPøÍ ÂÁ›UPÄ®. 

18. Explain Inheritance types with neat diagram. 

 CßP›öhßì ÁøPPøÍ öuÎÁõÚ £hzxhß ÂÍUSP. 

19. Difference between Multithreading and Multitasking. 

 ©Ài vμm ©ØÖ® ©Ài hõìQ[ Cøh÷¯²ÒÍ ÷ÁÖ£õk. 

20. Describe the various state of Applet Life Cycle with neat 
diagram. 

 B¨ö»m ÁõÌUøP _ÇØ]°À EÒÍ £À÷ÁÖ ÁøP¯õÚ 
{ø»PøÍ öuÎÁõÚ £hzxhß ÂÁ›UPÄ®. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define: Assessment Procedure. 

 Áøμ¯ÖUPÄ® : ©v¨¥mk |øh•øÓ. 

2. How do you ascertain the tax liability of an individual 
assessee? 

J¸ |£›ß {Pμ Á¸©õÚzøu GÆÁõÖ wº©õÛ¨¥ºPÒ? 

3. What is the significance of return of losses? 

CÇ¨¦PÎß v¸¨£® \õßÔß •UQ¯zxÁ® GßÚ? 

4. State the any two objectives of taxation. 

Á› Âv¨¤ß H÷uÝ® Cμsk ÷|õUP[PøÍU TÖP. 

5. Write short note on set off. 

|mh[PøÍ \›UPmkÁx SÔzx ]Ö SÔ¨ø£ GÊxP. 

6. What are no limit donations? 

Áμ®¦ CÀ»õu |ßöPõøhPÒ GßÓõÀ GßÚ? 
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7. What is surcharge? 

TkuÀ Pmhn® GßÓõÀ GßÚ? 

8. What is regular assessment? 

ÁÇUP©õÚ ©v¨¥k GßÓõÀ GßÚ? 

9. What do you meant by tax deducted at sources? 

Buõμ[PÎÀ Á› Â»US GßÓõÀ GßÚ? 

10. Write short note on tax clearance certificate. 

Á› AÝ©v \õßÔuÌ ]Ö SÔ¨¦ GÊxP. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Compute the tax payable by a company for the 

Assessment year 2023–2024 if: 

   (i) Its total Income is Rs.4,00,000 and book profit 

is Rs. 15,00,000. 

   (ii) Its total income is Rs.6,20,000 and book profit 

is Rs.10,00,000. 

   2023&24 ©v¨¥mk BsiØS {ÖÁÚ® ö\»zu 
÷Ási¯ Á›ø¯U PnUQkP. 

     (i) Cuß ö©õzu Á¸©õÚ® ¹.4,00,000 ©ØÖ® 

¦zuP »õ£® ¹.15,00,000. 

    (ii) Cuß ö©õzu Á¸©õÚ® ¹.6,20,000 ©ØÖ® 

¦zuP »õ£® ¹.10,00,000.  

Or 
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 (b) Compute the total income of Mr. Ram from the 
particulars given below: 

   (i) Interest on securities Rs. 27,000 

   (ii) Rental value of a house Rs. 7,500 p.m.: Self 
acquired but transferred to HUF common pool. 
Income from this house (computed) is  
Rs. 25,000. 

   (iii)  Share from firm in which he has 1/3rd share 
Rs. 45,000 

   (iv) Commission received by his wife from such 
firm for acting as its selling agent Rs.25,000. 

   R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x v¸.μõªß 
ö©õzu Á¸©õÚzøuU PnUQkP. 

(i) £zvμ[PÒ «uõÚ Ámi ¹.27,000. 

(ii) J¸ Ãmiß ÁõhøP ©v¨¦ ¹.7,500 ©õu® 

_¯©õP Áõ[Q¯x. BÚõÀ HUF Põ©ß §¾US 
©õØÓ¨£mhx. C¢u Ãmiß Á¸©õÚ® 
(PnUQh¨£mhx) ¹.25,000. 

(iii) AÁº 1/3 £[S EÒÍ {ÖÁÚzvß £[S 
¹.45,000. 

(iv) ÂØ£øÚ •PÁμõP ö\¯À£mhuØPõP AzuøP¯ 
{ÖÁÚzvhª¸¢x AÁμx ©øÚÂ ö£ØÓ 
Pªåß ¹.25,000. 

12. (a) Describe the procedure for search and seizure by the 
income tax authorities. 

   Á¸©õÚ Á› AvPõ›PÍõÀ ÷ukuÀ ©ØÖ® £Ô•uÀ 
ö\´ÁuØPõÚ |øh•øÓø¯ ÂÁ›. 

Or 

 (b) Describe the powers of appellate tribunal.  

   ÷©À•øÓ±mk wº¨£õ¯zvß AvPõμ[PøÍ ÂÁ›. 
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13. (a) Mr. Nereka’s previous year’s gross total income is 
Rs.4,50,000. He has made the following donations. 
Calculate his net income. 

Particulars Rs.

Jawaharlal Nehru memorial fund 12,000

Rajiv Gandhi foundation 8,000

Africa fund 15,000

Indira Gandhi memorial fund 14,000

   v¸. ö|÷μPõÂß •¢øu¯ Bsiß ö©õzu 
Á¸©õÚ® ¹.4,50,000. AÁº ¤ßÁ¸® 
|ßöPõøhPøÍ ÁÇ[Q²ÒÍõº. AÁμx {Pμ 
Á¸©õÚzøu PnUQkP. 

ÂÁμ[PÒ ¹.

áÁíº»õÀ ÷|¸ {øÚÄ {v 12,000

μõãÆ Põ¢v AÓUPmhøÍ 8,000

B¨¤›UPõ {v 15,000

C¢vμõ Põ¢v {øÚÄ {v 14,000

Or 

 (b) Compute the tax payable by a company for the 
Assessment year 2023-2024 if :  

   (i) Its total Income is Rs.4,00,000 and book profit 
is Rs. 15,00,000.  

   (ii) Its total income is Rs.6,20,000 and book profit 
is Rs.10,00,000. 

   2023&2024 ©v¨¥mk BsiØS {ÖÁÚ® ö\¾zu 
÷Ási¯ Á›ø¯U PnUQkP. 

(i) ö©õzu Á¸©õÚ® ¹.4,00,000 ©ØÖ® ¦zuP 
»õ£® ¹.15,00,000. 

    (ii) ö©õzu Á¸©õÚ® ¹.6,20,000 ©ØÖ® ¦zuP 
»õ£® ¹.10,00,000. 
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14. (a) What is permanent account number? Explain is its 
significance. 

   {μ¢uμ PnUS Gs GßÓõÀ GßÚ? Auß 
•UQ¯zxÁzøu ÂÍUSP. 

Or 
 (b) What are the provisions as to rectification of 

mistake? 
   uÁøÓz v¸zxÁuØPõÚ ÂvPÒ GßÚ? 

15. (a) Briefly explain deduction of tax at sources under the 
income tax act 1961. 

   Á¸©õÚ Á›a \mh® 1961ß RÌ Buõμ[PÎÀ  
Á› Â»US £ØÔ _¸UP©õP ÂÍUSP. 

Or 
 (b) List out the payments on which tax is deducted at 

sources. 
   Buõμ[PÎÀ Á› PÈUP¨£k® öPõk¨£ÚÄPøÍ 

£mi¯¼kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following details of income have been supplied by 
Karta of H.U.F. You are required to compute the total 
income and tax of H.U.F. It has deposited Rs. 10,000 in 
PPF. 

 (a) Profit from business Rs. 2,62,000 
 (b) Salary received by a member of H.U.F. Rs.8,000 
 (c) Director’s fee received by Karta Rs.6,000 
 (d) Rental value of the property let Rs.12,000 
 (e) Municipal taxes Rs.600 
 (f) Bank Interest on a fixed deposit Rs.450 
 (g) Long-term Capital gains from the transfer of 

building Rs.9,500 
 (h) Long-term Capital gains from the transfer of 

investments Rs. 10,000 
 (i) Donation to a college which is an approved 

institution Rs.4,000 
 (j) Profit from an AOP (1/4th share) Rs.10,000 
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 C¢x ¤›UP¨£hõu Sk®£zvß PºzuõÁõÀ ¤ßÁ¸® 

Á¸©õÚ ÂÁμ[PÒ ÁÇ[P¨£mkÒÍÚ. C¢x 

¤›UP¨£hõu Sk®£zvß ö©õzu Á¸©õÚ® ©ØÖ® 

Á›ø¯ }[PÒ PnUQh ÷Ásk®. Cx ö£õx Á¸[Põ» 

øÁ¨¦ {v°À ¹.10,000. 

(A) ÁoPzvß »õ£® ¹.2,62,000. 

(B) C¢x ¤›UP¨£hõu Sk®£zøua ÷\º¢u J¸Áº 

ö£Ö® \®£Í® ¹.8,000. 

(C) Pºzuõ ö£ØÓ C¯USÚ›ß Pmhn® ¹.6,000. 

(D) ö\õzvß ÁõhøP ©v¨¦ ¹.12,000. 

(E) |Pμõm] Á›PÒ ¹.600. 

(F) {ø»¯õÚ øÁ¨¦zöuõøP°ß Á[Q Ámi ¹.450. 

(G) Pmihzøu ©õØÖÁuß ‰»® }sh Põ» ‰»uÚ 

Buõ¯[PÒ ¹.9,500. 

(H) •u½kPøÍ ©õØÖÁuß ‰»® }sh Põ» ‰»uÚ 

Buõ¯[PÒ ¹.10,000. 

(I) A[RP›UP¨£mh PÀ¿›US |ßöPõøh ¹.4,000. 

(J) J¸ |£º \[Pzvß »õ£® (1/4 £[S) ¹.10,000. 

17. Describe the procedure for appeal against an assessment. 

 ©v¨¥miØS GvμõP ÷©À•øÓ±k ö\´ÁuØPõÚ 

|øh•øÓø¯ ÂÁ›. 
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18. Mrs. “S” submits the following particulars of his income 
and losses for the year 2022–2023. 

   Particulars   Rs. 

 (a) Income from house property: 

        HP I (computed)    40,000 

        HP II     – 30,000 

        HP III     – 40,000 

  (b) Profits and gains of business 

  Business A: loss   – 80,000 

   Business B: Income before depreciation 1,00,000 

  Depreciation   80,000 

  Speculation business (gold) profits 70,000 

  (silver) loss   – 80,000 

 (c) Capital gains 

  STCG    1,90,000 

  STCL    – 80,000 

  LTCG    40,000 

  LTCL    – 50,000 

 (d) Others sources 

  Interest on securities  – 1,30,000 

  Royalty income   90,000 

  Lottery winnings   20,000 

  Betting    40,000 

 Gambling loss    – 30,000 

 Loss on horse races   – 40,000 

 Compute the income of Shri “S” for the AY: 2023–2024. 
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 2022&23 B® BsiØPõÚ AÁμx Á¸©õÚ® ©ØÖ® 
CÇ¨¦PÎß ¤ßÁ¸® ÂÁμ[PøÍ v¸©v. “Gì” 
\©º¨¤UQÓõº. 

   ÂÁμ[PÒ   ¹. 
 (A) Ãmka ö\õzv¼¸¢x Á¸©õÚ® : 
  Ãmka ö\õzx I (PnUQh¨£mhx) 40,000 
   Ãmka ö\õzx II   – 30,000 
      Ãmka ö\õzx III    – 40,000 
 (B) ÁoPzvß C»õ£[PÒ ©ØÖ® Buõ¯[PÒ 
  ÁoP® A: CÇ¨¦   – 80,000 
   ÁoP B: ÷u´©õÚzvØS •ß Á¸©õÚ® 1,00,000 
  ÷u´©õÚ®    80,000 
  FP ÁoP® (u[P®) »õ£® 70,000 
  (öÁÒÎ) CÇ¨¦   – 80,000 
 (C) ‰»uÚ Buõ¯[PÒ 
  SÖQ¯ Põ» ‰»uÚ Buõ¯® 1,90,000 
  SÖQ¯ Põ» ‰»uÚ CÇ¨¦ – 80,000 
  }sh Põ» ‰»uÚ Buõ¯® 40,000 
  }sh Põ» ‰»uÚ CÇ¨¦ – 50,000 
 (D) ¤Ó Buõμ[PÒ 
  £zvμ[PÒ «uõÚ Ámi  – 1,30,000 
  μõ¯Ài Á¸©õÚ®   90,000 
  »õmh› öÁØÔPÒ   20,000 
  £¢u¯®    40,000 
   `uõmh CÇ¨¦   – 30,000 
   Svøμ¨ £¢u¯[PÎÀ |èh® – 40,000 

  2023&24 B® BsiØPõÚ v¸©v. ‘Gì’&ß Á¸©õÚzøu 
PnUQkP. 

19. Explain the various types of assessment. 

£À÷ÁÖ ÁøP¯õÚ ©v¨¥møh ÂÍUSP. 

20. What are the provisions in Income Tax Act 1961 
regarding TDS from Interest of securities? 

£zvμ[PÒ «uõÚ Ámi°¼¸¢x ‰»zvÀ PÈUP¨£mh Á› 
öuõhº£õÚ Á¸©õÚ Á›a\mh® 1961 CÀ EÒÍ ÂvPøÍ 
ÂÍUPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is banking business? 
 Á[Q ÁoP® GßÓõÀ GßÚ? 

2. Define non – banking assets. 
 Á[Q AÀ»õu ö\õzxUPøÍ Áøμ¯ÖUPÄ®. 

3. What is meant by additional reserve? 
 TkuÀ C¸¨¦ GßÓõÀ GßÚ? 

4. Give the meaning of Net current assets. 
 {Pμ |h¨¦ ö\õzxPÎß ö£õ¸øÍz u¸P. 

5. What is meant by double account system? 
 CμmøhU PnUS •øÓ GßÓõÀ GßÚ? 

6. State any two differences between double account system 
and single account system. 
CμmøhU PnUS Aø©¨¦ •øÓUS® JØøÓU PnUS 
Aø©¨¦ •øÓUS® Cøh÷¯ H÷uÝ® Cμsk 
÷ÁÖ£õkPøÍU SÔ¨¤kP. 
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7. Give the meaning of Subsidiary company. 

 xøn {ÖÁÚ® Gß£uß ö£õ¸øÍz u¸P. 

8. What is a consolidated balance sheet? 

 J¸[QønUP¨£mh C¸¨¦ {ø»USÔ¨¦ GßÓõÀ GßÚ? 

9. Define Goodwill. 

 ÁoP |Øö£¯º Áøμ¯ÖUPÄ®. 

10. Give the meaning of super profit. 

 ªøP C»õ£® Gß£uß ö£õ¸øÍz u¸P. 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) From the following particulars, prepare the Profit 
and Loss Account of Chennai Bank Ltd. for the year 
ending 31st March 1992. 

 (Rs. in ‘000)

Interest on deposits 3,200

Commission (Cr.) 100

Interest on loans 2,490

Sundry charges (Dr.) 100

Rent and taxes 200

Establishment 500

Discount on bills discounted 1,490

Interest on overdrafts 1,600

Interest on cash credits 2,320

Auditors’ fees 35

Directors’ fees 16

Bad debts to be written off 300
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   ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x, ©õºa 31, 1992CÀ 
•iÁøh²® BsiØPõÚ, ö\ßøÚ Á[Q 
¼ªöhmiß C»õ£® ©ØÖ® |èhU PnUøPz 
u¯õ›UPÄ®. 

 (¹.‘000 CÀ)

øÁ¨¦zöuõøPUPõÚ Ámi 3,200

Pªåß (ÁμÄ) 100

PhÝUPõÚ Ámi 2,490

£À÷ÁÖ Pmhn[PÒ (£ØÖ) 100

ÁõhøP ©ØÖ® Á› 200

ìuõ£Ú® 500

¤ÀPÎÀ uÒÐ£i 1,490

KÁº iμõL¨m «uõÚ Ámi 1,600

£n ÁμÄPÒ «uõÚ Ámi 2,320

uoUøP¯õÍºPÎß Pmhn® 35

C¯US|ºPÎß Pmhn® 16

ÁõμõU PhßPøÍ uÒÐ£i ö\´¯ ÷Ásk® 300

Or 

 (b) What is Statutory reserve? How it is it created? 

   \mhŸv¯õÚ C¸¨¦ GßÓõÀ GßÚ? Ax G¨£i 
E¸ÁõUP¨£kQÓx? 

12. (a) Distinguish between life insurance and General 
insurance. 

   B²Ò Põ¨¥k ©ØÖ® ö£õx Põ¨¥k BQ¯ÁØøÓ 
÷ÁÖ£kzx. 

Or 
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 (b) A Life Assurance Company prepared its Revenue 
A/c for the year ended 31.3.2006 and ascertained its 
Life Assurance fund to be Rs. 28,35,000. It was 
found ater that the following had been Omitted 
from the accounts:  

  (i) Interest accrued on investments Rs. 39,000; 
Income tax liable to be deducted thereon is 
estimated to be Rs. 10,500. 

  (ii) Outstanding premiums Rs. 32,800. 

  (iii) Bonus utilized for reduction of premium  
Rs. 6,750. 

  (iv) Claims intimated but not admitted Rs. 17,400 

  (v) Claims covered under reinsurance Rs. 6,500. 

   What is the true Life Assurance Fund? 

   B²Ò Põ¨¥k {ÖÁÚ® 31.3.2006CÀ •iÁøh¢u 
BsiØPõÚ Auß Á¸Áõ´ PnUøPz u¯õ›zx 

Auß B²Ò Põ¨¥mk {v ¹. 28,35,000. PnUSPÎÀ 
¤ßÁ¸£øÁ uÂºUP¨£mi¸¨£x ¤ßÚº 
PshÔ¨£mhx : 

  (i) •u½kPÒ «uõÚ Ámi ¹. 39,000; AvÀ 
PÈUP¨£h ÷Ási¯ Á¸©õÚ Á›¯õÚx  

¹. 10,500. 

  (ii) {¾øÁ°À EÒÍ •øÚ©® ¹. 32,800. 

  (iii) •øÚ©® SøÓ¨£uØS¨ £¯ß£kzu¨£k® 

÷£õÚì ¹. 6,750. 

  (iv) AÔÂUP¨£mh BÚõÀ AÝ©vUP¨£hõu 

E›ø© ÷PõμÀPÒ ¹. 17,400. 

  (v) ©ÖPõ¨¥miß RÌ EÒÍ E›ø©÷PõμÀPÒ  

¹. 6,500. 

    B²Ò Põ¨¥mk {v GßÓõÀ GßÚ? 
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13. (a) A water supply concern had to replace a quarter of 
the mains and lay an auxiliary main for the 
remaining length in order to augment supplies of 
water to a locality. The total cost of the original 
main was Rs. 4,00,000. The auxiliary main cost  
Rs. 4,50,000 and the new main cost Rs. 1,75,000. It 
is estimated that the cost of laying a main has gone 
up by 30%, Part of the old main realized Rs. 15,000. 
Calculate replacement of assets. 

   J¸ £SvUS }º Â{÷¯õPzøu AvP›UP, }º ÁÇ[PÀ 
Ámhõμ £Sv ö©°ßPÎÀ PõÀ £Svø¯ ©õØÔ, 
«u•ÒÍ }ÍzvØS J¸ xøn ö©°ß Aø©UP 
÷Ásk®. A\À ö©°ß ö©õzu Âø» ¹. 4,00,000. 
xøn ¤μuõÚ Âø» ¹. 4,50,000 ©ØÖ® ¦v¯ 
ö©°ß Âø» ¹. 1,75,000. ö©°ß ÷£õkÁuØPõÚ 
ö\»Ä 30% E¯º¢xÒÍuõP ©v¨¤h¨£mkÒÍx. 
£øÇ¯ ö©°ß J¸ £Sv ¹. 15,000. ©Ö©v¨¥k 
ö\´²® ö\õzøu PnUQkP. 

Or 

 (b) The Indian Gas company rebuilt their works with 
double the capacity at a cost of Rs. 8,00,000. The 
cost of the part of old works was Rs. 3,50,000. In 
working the new works, old material of Rs. 15,000 
were reused and material worth Rs. 25,000 was sold 
away. The cost of labour and materials are 50% 
higher now than when the old works were built. You 
are required to make necessary calculations and 
give journal entries. 

   C¢v¯ G›Áõ² {ÖÁÚ® ¹. 8,00,000. ö\»ÂÀ 
Cμmi¨¦ vÓÝhß u[PÒ £oPøÍ «sk® 
Pmi¯x. £øÇ¯ £oPÎß J¸ £Sv°ß Âø» 
¹.3,50,000. ¦v¯ £oPÎÀ £øÇ¯ ö£õ¸Ò  
¹.15,000 «sk® £¯ß£kzu¨£mhx ©ØÖ®  
¹.25,000 Áøμ ÂØ£øÚ¯õÚx. £øÇ¯ ÷Áø»PÒ 
Pmh¨£mh Põ»zøu Âh uØ÷£õx öuõÈ»õÍº 
©ØÖ® ö£õ¸mPÎß Âø» 50% AvP©õP EÒÍx. 
}[PÒ ÷uøÁ¯õÚ PnUSPÒ ©ØÖ® SÔ¨÷£kPøÍ 
u¯õº ö\´¯Ä®. 
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14. (a) Explain and illustrate the different methods of 
calculating of Goodwill. 

   ÁoP |Øö£¯º PnUQkÁuØPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÍUPÄ®. 

Or 

 (b) X Ltd. Purchased 60% shares of Y Ltd. on 1-1-02 
when the balance on their P & L A/c and General 
reserve were Rs. 1,50,000 and Rs. 1,60,000 
respectively. On 31-12-02, the Balance sheet of  
Y Ltd. showed P & L a/c balance of Rs. 4,00,000 and 
General reserve Rs. 3,00,000. Calculate Capital 
profits and Revenue profits. 

   X Ltd. 1-1-02 AßÖ Y Ltd.Cß 60% £[SPøÍ 
Áõ[Q¯x, AÁºPÎß C»õ£ |mh PnUS ©ØÖ® 

ö£õx C¸¨¦ {ø»USÔ¨¦ ¹. 1,50,000 ©ØÖ®  

¹. 1,60,000 •øÓ÷¯ 31-12-02 AßÖ, Y Ltd.Cß 
C¸¨¦{ø»U SÔ¨¤À C»õ£ |mh PnUS ©ØÖ® 

C¸¨¦{ø»U SÔ¨¤À ¹. 4,00,000 ©ØÖ® ö£õx 

C¸¨¦ ¹. 3,00,000. ‰»uÚ »õ£® ©ØÖ® Á¸Áõ´ 
»õ£zøu PnUQkP. 

15. (a) From the following information relating to Sridevi 
enterprises, calculate the value of goodwill on the 
basis of 4 years purchase of the average profits of  
3 years. 

(i) Profits for the years ending 31st December 
2016, 2017 and 2018 were Rs. 1,75,000,  
Rs. 1,50,000 and Rs. 2,00,000 respectively. 

  (ii) A non-recurring income of Rs. 45,000 is 
included in the profits of the veer 2016. 

  (iii) The closing stock of the year 2017 was 
overvalued by Rs. 30,000. 
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   ÿ÷uÂ {ÖÁÚ[PÒ öuõhº£õÚ ¤ßÁ¸® 
uPÁÀPÎÀ C¸¢x, 3 Á¸h[PÎß \μõ\› 
C»õ£zvß 4 Á¸h öPõÒ•uÀ Ai¨£øh°À 
ÁoPö£¯›ß ©v¨ø£U PnUQkP. 

(i) i\®£º 31, 2016, 2017 ©ØÖ® 2018 CÀ 
•iÁøh¢u BskPÐUPõÚ C»õ£® •øÓ÷¯ 
¹. 1,75,000, ¹. 1,50,000 ©ØÖ® ¹. 2,00,000 
respectively. 

  (ii) ¹. 45,000 GßÓ öuõhº Á¸©õÚ® 2016B® 
Bsiß »õ£zvÀ ÷\ºUP¨£mkÒÍx. 

  (iii) 2017B® Bsiß CÖv¨ £[S ©v¨¦  
¹. 30,000 BÀ AvP©õP ©v¨¤h¨£mhx. 

Or 

 (b) From the following information, calculate the value 
of goodwill on the basis of 3 years purchase of 
average profits of last four years. 

Year Result Amount

2015 Profit 5,000 

2016 Profit 8,000 

2017 Loss 3,000 

2018 Profit 6,000 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x, Ph¢u |õßS 
BskPÎß \μõ\› C»õ£zvß 3 Á¸h öPõÒ•uÀ 
Ai¨£øh°À ÁoP |Øö£¯›ß ©v¨ø£U 
PnUQkP. 

Bsk •iÄ öuõøP

2015 C»õ£®  5,000 

2016 C»õ£® 8,000 

2017 |èh® 3,000 

2018 C»õ£® 6,000 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. On 31st December 1986. The following balances stood in 
the books of Asian Bank Ltd. after preparation of its 
profit and Loss Account. 

 Rs. (in ‘000)

Share capital : Issued and subscribed 4,000

Reserve fund (Under section 17) 6,200

Fixed deposits 42,600

Savings bank deposits 19,000

Current accounts 23,200

Money at call and short notice 1,800

Investments 25,000

Profit and loss account (cr) 1st Jan 1986 1,350

Dividend for 1985 400

Premises 2,950

Cash in hand 380

Cash with RBI 10,000

Cash with other banks 6,000

Bills discounted and purchased 3,800

Loans, cash credits and over drafts 51,000

Bills payable 70

Unclaimed dividend 60

Rebate on bills discounted 50

Short loans (borrowing from other banks) 4,750

Furniture 1,164

Other assets 336

Net profit for 1986 1,550

 Prepare balance sheet of the bank as on 31th December 
1986. 
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i\®£º 31, 1986 B]¯ß Á[Q ¼ªöhm Auß »õ£® 
©ØÖ® |èhU PnUøPz u¯õ›zu ¤ÓS ¤ßÁ¸® 
{¾øÁPÒ ¦zuP[PÎÀ C¸¢uÚ. 

 ¹. (in ‘000)

£[S ‰»uÚ® : öÁÎ°h¨£mhx ©ØÖ® \¢uõ ö\¾zu¨£mhx 4,000

C¸¨¦ {v (¤›Ä 17Cß RÌ) 6,200

{ø»¯õÚ øÁ¨¦ 42,600

÷\ª¨¦ Á[Q øÁ¨¦ 19,000

|h¨¦U PnUSPÒ 23,200

AøÇ¨¤¾® SÖQ¯ AÔÂ¨¤¾® £n® 1,800

•u½kPÒ 25,000

C»õ£® ©ØÖ® CÇ¨¦ PnU (Cr) 1 áÚÁ› 1986 1,350

1985UPõÚ DÄzöuõøP 400

ÁÍõP® 2,950

øP°À öμõUP® 380

›\ºÆ Á[Q°h® £n® 10,000

©ØÓ Á[QPÎÀ £n® 6,000

Pmhn[PÒ uÒÐ£i ö\´¯¨£mk Áõ[P¨£mhÚ 3,800

PhßPÒ, £n ÁμÄPÒ ©ØÖ® ÷©À ÁøμÄPÒ 51,000

ö\¾zu ÷Ási¯ ¤ÀPÒ 70

÷Põμ¨£hõu DÄzöuõøP 60

¤ÀPÎÀ uÒÐ£i 50

SÖQ¯ PhßPÒ (¤Ó Á[QPÎÀ Phß Áõ[SuÀ) 4,750

©μa\õ©õßPÒ 1,164

¤Ó ö\õzxUPÒ 336

1986UPõÚ {Pμ C»õ£® 1,550

i\®£º 31, 1986CÀ Á[Q°ß C¸¨¦{ø»U SÔ¨ø£z 
u¯õ›UPÄ®. 
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17. Write short note on : 

 (a)  Surrender value  

 (b)  Re-insurance  

 (c)  Annuity  

 (d)  Double insurance 
 ]Ö SÔ¨¦ u¸P : 

 (A) Âk©v¨¦ (AÀ»x) v¸®£  ö£ÖuÀ 

 (B) ©Ö&Põ¨¥k 

 (C) Bsk öuõøP 

 (D) Cμmøh Põ¨¥k 

18. Differentiate between Single account system and double 
account system. 
JØøÓU PnUS •øÓUS® CμmøhU PnUS •øÓUS® 
Cøh÷¯ ÷ÁÖ£kzxP. 

19. On 31st March, 1996 the balance sheets of H Ltd. and its 
subsidiary S Ltd. Stood as follows. 

Liabilities H Ltd.  S Ltd.  Assets H Ltd. S Ltd. 

Equity share  
capital 

 
8,00,000 

  
2,00,000 

 Fixed assets 
75% shares in 

5,50,000 1,00,000

General reserve 1,50,000  70,000  S ltd. (at cost) 2,80,000

Profit and loss A/c 90,000  55,000  Stock 1,05,000 1,77,000

Creditors 1,20,000  80,000  Other current assets 2,25,000 1,28,000

 11,60,000  4,05,000   11,60,000 4,05,000

 Draw a consolidated Balance Sheet as at 31st March, 1996 
after taking into consideration the following information: 

 (a) H Ltd. acquired the shares on 31st July, 1995. 

 (b) S Ltd. earned profit of  Rs. 45,000 for the year ended 
31st March, 1996. 

 (c) In January 1996 S Ltd. sold to H Ltd. goods costing 
Rs. 15,000 for Rs. 20,000. On 31st March, 1996 half 
of these goods were lying as unsold in the godown of 
H Ltd. Give your working notes. 
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 ©õºa 31, 1996 AßÖ Ga ¼ªöhm ©ØÖ® Auß xøn 
{ÖÁÚ©õÚ Gì ¼ªöhm BQ¯ÁØÔß C¸¨¦{ø»U 
SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ Ga ¼ªöhm  Gì ¼ªöhm  ö\õzxUPÒ Ga ¼ªöhm Gì ¼ªöhm

÷|ºø© •ßÝ›ø©     {ø»¯õÚ  

£[S ‰»uÚ® 8,00,000  2,00,000  ö\õzxUPÒ 5,50,000 1,00,000
ö£õx C¸¨¦ 1,50,000  70,000  75% £[SPÒ

C»õ£® ©ØÖ®      Gì ¼ªöhm 2,80,000
CÇ¨¦ P/S 90,000  55,000  \μUQ¸¨¦ 1,05,000 1,77,000
Phß      ©ØÓ |h¨¦ 

öPõkzuÁºPÒ 1,20,000  80,000  ö\õzxUPÒ 2,25,000 1,28,000

 11,60,000  4,05,000   11,60,000 4,05,000

 ¤ßÁ¸® uPÁø»U P¸zvÀ öPõsk ©õºa 31, 1996 CÀ 
J¸[QønUP¨£mh C¸¨¦{ø»U SÔ¨ø£ Áøμ¯Ä® : 

 (A) Ga ¼ªöhm £[SPøÍ áüø» 31, 1995 AßÖ 
Áõ[Q¯x. 

 (B) Gì ¼ªöhm ¹. C»õ£®  Dmi²ÒÍx. ©õºa 31, 
1996 CÀ •iÁøh¢u BsiØS ¹. 45,000. 

 (C) áÚÁ› 1996CÀ, Gì ¼ªöhm Ga ¼ªöhm 
{ÖÁÚzvØS ÂØÓx ¹. 15,000 ¹£õ´US ¹. 20,000. 
31 ©õºa 1996 AßÖ C¢u ö£õ¸mPÎÀ £õv  
H LtdCß S÷hõÛÀ ÂØP¨£hõ©À Qh¢uÚ. 

20. Average capital employed in Kausik Ltd. is Rs. 35,00,000 
whereas net trading profits before tax for the last three 
years have been Rs. 14,75,000; Rs. 14,55,000 and  
Rs. 15,25,000.  

 In these three years, the managing director was paid a 
salary of Rs. 10,000 p.m. But now he would be paid a 
salary of Rs. 12,000 p.m. Normal rate of return expected 
in the industry in which Kausik Ltd. is engaged is 18%. 
Rate of tax is 50%. Calculate goodwill on the basis of 
three years purchase of the super profits. 

 öPÍ]U ¼ªöhm {ÖÁÚzvÀ £o¦›²® \μõ\› ‰»u® 
¹. 35,00,000 A÷u \©¯® {Pμ ÁºzuP® Ph¢u ‰ßÖ 
BskPÍõP Á›US •¢øu¯ C»õ£® ¹. 14,75,000;  
¹.  14,55,000 ©ØÖ® ¹. 15,25,000. 
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 C¢u ‰ßÖ BskPÎÀ {ºÁõP C¯US|¸US  
¹. 10,000 p.m. BÚõÀ C¨÷£õx AÁ¸US \®£Í©õP  
¹. 12,000 p.m. öPÍ]U ¼ªöhm Dk£mkÒÍ 
öuõÈÀxøÓ°À Gvº£õºUP¨£k® \μõ\› Á¸Áõ´ ÂQu® 
50%. ‰ßÖ Á¸h ªøP »õ£zøu Ai¨£øh°À 
ÁoPö£¯›øÚ PnUQkP. 

 

 

 
———————— 
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Sixth Semester 

Commerce with Computer Application 

MANAGEMENT ACCOUNTANCY 

(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define management accounting. 
 ÷©»õsø© PnUQ¯ø» Áøμ¯ÖUPÄ®. 

2. List out any two limitations of financial accounting. 
 {vUPnUQ¯¼À H÷uÝ® Cμsk Áμ®¦PøÍ 

£mi¯¼kP. 

3. Explain the term ratio analysis. 
 ÂQu¨ £S¨£õ´øÁ ÂÍUPÄ®. 

4. What do you meant by liquidity? 
 }º©ußø© GßÖ GøuU SÔ¨¤kQÕºPÒ? 

5. Describe the term fund in fund flow statement. 
 öμõUP Kmh AÔUøP°À²ÒÍ öμõUP® GßÓ ö\õÀø» 

ÂÁ›UPÄ®. 

6. What do you meant by fund forecasting? 
 {v •ß B´Ä GßÖ GøuU SÔ¨¤kQÕºPÒ? 

Sub. Code 
7BCC6C4 
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7. Explain the term budget. 

 {vU vmhzøu ÂÍUSP. 

8. What do you meant by flexible budget? 

 ö|QÌÁõÚ {v GßÖ GøuU SÔ¨¤kQÕºPÒ? 

9. Describe standard costing. 

 uμ AhUP Âø» PnUøP ÂÁ›UPÄ®. 

10. What do you meant by break even analysis? 

 •ÔÄ £S¨£õ´Ä GßÖ GøuU SÔ¨¤kQÕºPÒ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Briefly explain about uses of management 
accountancy. 

  ÷©»õsø© PnUQ¯¼ß £¯ß£õkPÒ £ØÔ 
_¸UP©õP ÂÍUPÄ®.  

Or 

 (b) Elaborate the key features of management 
accountancy. 

  ÷©»õsø© PnUQ¯¼ß •UQ¯ A®\[PøÍ 
ÂÁ›UPÄ®. 

12. (a) Explain the limitations of financial statements 
analysis. 

  {v AÔUøPPÒ £S¨£õ´Âß Áμ®¦PøÍ ÂÍUSP. 

Or 
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 (b) Calculate Current Ratio from the following 
information: 

Particulars Rs. 

Inventories 50,000 

Trade receivables 50,000 

Advance tax 4,000 

Cash and cash equivalents 30,000 

Trade payables 1,00,000 

Short-term borrowings (bank overdraft) 4,000 

  ¤ßÁ¸® uPÁ¼¼¸¢x uØ÷£õøu¯ ÂQuzøuU 
PnUQk[PÒ.  

ÂÁμ[PÒ ¹. 

C¸¨¦ 50,000 

ÁºzuP ÁμÄ 50,000 

•ßTmi¯ Á› 4,000 

öμõUP® ©ØÖ® £nzvØS \©©õÚøÁ 30,000 

ÁºzuP® ö\¾zu ÷Ási¯øÁ 1,00,000 

SÖQ¯ Põ» PhßPÒ  
(Á[Q KÁº iμõL¨m) 4,000 

13. (a) Describe the limitations of cash flow statements. 

  £n¨¦ÇUP AÔUøPPÎß Áμ®¦PøÍ ÂÁ›UPÄ®. 

Or 

 (b) Write a note on cash flow from operations and net 
income. 

  ö\¯À£õkPÒ ©ØÖ® {Pμ Á¸©õÚzvÀ C¸¢x 
£n¨¦ÇUP® £ØÔ¯ SÔ¨ø£ GÊuÄ®. 
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14. (a) Describe the process of preparing budgets. 

  {vz u¯õ›US® ö\¯À •øÓø¯ ÂÁ›UPÄ®. 

Or 

 (b) The expenses budgeted for production of 1,000 units 
in a factory are furnished below: 

Particulars Per Unit Rs. 

Material Cost 700 

Labour Cost 250 

Variable overheads 200 

Selling expenses (20% fixed) 130 

Administrative expenses  
(Rs. 2,00,000) 200 

Total Cost 1,480 

  Prepare a budget for production of 600 units and 
800 units assuming administrative expenses are 
rigid for all level of production. 

  J¸ öuõÈØ\õø»°À 1,000 A»SPÒ EØ£zv ö\´¯ 
£möám ö\´¯¨£mh ö\»ÄPÒ R÷Ç 
öPõkUP¨£mkÒÍÚ: 

ÂÁμ[PÒ A»SUS ¹.

ö£õ¸Ò ö\»Ä 700 

öuõÈ»õÍº ö\»Ä 250 

©õÔ ÷©À{ø»PÒ 200 

ÂØ£øÚa ö\»ÄPÒ  
(20% {ø»¯õÚx) 130 

{ºÁõPa ö\»ÄPÒ (¹. 2,00,000) 200 

ö©õzu ö\»Ä 1,480 

  600 A»SPÒ EØ£zvUPõÚ £möámøhz u¯õ›UPÄ® 
©ØÖ® 800 A»SPÎß AøÚzx {ºÁõPa 
ö\»ÄPÐ® BS® EØ£zv. 
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15. (a) Explain the meaning and characteristics of 
marginal costing. 

  CÖv{ø»a ö\»Âß ö£õ¸Ò ©ØÖ® £s¦PøÍ 
ÂÍUS[PÒ. 

Or 

 (b) From the following information find out the amount 
of profit earned during the year using the marginal 
costing technique. 

  Fixed cost Rs, 2,50,000; Variable cost Rs.10 per 
unit; Selling price Rs. 15 per unit; Output level 
75,000 units. 

  ¤ßÁ¸® uPÁÀPÎÀ C¸¢x Á¸hzvÀ Dmi¯ 
»õ£zvß AÍøÁU PshÔ¯Ä®. 

  ÂÎ®¦ ö\»Ä ~m£®. 
  {ø»¯õÚ ö\»Ä ¹.2,50,000; ©õÔ Âø» A»SUS 

¹.10; ÂØ£øÚ Âø» A»SUS ¹.15;  
öÁÎ±mk {ø» 75,000 A»SPÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Write an essay on differences between financial 
accounting, cost accounting and management accounting. 

 {vUPnUS, AhUP Âø»UPnUS ©ØÖ® ÷©»õsø©U 
PnUQ¯À BQ¯ÁØÖUS Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ 
SÔzx J¸ Pmkøμ GÊuÄ®. 

17. Following is the Profit and Loss Account of Samir Auto 
Ltd., for the year ended 31st March, 2016. 
Particulars Amount 

in Rs 
Particulars  Amount in 

Rs.  

To Opening Stock 1,00,000 By Sales 5,60,000

To Purchases 3,50,000 By Closing Stock 1,00,000

To Wages 9,000 

To Gross Profit c/d 2,01,000  
 6,60,000  6,60,000
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Particulars Amount 
in Rs 

Particulars  Amount in 
Rs.  

To Administrative 
Expenses 

 
20,000 

 

To Selling and 
Distribution Expenses 

 
89,000 

By Gross Profit 
b/d 2,01,000

To Non-Operating 
Expenses 

 
30,000 

By Interest on 
Investments 10,000

To Net Profit 
Transferred to Capital 

 
80,000 

By Profit on sale  
of Assets 8,000

 2,19,000  2,19,000

 Calculate  
 (a) Gross profit ratio 
 (b) Net profit ratio 
 (c) Inventory Turnover Ratio 
 (d) Operating and non operating ratio 
 (e) Operating Expenses Ratio 

 •iÁøh¢u BsiØPõÚ \«º Bm÷hõ ¼ªöhm 
{ÖÁÚzvß »õ£ |èhU PnUS ¤ßÁ¸©õÖ. 

ÂÁμ[PÒ öuõøP 
¹. 

ÂÁμ[PÒ öuõøP
¹. 

öuõhUPa \μUQ¸¨¦ 1,00,000 ÂØ£øÚ ‰»® 5,60,000
öPõÒ•uÀ 3,50,000 CÖv \μUQ¸¨¦ 1,00,000
T¼US 9,000 
ö©õzu »õ£zvØS c/d 2,01,000  

 6,60,000  6,60,000
{ºÁõP ö\»ÄPÐUS 20,000  
ÂØ£øÚ ©ØÖ® 
Â{÷¯õP ö\»ÄPÒ 

 
89,000 

ö©õzu »õ£zvß 
‰»® b/d 2,01,000

ö\¯À£hõu 
ö\»ÄPÐUS  

 
30,000 

•u½kPÒ «uõÚ 
Ámi ‰»®  10,000

{Pμ»õ£® ‰»uÚzvØS 
©õØÓ¨£mhx 

 
80,000 

ö\õzxUPøÍ 
ÂØ£øÚ 
ö\´Áuß ‰»® 
QøhUS® »õ£®

8,000

 2,19,000  2,19,000
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 PnUQkP: 
 (A) ö©õzu C»õ£ ÂQu® 
 (B) {Pμ C»õ£ ÂQu® 
 (C) \μUS ÂØÖ •uÀ ÂQu® 
 (D) C¯UP ©ØÖ® ö\¯À£hõu ÂQu® 
 (E) ö\¯À£õmk ö\»Ä ÂQu®  

18. Elaborate uses and limitations of fund flow statements. 

 {v Kmh AÔUøPPÎß Â›ÁõÚ £¯ß£õkPÒ ©ØÖ® 
Áμ®¦PÒ. 

19. TATA Co. Ltd. is to start production on 1st January 2019. 
The prime cost of a unit is expected to be Rs. 40  
(Rs. 16 per materials and Rs. 24 for labour). In addition, 
variable expenses per unit are expected to be Rs. 8 and 
fixed expenses per month Rs. 30,000. Payment for 
materials is to be made in the month following the 
purchase. One-third of sales will be for cash and the rest 
on credit for settlement in the following month. Expenses 
are payable in the month in which they are incurred. The 
selling price is fixed at Rs. 80 per unit. The number of 
units to be produced and sold is expected to be: 

 January 900; February 1,200; March 1,800; April 2,000; 
May 2,100; June 2400 Draw a Cash Budget indicating 
cash requirements from month to month. 

TATA Co. Ltd. áÚÁ› 1, 2019 AßÖ EØ£zvø¯z 
öuõh[P EÒÍx. J¸ A»S •ußø© Âø» 
Gvº£õºUP¨£kQÓx ¹.40 (J¸ ö£õ¸mPÐUS ¹.16 
©ØÖ® EøÇ¨¦US ¹.24), Tku»õP, ©õÔ J¸ A»SQß 
ö\»ÄPÒ 8 ¹. C¸US® GÚ Gvº£õUP¨£kQÓx, ©ØÖ® 
{ø»¯õÚ ö\»ÄPÒ ©õuzvØS ¹.30,000. 

 ö£õ¸mPøÍ Áõ[Q¯ Akzu ©õuzvÀ £n® ö\¾zu 
÷Ásk®. ‰ßÔÀ J¸ £[S ÂØ£øÚ öμõUP©õPÄ®, 
«u•ÒÍøÁ Akzu ©õuzvÀ ö\miÀö©ßhõPÄ® 
C¸US®. 
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 ö\»ÄPÒ G¢u ©õuzvÀ ö\¾zu¨£k®. 
{ºn°UP¨£mkÒÍ ÂØ£øÚ Âø» 80 ¹. J¸ A»S 
EØ£zv ©ØÖ® ÂØP¨£k® A»SPÎß GsoUøP: 

 áÚÁ› 900; ¤¨μÁ› 1,200; ©õºa 1,800; H¨μÀ 2,000;  
÷© 2,100; áüß 2,400 ©õu¢÷uõÖ® £nz ÷uøÁPøÍU 
SÔUS® £n ÁμÄ ö\»Äz vmhzøu Áøμ¯Ä®. 

20. A manufacturing concern, which has adopted standard 
costing, furnished the following information: 

 Standard Material for 70 kg finished product: 100 kg. 
 Price of materials: Re. 1 per kg. 
 Actual Output: 2,10,000 kg. 
 Material used: 2,80,000 kg. 
 Cost of material: Rs. 2,52,000. 
 Calculate: 
 (a) Material Usage Variance  
 (b)  Material Price Variance  
 (c)  Material Cost Variance 

 J¸ EØ£zv AUPøÓ, {ø»¯õÚ Âø»ø¯ 
HØÖUöPõshx 

 ¤ßÁ¸® uPÁÀ : 

 70 Q÷»õ •iUP¨£mh u¯õ›¨¦UPõÚ {ø»¯õÚ ö£õ¸Ò; 
100 Q÷»õ. 

 ö£õ¸mPÎß Âø» : ¹. J¸ Q÷»õÄUS 1. 
 Esø©¯õÚ öÁÎ±k : 2,10,000 Q÷»õ. 
 £¯ß£kzv¯ ö£õ¸Ò : 2,80,000 Q÷»õ. 
 ö£õ¸Ò Âø» : ¹. 2,52,000. 
 PnUQk:  
 (A) ö£õ¸Ò £¯ß£õmk ©õÖ£õk 
 (B) ö£õ¸Ò Âø» ©õÖ£õk 
 (C) ö£õ¸Ò ö\»Ä ©õÖ£õk 
  

———————— 
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(CBCS – 2017 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Namespace? 

 ö£¯ºöÁÎ GßÓõÀ GßÚ? 

2. Define Structure. 

 Pmhø©¨¦ Áøμ¯Ö. 

3. How to create an Array? 

 Á›ø\ø¯ GÆÁõÖ E¸ÁõUSÁx? 

4. Write a short note on Functions. 

 ö\¯À£õk £ØÔ ]Ö SÔ¨¦ GÊxP.  

5. What is Text box? 

 Eøμö£mi GßÓõÀ GßÚ? 

6. Mention importance of Buttons. 

 ö£õzuõßPÎß •UQ¯zxÁzøu SÔ¨¤hÄ®.  
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7. List out any two File Types in ASP .NET? 

 ASP .hõm ö|m&À EÒÍ ÷Põ¨¦ ÁøPPÒ H÷uÝ® 
CμsiøÚ £mi¯¼kP.  

8. What is HTML? 

 HTML GßÓõÀ GßÚ?   

9. What do you mean by Database? 

 uμÄuÍ® £ØÔ }[PÒ GßÚ ö\õÀQÕºPÒ? 

10. Define SQL. 

 GìU³GÀ Áøμ¯Ö.  

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain Class Library. 

  ÁS¨¦ ¡»P® £ØÔ ÂÁ›UPÄ®.  

Or 

 (b) Discuss the Concept of Assemblies. 

  Tmhø©¨¤ß P¸zøu £ØÔ ÂÁ›UPÄ®.  

12. (a) Explain in detail about Data Type in VB .NET. 

  VB hõmö|m&À EÒÍ uμÄ ÁøPPøÍ £ØÔ Â›ÁõP 
ÂÍUPÄ®.  

Or 

 (b) Write a short note on Input Box in VB .NET. 

  VB hõmö|m&À EÒÍ EÒÏk ö£miPøÍ £ØÔ ]Ö 
SÔ¨¦ GÊuÄ®.  
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13. (a) Discuss about List Boxes. 

  £mi¯À ö£miPÒ £ØÔ ÂÁõvUPÄ®.  

Or 

 (b) Explain the Concept of Progress Bar and Scroll Bar. 

  ¦μõPμì £õº ©ØÖ® ì÷PõºÀ £õº £ØÔ¯ P¸zvøÚ 
ÂÍUSP.  

14. (a) Briefly explain about Data Controls. 

  uμÄ Pmk¨£õkPÒ £ØÔ Â›ÁõP ÂÍUPÄ®.  

Or 

 (b) Discuss about Form Authentication. 

  £iÁ A[RPõμ® £ØÔ ÂÁõvUPÄ®.  

15. (a) Describe the Concept of Data Binding Controls. 

  uμÄ ¤øn¨¦ Pmk¨£õkPÎß P¸zvøÚ 
ÂÁ›UPÄ®.  

Or 

 (b) Explain Data Objects with example. 

  uμÄ ö£õ¸mPÒ £ØÔ GkzxUPõmkPÐhß 
ÂÍUPÄ®.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain in detail about .NET Components. 

 hõmö|m TÖPÒ £ØÔ Â›ÁõP ÂÍUPÄ®.  

17. What is an Array? Explain Two-Dimensional Array with 
example. 

 uμ® GßÓõÀ GßÚ? C¸£›©õn Á›ø\ £ØÔ 
GkzxUPõmkPÐhß ÂÁ›UPÄ®.  
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18. Discuss in detail about Timer and Menus. 

 øh©º ©ØÖ® ö©Þì £ØÔ GkzxUPõmkhß 
ÂÁõvUPÄ®.  

19. Differentiate HTTP Request and HTTP Response. 

 HTTP ÷Põ›UøP ©ØÖ® HTTP £vÀ BQ¯ÁØøÓ 
÷ÁÖ£kzuÄ®.  

20. Write a short note on following: 

 (a) Dataset  

 (b)  Data List 

 (c)  Data Grid 

 ¤ßÁ¸ÁÚÁØøÓ £ØÔ ]Ö SÔ¨¦ GÊxP.  

 (A) uμÄ öuõS¨¦ 

 (B) uμÄ £mi¯À  

 (C) uμÄ Pmh® 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. How can an organization promote the welfare of its 
workers? 
J¸ {ÖÁÚ® uÚx öuõÈ»õÍºPÎß |»øÚ GÆÁõÖ 
÷©®£kzu»õ®? 

2. Who is the inspecting staff under the factories act 1948? 
 öuõÈØ\õø»PÒ \mh® 1948ß RÌ B´Ä ö\´²® 

£o¯õÍº ¯õº? 

3. What are the rights of trade unions? 
 öuõÈØ\[P[PÎß E›ø©PÒ GßÚ? 

4. What is the Minimum Wages Act, 1948? 
 SøÓ¢u£m\ Fv¯a \mh®, 1948 GßÓõÀ GßÚ? 

5. What is a strike? 
 ÷Áø»{Özu® GßÓõÀ GßÚ? 

6. What is a lockout? 
 §mkuÀ GßÓõÀ GßÚ? 

Sub. Code 
7BCCE3B 



F–0213 

  

  2

7. What is the nature of workmen’s compensation? 
 öuõÈ»õÍºPÎß CÇ¨¥miß ußø© GßÚ? 

8. What is the scope of workmen’s compensation? 
 öuõÈ»õÍºPÎß CÇ¨¥mkz öuõøP°ß ÷|õUP® GßÚ? 

9. What is a provident fond scheme? 
 Á¸[Põ» øÁ¨¦ {v vmh® GßÓõÀ GßÚ? 

10. What is the Employee’s State Insurance Act, 1948? 
 FÈ¯ºPÎß ©õ{»U Põ¨¥mka \mh®, 1948 GßÓõÀ 

GßÚ? 

 Part B (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the legal requirements for employing 
young people, and what steps should be taken to 
protect their health and safety? 

   CøÍbºPøÍ ÷Áø»US A©ºzxÁuØPõÚ \mhz 
÷uøÁPÒ GßÚ, AÁºPÎß EhÀ|»® ©ØÖ® 
£õxPõ¨ø£¨ £õxPõUP GßÚ |hÁiUøPPÒ 
GkUP¨£h ÷Ásk®?  

Or 

 (b) How can employers provide a safe and supportive 
work environment for young workers? 

   CÍ® öuõÈ»õÍºPÐUS £õxPõ¨£õÚ ©ØÖ® 
BuμÁõÚ £oa`Çø» •u»õÎPÒ GÆÁõÖ ÁÇ[P 
•i²®? 

12. (a) What are the penalties for non-compliance with the 
provisions of the Minimum Wages Act, 1948?  

   SøÓ¢u£m\ Fv¯a \mh®, 1948Cß ÂvPÐUS 
Cn[PõuuØS GßÚ ushøÚPÒ? 

Or 

 (b) What are the penalties for non-compliance with the 
provisions of the Trade Union Act, 1926?  

   öuõÈØ\[P \mh®, 1926Cß ÂvPÐUS 
Cn[PõuuØS GßÚ ushøÚPÒ? 



F–0213 

  

  3

13. (a) What are the advantages of resolving labour 
disputes through arbitration? 

   ©zv¯ìu® ‰»® öuõÈ»õÍº uPμõÖPøÍz wº¨£uß 
|ßø©PÒ GßÚ? 

Or 

 (b) What is the difference between binding and non-
binding arbitration? 

   ¤øn¨¦ ©ØÖ® ¤øn¨¦ AÀ»õu |kÁº Cøh÷¯ 
EÒÍ ÷ÁÖ£õk GßÚ? 

14. (a) What is the compensation payable under the 
Workmen’s Compensation Act? 

   öuõÈ»õÍº CÇ¨¥mka \mhzvß RÌ ÁÇ[P¨£k® 
CÇ¨¥k GßÚ?  

Or 

 (b) What is the time limit for making a claim for 
compensation? 

   CÇ¨¥k ÷Põ¸ÁuØPõÚ Põ» Áμ®¦ GßÚ? 

15. (a) What is the procedure for resolving disputes related 
to provident fund schemes? 

   Á¸[Põ» øÁ¨¦ {v vmh[PÒ öuõhº£õÚ 
\ºaø\PøÍz wº¨£uØPõÚ |øh•øÓ GßÚ?  

Or 

 (b) What is the contribution rate under the Employee’s 
State Insurance Act?  

   FÈ¯ºPÎß ©õ{» Põ¨¥mka \mhzvß RÌ 
£[PÎ¨¦ ÂQu® GßÚ?  

 Part C  (3 × 10 = 30) 
Answer any three questions. 

16. How can employers manage employee leave requests 
effectively while ensuring business continuity? What are 
the legal requirements for providing leave with wages, 
and how are they enforced? 
ÁoPz öuõhºa]ø¯ EÖv ö\´²® ÷£õx, £o¯õÍº 
Âk¨¦U ÷Põ›UøPPøÍ •u»õÎPÒ GÆÁõÖ vÓ®£h 
{ºÁQUP •i²®? Fv¯zxhß Âk¨¦ ÁÇ[SÁuØPõÚ 
\mhz ÷uøÁPÒ GßÚ, AøÁ GÆÁõÖ 
ö\¯À£kzu¨£kQßÓÚ? 
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17. What is the process of amalgamating trade unions? What 
are the benefits of amalgamating trade unions? Are there 
any legal requirements for amalgamating trade unions? 
öuõÈØ\[P[PøÍ JßÔønUS® ö\¯À•øÓ GßÚ? 
öuõÈØ\[PøÍ Cøn¨£uß |ßø©PÒ GßÚ? 
öuõÈØ\[P[PøÍ Cøn¨£uØS H÷uÝ® \mhz 
÷uøÁPÒ EÒÍuõ? 

18. What is the role of an arbitrator? Can the decision of an 
arbitrator be challenged in court? 
J¸ |kÁ›ß £[S GßÚ? |kÁ›ß •iøÁ }v©ßÓzvÀ 
\ÁõÀ ö\´¯ •i²©õ? 

19. What is permanent disablement under the Workmen’s 
Compensation Act? What is partial disablement under 
the Workmen’s Compensation Act? What is temporary 
disablement under the Workmen’s Compensation Act? 
öuõÈ»õÍº CÇ¨¥mka \mhzvß RÌ {μ¢uμ FÚ® 
GßÓõÀ GßÚ? öuõÈ»õÍº CÇ¨¥mka \mhzvß RÌ 
£Sv FÚ® GßÓõÀ GßÚ? öuõÈ»õÍº CÇ¨¥k 
\mhzvß RÌ uØPõ¼P •hUP® GßÓõÀ GßÚ?  

20. What is the difference between the contribution rate for 
the employer and the employee under the provident fund 
scheme? What is the contribution rate for different types 
of establishments under the Employee’s State Insurance 
Act? Can an employer reduce the contribution rate for 
employees?  
Á¸[Põ» øÁ¨¦ {v vmhzvß RÌ •u»õÎUS® 
£o¯õÍ¸US® £[PÎ¨¦ ÂQuzvØS GßÚ Âzv¯õ\®? 
FÈ¯ºPÎß ©õ{»U Põ¨¥mka \mhzvß RÌ £À÷ÁÖ 
ÁøP¯õÚ {ÖÁÚ[PÐUPõÚ £[PÎ¨¦ ÂQu® GßÚ? 
£o¯õÍºPÐUPõÚ £[PÎ¨¦ ÂQuzøu J¸ •u»õÎ 
SøÓUP •i²©õ?  

 
———————— 


